techhose

QUALITY CONNECTIONS

Hydraulics - Industrial

Process &
Instrumentation

= A
|

>

“Hydraulics =

Hydraulic Threaded Adaptors & Flanges




BURNETT HILLMAN

Our extensive range of adaptors includes

stock of more than 3000 different variations of JIC, SAE,
Metric, BSP, BSPT, NPTF and NPSM made from mild steel
(BS EN 10277:3:199 — 230MO07Pb).

We specialise in not just one type of
product — we have the flexibility to produce
special requirements alongside our
standard product ranges. This diversity
of ranges and sizes, combines with our
unparalleled customer service and
technical assistance.

The market for hydrau‘lic adaptors
is a truly diverse one. Hydraulics
are used in almost every facet of
industry: Agriculture, Transport,

Waste, Defence, Manufacturing,
Marine, Construction, Mining,
Engineering, etc. Hydraulic
power plays a crucial global
role in keeping these and other
industries moving.



THREADS AND DIMENSIONS

* BSP adaptor dimensions are compatible * JIC adaptors are to SAE J514.
with IS0 8434-6 and BS 5200. « JIC and SAE threads are to BS 1580.
* BSP DIN spec adaptors are to  JIS are to JIS B 8363

DIN 3852 Form A.

* BSPP and NCB threads are to
BS EN IS0 228-1.

¢ BSPT threads are to BS EN 10226-1.

PLATING MATERIAL

e Metric threads are to BS 3643-2.
e NPTF threads are to ANSI B1 20.3

* Acid zinc plating is to 1SO 2081, » Steel used for stock parts is
Fe/Zn8/A/T2. 230M07Pb/11SMnPb37 as to

* Fe = Ferrous substrate. BE EN 10277-3.

* Zn8 = Zinc coating 8 microns thick. * Stainless is grade 316 to BS EN 10277-1.

e A = Clear passivate.

* T2 = Application of organic or inorganic
sealants.

REACH

bsi. ® &% s> nds B &

By eyl Charter EW 2015863




(2]
[<5]
(=]
{=
)
(.
(=]
(2]
=
[=]
=
o
©
o
<
=
<]
o
©
(<)
=
S
—
=
=
©
=
=
>
p
[
=
-

Hydraulics

HYDRAULIC ADAPTORS

Male/Male Adaptors
Equal BSPP Male
x BSPP Male 60° Cone
0014 Thread
1BP0202 18"
1BP0404 174"
1BP0606 3/8"
1BP0808 12
1BP1010 5/8"
1BP1212 3/4"
1BP1616 1"
1BP2020 1.1/4"
1BP2424 11/2"
1BP2828 13/4
1BP3232 2"
1BP4040 21/2"
1BP4848 3"
1BPG464 4
Tech Sheet 20000
Unequal BSPP Male x
BSPP Male 60° Cone
0014 Thread
1BP0204 18"
1BP0206 18"
1BP0208 18"
1BP0406 14
1BP0408 174"
1BP0410 1/4"
1BP0412 14
1BP0416 14"
1BP0420 174"
1BP0432 14
1BP0608 3/8"
1BP0610 3/8"
1BP0612 3/8"
1BP0616 3/8"
1BP0620 3/8"
1BP0624 3/8"
1BP0810 12"
1BP0812 12"
1BP0816 12"
1BP0820 12"
1BP0824 12"
1BP0832 12"
1BP1012 5/8"
1BP1016 5/8"
1BP1020 5/8"
1BP1216 3/4"
1BP1220 3/4"
1BP1224 3/4"
1BP1232 3/4"
1BP1620 1
1BP1624 1
1BP1632 1
1BP1640 1
1BP2024 1.1/4"
1BP2032 1174
1BP2428 11/2"
1BP2432 11/2"
1BP2440 1.1/2°
1BP2832 13/4"

Tech Sheet 20000

LLIGED

1/8"
1/4"
3/8"
12"
5/8"
3/4"
1

1.1/4"
1.1/2"
1.3/4"

2

3
I

LLIGED

/4"
3/8"
1/2"
3/8"
1/2"
5/8"
3/4"
1"

2
1/2"
5/8"
3/4"

g

1.1/4"
1.1/2"

5/8"
34"
1"

1.1/4"
1.1/2"

2
3/4"
1

1.1/4"

1

1.1/4"
1.1/2"

2

1.1/4"
1.1/2"

2

2.1/2"
1.1/2"

2

2

2

2.1/2"

1.1/4"

1.3/4"

2.1/2"

BSPP Male x BSPP Male
60° Cone DIN 3852 Form A
0014 Thread
1BPA0202 1/8"
1BPA0204 1/8”
1BPA0404 1/4"
1BPA0406 /4"
1BPA0408 1/4"
1BPA0606 3/8"
1BPA0608 3/8"
1BPA0808 12"
1BPA0812 1/2"
1BPA0816 12"
1BPA1212 34"
1BPA1216 34"
1BPA1616 1
1BPA1620 1
1BPA1624 1”
1BPA2020 1.1/4"
1BPA2024 14/4
1BPA2424 11/2"
1BPA2432 1.1/2"
1BPA3232 2

Tech Sheet 20000
BSPP Male x BSPP Male
60° Cone with Restrictor
0014 Thread LLIGED
1BPR0404-1/32 1/4" 1/4"
1BPR0404-1 1/4" 1/4"
1BPR0404-1/16 1/4" /4"
1BPR0406-1/32 1/4” 38"
1BPR0406-1 1/4” 38"
1BPR0406-1/16 1/4" 38"
1BPR0408-1/32 1/4” 12"
1BPR0408-1/16 1/4” 1/2"
1BPRO0606-1/32 3/8" 38"
1BPRO606-1 3/8" 3/8"
1BPRO0606-1/16 38" 3/8"
1BPRO0608-1/32 3/8" 12"
1BPRO0608-1 38" 1/2"
1BPRO0608-3 3/8" 1/2"
1BPR0612-1/16 3/8" 34"
1BPR0808-1/32 12" 1/2"
1BPR0808-1 1/2" 12"
1BPR0808-1/16 1/2" 1/2"

Tech Sheet 20000

LLIGED]

18"
/4"
1/4"
3/8"
1/2"
3/8"
172"
172"
3/4"
g
3/4"

Restrictor
1/32"

mm

1/16"
1/32"

mm

1/16"
1/32"
1/16"
1/32"

Tmm

1/16"
1/32"

Tmm
3mm

1/16"
1/32"

Tmm

1/16"

BURNETTA;HILLMAN

HYDRAULIC ADAPTOR UK MANUFACTURER

BSPP Male x BSPP Male
60° Cone 174 Spec.
0014 Thread Thread
00100 1/8" 1/4"
00114 1/4" 14"
00117 1/4" 3/8"
00101 1/4" 12"
00120 3/8" 3/8"
00102 3/8" 12"
00103 3/8" 3/4"
00125 1/2" 12"
00104 12" 34"
00116 12" 1"
00115 3/4" 34"
00106 3/4" 1"
00118 1 1"
00119 1 1.1/4"
00109 1.1/4" 1.1/4"
00110 1.1/4" 1.1/2"
00129 1.1/4" 2
00111 1.1/2" 1.1/2"
00112 11/2" 2"
00113 2 2
Tech Sheet 20000

BSPP Male x BSPP Male

60° Cone BS5200

0014 Thread Thread

52021 1/2" 1/2"
Tech Sheet 20000

“
BSPP Male x BSPP Male
60° Cone with Restrictor Blank Only

0014 LLIGED Thread mm
13080 1/4" 1/4"
13081 1/4" 3/8"
13082 1/4" 1/2"
13083 3/8" 3/8"
13084 3/8" 1/2"
13089 3/8" 3/4"
13085 1/2" 1/2"
13086 1/2" 3/4"
13088 3/4" 1"
Tech Sheet 20000



HYDRAULIC ADAPTORS BURNETTAHILLMAN
Male/Male Adaptors

w
@
(=]
c
©
[,
=4}
w
2
o
=
[=8
©
=)
<
=)
@
=)
©
(5]
2
=
=
2
=
©
o
=l
>
p
[ar)
=]
-

BSPP Male 60° Cone BSPP Male 60° Cone x <

x BSPT Male SAE 0-Ring Face Seal Male BSPT Male x BSPT Male

0014 Thread Thread 0014 Thread Thread 0014 Thread Thread

1BP02T02 18" 1/8" 74005 18" 9/16" 1BT0202 18" 18"

1BP02T04 18" 174" 74000 174" 9/16" 1BT0204 18" 14"

1BP02T06 1/8" 3/8" 74006 174" 11/16" 1BT0404 14" 14"

1BP04T02 e 1/8" 74001 3/8" 1/16" 1BT0406 174" 3/8"

1BP04T04 174" 14" 74007 3/8" 13/16" 1BT0408 174" 12"

1BP04T06 174" 3/8" 74015 12" 11/16" 1BT0606 3/8" 3/8"

1BP04TO8 174" 12" 74002 12" 13/16" 1BT0608 3/8" 1/2"

1BP04T12 174" 3/4" 74008 12" 1 1BT0808 12" 12"

1BP06T02 3/8" 18" 74011 12" 13/16" 1BT0812 12" 3/4"

1BP06T04 3/8" 14" 74014 5/8" 1.3/16" 1BT1212 3/4" 3/4"

1BP06T06 3/8" 3/8" 74009 34 1 1BT1216 3/4" 1

1BP06T08 3/8" 12" 74003 34" 13/16" 1BT1220 3/4" 1.1/4"

1BP06T12 3/8" 3/ 74004 1" 17/16" 1BT1616 1 1

1BP06T16 3/8" 1 74012 1 1.11/16" 1BT1620 1" 1.1/4"

1BP08T02 12" 18" 74010 1.1/4" 1.11/16" 1BT1624 1" 11/2"

1BPOST04 12" 18" Tech Sheet 20000 1BT2020 11/4 11/4"

1BP08T06 12" 3/8" 1BT2024 1.1/4" 1.1/2"

1BP08T08 12" 12" 1BT2032 1.1/4" 2

1BP0ST10 12" 5/8" 1BT2424 11/2" 11/2"

1BP08T12 12" 34" _ 1BT2432 1172 2"

1BP08T16 1/2" 1" \ \\ | 1BT3232 2" 2"

1BP08T20 12" 1.1/4" BSPP Male 60° Cone 1BT4040 2.1/2" 21/2"

1BP10T06 5/8" 3/8" x SAE Male 45° External Flare 1BT4848 3 3

1BP10T08 5/8" 12" 0014 — E— Tech Sheet 20000

1BP10T10 5/8" 5/8" 13200 38" 58"

18P10T12 58" Rl Tech Sheet 20000

1BP12T04 3/4" 174"

1BP12T06 3/4" 3/8" \

1BP12T08 3/4" 12" W :

1BP12T12 3/4" 34 o

1BP12T16 3;4” 1 BSPT Male x JIS Male m JIS M_ale x JIS Male 30° Cone

1BP12T20 34" 1.1/4" (BSPP Threads) (Metric Threads)

1BP12T24 34 11/2" 0014 Thread Thread oLl readlmus

1BP16T06 ik 38" 00313-J1S 38" 38’ 974114 1

1BP16T08 ” 12" Tech Sheet 20000 974-18 18

1BP16T12 1 34 9741-22 Lz

1BP16T16 1" 1 9741-24 2

1BP16T20 1" 11/4" 9741-30 30

1BP16T24 1" 1172 9741-33 33

1BP16T32 1 2 Tech Sheet 20000

1BP20T16 1.1/4" 1" BSPT Male x NPTF Male

1BP20T20 11/4" 1.1/4" 0014 Thread Thread

1BP20T24 11/4" 1.1/2" 1BNT0204 1/8" 14

1BP20T32 1.1/4" 2" 1BNT0402 e 18" {

1BP24T16 11/2" 1" 1BNT0404 174" 14"

1BP24T20 11/2" 1.1/4" 1BNT0406 174" 3/8" JIS Male x JIS Male 30° Cone

1BP24T24 11/2" 1.1/2" 1BNT0606 3/8" 3/8" (BSPP Threads)

1BP24T32 1172 z 1BNT0604 e 14 oom ——

1BP32T16 z " 1BNT0808 7 172 7801-04-00 e

1BP32T20 z L 1BNT1212 3 3 7801-06.06 35

1BP32T24 z 1172 1BNT1616 " i 7801-08.08 T

1BP32T32 z - 1BNT2420 L 1 78011212 Y "

1BP32T40 2 2102 1BNT2424 1172 1172 e —— °

1BP32T48 2 3" 1BNT3232 2" 2 S

1BP40T40 21/2" 21/2" 1BNT4040 21/2" 21/2" _‘g
Tech Sheet 20000 Tech Sheet 20000 :?




HYDRAULIC ADAPTORS BURNETTAHILLMAN
Male/Male Adaptors

(2]
[<5]
(=]
{=
)
(.
(=]
(2]
=
[=]
=
o
©
o
<
=
<]
o
©
(<)
=
S
—
(£}
=
©
=
=
>
p
[
=
-

NPTF Male x BSPP Male 60° Cone NPTF Male x NPTF Male Metric Male x Metric Male
0014 LLIGED LLIGED 0014 LLIGED LLIGED 0014 LLIGED] LLIGED
1NB0202 1/8” 1/8" 1N0202 1/8” 1/8" 1MP1010 M10x 1.5 M10x 1.5
1NB0204 1/8” 1/4" 1N0204 1/8” 1/4" 1MP1012 M10x 1.5 M12x 15
1NB0206 1/8" 38" 1N0208 1/8" 1/2" 1MP1014 M10x 15 M14x15
1NB0208 1/8” 12 1N0404 1/4” 1/4” 1MP1212 M12x15 M12x 15
1NB0402 1/4” 1/8" 1N0406 1/4” 3/8" 1MP1214 M12x 15 M14x15
1NB0404 1/4" 1/4" 1N0408 1/4" 1/2" 1MP1216 M12x15 M16x 15
1NB0406 14" 3/8" 1N0412 14" 34" 1MP1414 M14x15 M14x15
1NB0408 1/4" 12" 1N0606 38" 3/8" 1MP1416 M14x15 M16x 1.5
1NB0412 1/4" 3/4" 1N0608 3/8" 1/2" 1MP1418 M14x15 M18x 15
1NB0602 38" 1/8” 1N0808 12" 12" 1MP1420 M14x15 M20x 1.5
1NB0604 38" 14" 1N0812 12" 34" 1MP1616 M16x 1.5 M16x 1.5
1NB0606 38" 3/8" 1N0816 12" 1" 1MP1618 M16x 1.5 M18x 15
1NB0608 38" 1/2" 1N0820 12" 1.1/4" 1MP1620 M16x 1.5 M20x 1.5
1NB0610 38" 5/8" 1N0824 12" 1172 1MP1622 M16x 1.5 M22x 15
1NB0612 3/8" 34 1N1212 3/4" 34 1MP1626 M16x 1.5 M26x 1.5
1NB0802 12" 1/8” 1N1216 34" 1" 1MP1818 M18x 1.5 M18x 15
1NB0804 12" 1/4” 1N1220 34" 1.4/4" 1MP1820 M18x 1.5 M20x 1.5
1NB0806 12" 3/8" 1N1616 1" 1" 1MP1822 M18x 1.5 M22x 1.5
1NB0808 12 12" 1N1620 1 1.1/4 1MP1824 M18x 1.5 M24x 15
1NB0810 12" 5/8" 1N2020 11/ 1.4/4" 1MP1826 M18x 1.5 M26x 1.5
1NB0812 12" 3/4" 1N2024 1.1/4" 1172 1MP2020 M20x 1.5 M20x 1.5
1NB0816 12 1" 1N2032 1.1/ 2 1MP2022 M20x 1.5 M22x 15
1NB1204 34" 1/4" 1N2432 11/2" 2 1MP2024 M20x 1.5 M24 x 1.5
1NB1206 34" 38" 1N4040 21/2" 21/2" 1MP2026 M20x 1.5 M26 x 1.5
1NB1208 3" 12" Tech Sheet 20000 1MP2222 M22x 15 M22x 15
1NB1210 34" 5/8" 1MP2224 M22x 1.5 M24x 15
1NB1212 34" 34" . 2 1MP2226 M22x 1.5 M26x 1.5
1NB1216 34" 1 1MP2230 M22x 1.5 M30x 1.5
1NB1220 34" 14/4" 1MP2424 M24x 1.5 M24x 15
1NB1224 34" 11/2" 1MP2626 M26 x 1.5 M26 x 1.5
1NB1604 1" 1/4" 1MP3030 M30x 1.5 M30x 1.5
1NB1606 1 38" 1MP3038 M30x 1.5 M38x 1.5
1NB1608 1" 12" 1MP3838 M38x 1. M38x 1.
1NB1612 1 3j4,, Metric Male x BSPP Male 60° Cone - Toch sahiet 23000 ——
1NB1616 1" 1" 0014 Thread Thread
1NB1620 1" 1.4/4" 10542 M8 x1 1/8"
1NB2012 1.1/4" 34" 10544 M10x1 1/8
1NB2016 1.1/4" 1" 10545 M10x 1 1/4"
1NB2020 1.1/4" 1.4/4" 10548 M10x1 3/8
1NB2024 1.1/4" 1.1/2" 10543 M1Zx1 18"
1NB2032 1.1/4" 2" 10546 M12x1 1/4"
1NB2416 1.1/2" 1" 10541 M14 x1 1/4"
1NB2420 1.1/2" 1.1/4" Tech Sheet 20000
1NB2424 1172 11/2"
1NB2432 1172 2"
1NB3216 2 1"
1NB3220 2 11/
1NB3224 2 11/2"
1NB3232 2 2"

. o 212 Metric Male x BSPP Male

= 1NB4040 21/2" 21/2" 60° Cone to DIN 3852 Form A

= 1NB4832 3 2 0014 Thread Thread

- 1NB4840 3 21/2" 60500 M22x 1.5 12"

:? Tech Sheet 20000 Tech Sheet 20000




HYDRAULIC ADAPTORS BURNETTAHILLMAN
Male/Male Adaptors

w
@
(=]
c
©
[,
=4}
w
2
o
=
[=8
©
=)
<
=)
@
=)
©
(5]
2
=
=
2
=
©
o
=l
>
p
[ar)
=]
-

Metric Male x BSPP Male 60° Cone SAE 0-Ring Boss Male x BSPP Male NPT Male x SAE Male 45° External Flare
0014 Thread Thread 60° Cone Less 0-Ring 0014 Thread Thread
1MBP1004 M10x 1.5 1/4" 0014 Thread Thread 01050 1/8" 7/16"
1MBP1202 M12x15 1/8" 01329 1/4" 1/8" 01052 1/8" 716"
1MBP1204 M12x1.5 14 01326 174" 14" 01054 14" 5/8"
1MBP1206 M12x1.5 3/8" 01300 3/8" 1/4" 01056 3/8" 7/16"
1MBP1208 M12x1.5 1/2" 01323 3/8" 3/8" 01058 3/8" 5/8"
1MBP1402 M14x15 18" 01309 716" 18" 01057 3/8" 3"
1MBP1404 M14x 1.5 1/4" 01301 716" 1/4" 01060 1/2" 5/8"
1MBP1406 M14x15 3/8" 01303 716" 38" 01061 12" 3/4"
1MBP1408 M14x15 12" 01302 716" 12" 01062 12" 78"
1MBP1410 M14x 1.5 5/8" 01304 12" 1/4" 01063 1/2" 1.1/16"
1MBP1604 M16x 1.5 1/4" 01305 12" 3/8" 01065 3/4" 3/4"
1MBP1606 M16x1.5 3/8" 01381 12" 12" 01066 34 718"
1MBP1608 M16x 1.5 1/2" 01306 9/16" 14" 01064 3/4" 1.5/8"
1MBP1610 M16x 1.5 5/8" 01307 9/16" 3/8" 01067 3/4" 1.1/16"
1MBP1612 M16x 1.5 3/4" 01308 9/16" 12" Tech Sheet 20000
1MBP1804 M18x 1.5 1/4" 01310 3/4" 1/4"
1MBP1806 M18x 1.5 3/8" 01311 3/4" 3/8"
1MBP1808 M18x 1.5 1/2" 01312 3/4" 12"
1MBP1810 M18x 1.5 5/8" 01313 3/4" 5/8"
1MBP1812 M18x 1.5 3/4" 01314 3/4" 3/4"
1MBP1816 M18x 1.5 1" 01315 5/8" 1/4"
1MBP2004 M20x 1.5 1/4" 01316 5/8" 3/8"
1MBP2006 M20x 1.5 3/8" 01344 5/8" 12" . .
1MBP2008 M20x 15 12" 01346 78" Ve SAE 0-Ring Boss Male x SAE 0-Ring
1MBP2012 M20x 1.5 3/4" 01317 7/8" 38" Face Seal Male Less 0-Rings
1MBP2204 M22x1.5 174 01318 78 12" 0014 Thread Thread
1MBP2206 M22x1.5 3/8" 01319 7/8° 5/8" 21300 7/16" 9/16”
1MBP2208 M22x15 2 01320 7/8" 3/4" 21301 716" 1/16"
1MBP2212 M22x1.5 34 01335 78" 1 21302 9/16” 11/16”
1MBP2216 M22x1.5 r 01321 1.1/16" 3/8" 21303 9/16” 13/16”
1MBP2406 M24 x1.5 3/8" 01322 1.1/16" 12" 21304 34" 1/16"
1MBP2408 M24x1.5 172 01337 1.1/16" 5/8" 21305 34 13/16"
1MBP2412 M24 x1.5 3/ 01324 1.1/16" 34 21307 7/8" 13/16”
1MBP2608 M26 x 1.5 72" 01325 1.1/16" 1" 21308 78" 1
1MBP2610 M26x1.5 58 01348 1.1/16" 1.1/4" 21310 1.1/16" 1.3/16"
1MBP2612 M26x1.5 34 01345 13/16" 3/4" 2131 11/16" 17/16"
1MBP2616 M26 x1.5 1" 01343 1.5/16" 1/2" 21312 15/16" 1.3/16"
1MBP3012 M30x1.5 34 01327 1.5/16" 34" 21313 15/16" 17/16"
1MBP3016 M30x1.5 & 01328 15/16” 1 Tech Sheet 20000
1MBP3020 M30x 1.5 1.1/4" 01338 1.5/16" 1.1/4"
1MBP3616 M36 x 1.5 1" 01330 1.5/16" 1.1/2"
1MBP3816 M38x 1.5 1" 01331 15/8" 3/4"
1MBP3820 M38x 15 11/4" 01332 15/8" 1
Tech Sheet 20000 01333 15/8" 1.1/4"

01339 15/8" 11727

01342 17/8" 1174

01340 17/8" 112"

Tech Sheet 20000

Hydraulics




HYDRAULIC ADAPTORS U RNETTAHILLMAN

Male/Fixed Female Adaptors

BSPP Male 60° Cone x BSPP Male 60° Cone x Metric Female NPT Male x BSPP Female Extended

(2]
[<5]
(=]
{=
)
(.
(=]
(2]
=
[=]
=
o
©
o
<
=
<]
o
©
(<)
=
S
—
(£}
=
©
=
=
>
p
[
=
-

BSPP Fixed Female Extended 1.5mm Pitch Extended 0014 iha) EHaE
Lk Theend Forens Lk Theend Thrend ram 16170 178" 18"
4BX02 1/8" 1/8" 19803 1/4" 12 16178 18 /4
4BX0204 1/8" 1/4" 19304 1/4" 14 16171 /4 174"
4BX0206 1/8" 3/8" 19800 12" 16 16173 3/8" 3/8"
4BX0208 1/8" 1/2" 19801 1/2" 22 16172 2 3/8"
4BX0402 1/4" 1/8" 19802 34" 2 16174 s /2
4BX04 1/4" 14" Tech Sheet 20000 16175 3/4 34
4BX0406 1/4" 3/8" 16176 1" 1
4BX0408 14" 12" ) 16169 1.1/4" 1.1/4”
4BX0412 174" 3/4" - s 16366 1.1/2" 1.1/4"
4BX0604 3/8" 1/4" | Tech Sheet 20000
4BX06 38" 38" NJ‘)\”‘ !
4BX0608 3/8" 12 BSPP Male 60° Cone x d
4BX0612 3/ I NPT Female Extended
4BX0806 1/2" 3/8" e —
4BX08 172 12" 0014 Thread Thread
4BX0812 1/2" 3/4" 16060 1/8" 1/8"
4BX0816 1/2" 1" 16061 1/4" 1/8"
4BX0820 12" 1.1/4" 16062 1/4” 1/4" NPT Male x NPT Female Extended
4BX1208 EA vz 16073 [ 38" it Male Female
4BX12 3/4" 3/4" 16085 1/4" 1/2" Thread Thread
4BX1216 3/4" 1" 16072 3/8" 174" 00820 1/8" 1/8"
4BX1220 3/4" 1.1/4" 16063 3/8" 38" 00821 18" 1/4"
4BX1224 34" 1.1/2" 16065 12" 38" 00822 1/4" 14"
4BX1612 1 34" 16066 12" 12" 00823 1/4" 3/8"
4BX16 1" 1" 16082 12" 3/4" 00843 1/4" 1"
4BX1620 1" 1.1/4" 16067 3/4" 3/4" 00824 3/8" 3/8"
4BX1624 1 1.1/2" 16083 1 34" 00842 3/8" 12"
4BX2020 1.1/4" 1.1/4" 16068 1 1" 00841 3/8" 3/4”
4BX2024 1.1/4" 11/2" 16084 1 11/2" 00826 1/2" 12"
4BX2032 1.1/4" 2" 16069 18 11/4" 00850 1/2" 34"
4BX2420 11/2" 1.1/4" 16075 12 11/8" 00829 3/4" 3/4"
4BX24 14/2" 11/2" 16070 12" 11/2" 00844 3/4" 1"
Tech Sheet 20000 16071 2" 2" 00849 3/4" 1.1/4
Tech Sheet 20000 00831 r r
00825 1 11/4"
Tech Sheet 20000
/)-j.ﬂ
BSPP Male 60° Cone x
BSPT Female Extended
0014 T T
16091 1/4" 1/8"
16090 14" 1/4"
16092 3/8" 1/4" [IP@
16093 3/8" 3/8"
16089 3/8" 1/2"
16094 1/2" 12"
B 16102 34" 12"
s e g For Hydraulic Tube Clamps
g 160% " " see pages 184-200

Tech Sheet 20000




wv
(3]
(=2]
©
BURNETT ILLMAN =
HYDRAULIC ADAPTOR UK MANUFACTURER [
I
4
Bushes 2
©
=}
<C
=]
=
©
BSPP Male x BSPP o
BSPP Male 60° Cone x Female Bush (Not Coned) 4 BSPP Male 60° Cone x s
BSPP Fixed Female Bush = — BSPT Fixed Female Bush )
0014 Male Female 0014 Thread Thread 0014 Male Female =
Thread Thread 00780 3/8" 1/8" Thread Thread =
4B0602 3/8" 1/8" 00781 12 8" 16601 12" 14" =
4B0802 12" 1/8" 00782 2 e Tech Sheet 20000
480804 1/2" 14" 00783 55" e a8
4B1204 34" 1/4" 0788 5/8" 38" =
4B1206 3/4” 3/8" 00785 e 18"
4B1604 1 174 00786 34" /4" NPT Male x
4B1606 1 3/8" 00787 G 38
. . NPT Female Bush
4B1608 1 112 00788 - T
4B2008 1.1/4" 12" . . 0014 Male Female
00789 1 3/8
482012 114" 34" . . e U
p B 00790 1 12 01001 1/4 18
4B2016 1.1/4 1 . . . .
4B2408 11/2" 12" 00791 ! 5/8 01002 3/8 1/8
RIS p 00792 1.1/4" 14 01003 3/8" /4
482412 11/2 4 00793 114" 38’ 01018 12" 18"
482416 1.1/2” L 00794 1.1/4" 12" 01008 12 Ve
483216 z " 00795 (RIZ% s 01005 12 38"
4B3220 2" 1.1/4" 00795 e " 01032 o e
483224 z 17 00801 112" 13 01006 3 174"
4B4024 21/2" 1.1/2" 00802 12 T 01007 e 38"
4Baws2 2 z 00805 r 172 01008 aw 1z
4B4832 3" 2" . . i g
Tech Sheet 20000 00506 : o8 01022 ! e
00807 2 3/4" 01011 1" 3/8"
00808 v 1 01009 1" 12"
00809 2" 1.1/8" 01010 1" 3/4"
00810 2" 1.1/2" 01023 1.1/4" 174"
BSPP _Male 60° Cone x Tech Sheet 20000 01025 1174 3/8"
NPT Fixed Female Bush : 01026 1.1/4" 1/2"
0014 TI\I:IaIed ;tla‘malz 01019 1.1/4" 3/4"
rea rea " "
= = BSPT Male x 01012 1.1/4 1
4BN0802 1/2 1/8 0022 112" 4
4BN0804 172" 1/4" BSPT Female Bush 01027 1'1/2,, 38"
4BN1206 3/4" 3/8" Male Female o P
Pt . Ve 0014 Threed Thred 01028 1.1/2 12
’ ' P n 01013 11/2" 3/4"
4BN1608 1 12 16180 1/4 /8 p .
. . 16181 3/8" 18" 01015 1172 !
4BN2016 1174 ! 01021 112" 114"
4BN2416 112" 1 16182 38 74 B -
g . 16183 12" 14" 01031 2 /4
4BN4032 21/2 2 01030 5 vz
1BN832 ¥ 5 16184 12" 3/8" : :
Tech Sheet 20000 16185 fAs LS b . g
16187 34" 12" 1014 "
16190 T 2 01017 z 1A
16191 T 3 01016 2 1172
Tech Sheet 20000 01033 2172 z
BSPT Male x Tech Sheet 20000
BSPP Female Bush
0014 Male Female \
Thread Thread NPT Male x \
16121 3/8 178 BSPP Female Bush )
16122 3/8" 1/4" =
. . 0014 ale Female
16125 1/2 /4 Thread Thread
16123 3/4” /4" 16350 14" 1/8"
16124 3/8" 3/8" 16351 3/8" /4"
16137 3/4" 12" 16352 12" 1/4"
16126 1" /4" 16354 3/4" 1/4"
16117 1 3/8" 16355 3/4" 38" 4
16127 1 12" 16356 3/4" 12" =
16128 1" 34" 16359 1" 1/2" =
16136 114" 1" 16360 1" 34 =
16142 11/2" 12" 16365 2 1 =5

Tech Sheet 20000 Tech Sheet 20000




HYDRAULIC ADAPTORS BURNETT(HILEMAN

Gauge Adaptors Female Hose Inserts Male Hose Inserts

'

BSPP Male 60° Cone x

(2]
[<5]
(=]
{=
)
(.
(=]
(2]
=
[=]
=
o
©
o
<
=
<]
o
©
(<)
=
S
—
=
=
©
=
=
>
p
[
=
-

BSPP Fixed Female Gauge . . .
Male Female Female Swivel Straight BSPP Male Straight BSPP 60° Cone
o014 Thread Thread 0014 Thread To Suit Hose ID
4BG02 /8" 1/8" 09240 1/4" 1/4" 09220 1/4" 14"
4BG0204 18" 14" 09241 3/8" 3/8" 09221 3/8" 3/8"
4BG0206 18" 3/8" 09242 12" 12" 09222 12" 12"
4BG0402 1/4" 1/8" 09243 5/8" 5/8” 09223 3/4" 34"
4BG04 174" 174" 09244 3/4" 3/4" 09224 1" 1"
4BG0406 /4" 38" 09245 1 1" Tech Sheet 20000
4BG0408 1/4" 12" Tech Sheet 20000
4BGO0602 3/8" 1/8"
4BGO0604 3/8" 14"
4BGO06 3/8" 3/8"
4BGO0608 3/8" 12"
4BG0804 12" 14"
4BG0806 12" 3/8" Male Straight BSPT
4BG08 1/2" 12" 0014 Thread To Suit Hose ID
4BG0812 1/2" 3/4" 09258 18" 14"
4BG0816 12" 1" Female Fixed Straight NPT 09250 14" 174"
4BG1208 3/4" 172" 0014 Thread To Suit Hose ID 09251 3/8" 3/8"
4BG1612 1" 34 16301 3/8" 38" 09252 3/8" 12"
Tech Sheet 20000 16302 1/2" 1/2" 09253 12" 1/2"
Tech Sheet 20000 09254 3/4" 3/4"
09255 1 1"

Tech Sheet 20000

I%PRd

BSPP Swivel Female 60° Cone

x Hose Tail Straight BSPP Male 60° Cone x Hose Tail Straight
0014 Thread To Suit Hose ID 0014 Thread To Suit Hose ID
93100 14" 14" 19920 14" 14"
93101 3/8" 3/8" 19921 3/8" 3/8"
93102 12" 12" 19922 12" 12"
93103 5/8" 5/8" 19923 5/8" 5/8"
93104 3/4" 3/4" 19924 3/4 3/4”
93105 1 1" 19925 1 1"
93107 1.1/2" 1.1/2" 19927 1.1/4" 1.1/4"
93108 2 2 Tech Sheet 20000

Tech Sheet 20000

BSPP Male 60° Cone x
Hose Tail 90° Swept
0014 Thread To Suit Hose ID
19930 1/4" 14"
19931 3/8" 3/8"
19932 12" 12"
. For Push Style Hose System e e -
2 see pages 37-39 19934 34 3/4"
= 19935 1 1
= Tech Sheet 20000
£




HYDRAULIC ADAPTORS D RNETTAHILLMAN

Male/Female Swivel Adaptors

BSPP Male 60° Cone
DIN 3852 Form A x BSPP
Swivel Female 60° Cone

v

w
[<t]
(=]
c
o,
[,
]
w
&
[=]
=]
[=8
©
=)
<
=)
D
=)
©
(5]
2
=
=
=
=
©
o
=l
>
T
)
=]
-

BSPP Male 60° Cone x BSPP Male 60° Cone x [hoad hroad
BSPP Swivel Female 60° Cone SAE 0-Ring Swivel Female ::::g xg ;jg
0014 e Tt e T 61403 /4 18"
2B0202 1/8" 18" 96400 /4" 9/16" 61404 74 4
2B0204 1/8" 1/4" 96410 1/4" 11/16" 61405 /4 3/8"
2B0206 1/8" 3/8" 96420 3/8" 9/16" 61406 /4 7
2B0402 14" 18" 96430 3/8" 11/16" 61410 3/8" 3/8"
2B0404 14" 1/4" 96440 3/8" 13/16" 61411 3/8" 172
2B0406 14" 3/8" 96450 12" 13/16" 61417 /2 17
2B0408 1/4" 1/2" 96460 1/2" 1 61419 /2" 3/4
2B0412 174" 3/4" 96470 3/4" 1.3/16" 61420 2 1”
2B0602 3/8" 1/8" 96480 34" 1.7/16" 61429 34 12
2B0604 3/8" 1/4" 96490 1" 1.7/16" 61431 34 3/4
2B0606 3/8" 3/8" 96500 11/4" 1.11/16" 61432 3/4 1”
2B0608 3/8" 1/2" Tech Sheet 20000 61433 34 1.1/4
2B0610 3/8" 5/8" 61434 1 12
2B0612 3/8" 3/4" 61436 1" 3/4"
2B0616 38" 1 61437 i "
2B0804 12" 14" 61438 1" 1.1/4"
2B0806 12" 3/8" 61439 1" 1.1/2"
280808 12 12" 61443 1.1/4" 1.1/4"
280810 12" 5/8" BSPP Male 60° Cone x 61444 1.1/4" 1.1/2"
280812 172" 34" Metric Swivel Female 61445 /A z
2B0816 12" 1" - Male Female 61448 1,1/2" 1.1/"2
2B1004 5/8" 1/4" LLIGET] Thread 61449 1.1/2 2
2B1006 5/8" 3/8" 2BM0412 1/4" M12x1.5 Tech Sheet 20000
281008 5/8" 1/2" 2BM0414 1/4" M14x15
2B1010 5/8" 5/8" 2BM0416 1/8" M16x1.5
2B1012 5/8" 34" 2BMo0418 4 M18x 15 BSPP Male 60° Cone x \ !
281204 34" /4 2BM0614 38 M14x15 NPSM Swivel Female v
2B1206 3/4" 3/8" 2BMO0616 3/8: M16x1.5 - Male Female
2B1208 3/4" 12" 2BM0618 3/8 M18x 1.5 Thread Thread
2B1210 3/4" 5/8" 2BM0620 3/8" M20x 1.5 31427 174" 1/4"
2B1212 3/4" 3/4" 2BM0622 3/8” M22x 1.5 31429 174" 3/8"
2B1216 3/4" 1" 2BM0816 1/2" M16x 1.5 31433 3/8" 1/4"
2B1220 3/4" 1.1/4" 2BM0818 172" M18x 1.5 31434 3/8" 3/8"
2B1224 3/4" 1.1/2" 2BM0820 172" M20x 1.5 Tech Sheet 20000
2B1606 1" 3/8" 2BM0822 1/2" M22x 1.5
2B1608 1" 12" 2BM0824 1/2" M24 x 1.5
2B1612 1 3/4" 2BM0826 1/2" M26 x 1.5 BSPT Male x BSPP
2B1616 1" 1" 2BM1022 5/8" M22x 1.5 . ° “
281620 " e JEM122 e MZZx15 Swivel Female 60° Cone
2B1624 1 1.1/2" Tech Sheet 20000 0014 TTriI:d ;f::‘:;lﬁ
2B1632 1" z 01875 1/8" 1/8"
2B2008 1.1/4" 12" 01876 Ve Ve
2B2012 1.1/4" 3/4" 01877 3/8" 3/8"
2B2016 1.1/4" 1" 01885 38" 12"
2B2020 1.1/4" 1.1/4" 01888 12 38"
2B2024 1.1/4" 1.1/2" 01878 12" 1/2"
2B2416 11/2" 1" 01879 5/8" 58"
2B2420 11/2" 1.1/4" 01880 34" 12"
2B2424 1.1/2" 1.1/2" 01881 3/4" 3/4"
2B2432 11/2" 2" 01887 34 1" o
2B3224 2" 11/2" 01882 1 34 =
283232 r 2 01883 1 1" =
Tech Sheet 20000 01889 1.1/4" 1.1/4" -§
01888 1.1/2" 11/2" T
01886 2" 2"

Tech Sheet 20000




HYDRAULIC ADAPTORS U RNETTAHILLMAN

Male/Female Swivel Adaptors  Swivel Females

(2]
[<5]
(=]
{=
)
(.
(=]
(2]
=
[=]
=
o
©
o
<
=
<]
o
©
(<)
=
S
—
=
=
©
=
=
>
p
[
=
-

. BSPP sww?l Female Metric Swivel Female x
Metric Male x BSPP x BSPP Swivel Female Metric Swivel Female )
Swivel Female 60° Cone 60° Cone o Thread e—

Male Female 0014 Thread Thread
2MB1204 MIZx1.5 m 380204 178" s 01776 M14x15 Mi4x15
2MB1404 M14x1.5 s 380206 178" 38 o MI6x15 M16x15
ZMB1406 M4 1.5 8 380404 [ [l 01782 MI6x 15 M18x15
2MB1604 MIBx15 v 380406 i 3/ 0778 Mi8x15 M18x15
ZMB1606 M6 1.5 I 3B0606 38 38 01783 MI8x 15 M20x15
ZMB1608 M1 x1.5 vz 380612 3/8" 4 01779 MI8x 15 M22x15
2MB1612 MIBx15 n 3B0616 38 ” 01780 M20x15 M20x15
ZMB1506 M8 1.5 I 380804 174 14 01784 M20x15 M22x15
ZMB1808 M1 x1.5 vz 380806 vz 36" 01781 M22x15 M22x15
2MB2006 M20x 1.5 3/8" 3B0808 12" 1/2" Toch Sheet 2'0[]00 .
2MB2008 M20x 1.5 1/2" 380810 12" 5/8"
2MB2012 M20 x 15 3/4” 380812 12" 34
2MB2208 M22x 15 12 381006 5/ 3 Hexagon Female Sockets
2MB2212 M22x15 3/4" 3B1010 5/8" 5/8"
2MB2606 M26 x 1.5 3/8" 381210 30 58"
2MB3008 M30x1.5 1/2" 381212 3/4" 34" BSPP Fixed Female x
Tech Sheet 20000 3B1216 3/4" 1" BSPP Fixed Female
ss1e08 ¥ 4
\ 3B1616 1" 1" 7B02 1/8"
N 3B1620 1" 1.1/4" 7B04 1/4"
3B1624 1 112" 7806 38"

. . 382012 1.1/4" 3/4" .
Metric Male x Metric 3B2020 1.1/4" 1.1/4" ;2‘,: ;;g
Swivel Female 382424 11/2" 11/2" 7812 3"

Male Female 3B2432 1.1/2" 2" ”
0014 Thread Thread 383232 2" 2" _7,2;: 1 11 G
2M1414 M14x1.5 M14x1.5 Toch Sheet 20000 7820 T
2M1616 M16x 15 M16x15 7832 bt
2M1618 M16x 15 M18x15 e
2M1818 M18x 1.5 M18x1.5
2M2020 M20 x 15 M20x 15
2M2022 M20 %15 M22x1.5 BSPP Swivel Female .
2M2218 M22x 15 M18x 15 60° Cone x Metric BSPP Fixed Female x
2M2220 M22 %15 M20 x 1.5 Swivel Female ' BSPP Fixed Female
2M2222 M22x15 M22x 15 0014 Thread r— Reducing
Tech Sheet 20000 3BM0412 14" M12x15 0014 Thread Thread
3BMO0414 1/4” M14x15 780204 18" 174
3BMO0612 3/8" M12x15 7B0406 4 3/8"
3BMO0614 3/8" M14x15 780408 174 2"
3BMO0616 3/8" M16x 15 7B0608 3/8" 2
NPT Male x BSPP 3BMO0618 3;8" M18x 15 7B0812 1/2" 3/4"
Swivel Female 60° Cone 3BM0620 3/8" M20x 1.5 780810 12" 5/8”
0014 Male Female 3BMO0622 3/8" M22x 15 781216 34 1
Thread Thread 3BMO0816 12" M16x15 Tech Sheet 20000
1875 18" 18" 3BMO0818 12" M18x1.5
11876 14 4 3BM0822 12" M22x1.5
11885 3/8" % Tech Sheet 20000
11877 38" 3/8" NPT Fixed Female x
11884 3/8" 12" NPT Fixed Female
e v o
11878 12" 12" IND2 18"
11880 3/ 12" N e
8 11881 34" 34" IN0G 38"
E 11882 1 34" N0 vz
© 11883 1" 1 .
= Tech Sheet 20000 ;::: 3{4
- TN24 11/2"

Tech Sheet 20000




HYDRAULIC ADAPTORS D RNETTAHILLMAN

90° Elbows 90° Compact Elbows

wv
[<4)
(=2]
c
L
[,
=]
w
@
(=)
g
[=8
©
=)
<
=)
(<)
=)
©
(5]
=
=
[=
=
=
©
e
=l
>
T
)
S
-

BSPP Swivel Female
x BSPP Swivel Female BSPP Male x
h 90° Swept Elbow 60° Cone BSPP Male 90° Compact EIbow 60° Cone
BSPP Male x BSPP Male [ Thread Thread
90° 8wept Elbow 60° Cone EBF04 1/4" XMB0404 1/4" 1/4"
i o o e uw
EBMO4 e EBF08 12" XMB0606 3/8" 3/8"
EBM0G 38" EBF10 5/8" XMBO0608 3/8" 12"
EBM0S 12 EBF12 34 XMB0808 12" 12"
EBM10 58" EBF16 1 XMB0812 12" 3/4"
EBM12 e EBF20 1.1/4" XMB1212 3/4" 3/
EBM16 1" EBF24 1.1/2" XMB1616 1" 1"
EBM32 2" Tech Sheet 20000 XMB3232 2" 2"
Tech Sheet 20000 ey otz
BSPP Swivel Female
60° Cone x Hose Tail
90° Swept Elbow
0014 Thread To Suit Hose ID
BSPP Male 60° Cone x 93000 /8 i BSPP Male x BSPP Male 90° Compact
o 93001 5/8 38 Elbow for Bonded Seal 60° Cone
BSPP Male 90° Positional Forged Elbow 93002 12" 12"
" . 0014 LLIGED Thread
93003 5/8 5/8 XMBS0202 g e
03051FDPOS 174" 93004 3/4" 3/4" ; :
. . B XMBS0402 1/4 1/8
03053FDPOS 3/8 93005 1 1 XMBS0404 e e
03054FDPOS 12" 93006 1174 1.1/4" XMBS0606 e e
03056FDPOS 3/a" Tech Sheet 20000 ; :
. XMBS0808 12 1/2
03057FDPOS 1 . :
. XMBS1212 3/4 3/
03058FDPOS 1.1/4 B g
Tech Shest 20000 XMBS1612 ! S/
XMBS1616 1" 1
Female Elbow XMBS2020 1178 118"
90° BSPP 60° Cone Tech Sheet 20000
0014 LLIGED To Suit Hose ID
09280 1/4" 14"
09281 3/8" 3/8"
09282 12" 12"
09283 5/8" 5/8"
BSPP Male x BSPP Swivel 09284 34 34 '
Female 90° Swept Elbow 60° Cone 09285 " " BSPP Male 60° Cone x BSPT
. Male 90° Compact Elbow
EBMF04 14 0014 Thread Thread
EBMF06 3/8" XMBP02T02 18" 1/8"
EBMF08 12" BSPP Swivel Female XMBP04T02 1 178"
EBMF10 5/8" " . XMBP04T04 1/4 1/4
EBMF12 34" 60° Cone x Hose Tail XMBPOGT06 3/8" 38"
EBMF16 1 90° Compact XMBP08TO6 12 38"
EBMF20 1.1/4" 0014 Thread To Suit Hose ID XMBP08TO08 1/2" 1/2"
EBMF24 11/2" 80001 /4" 14" XMBP12T12 3/4" 34
EBMF32 2" 80002 3/8" 3/8" XMBP16T16 1 1
Tech Sheet 20000 80008 172" 3/8” Tech Sheet 20000
80003 12" 12"
80004 5/8" 5/8"
80005 3/4" 3/4"
80006 1" 1

Tech Sheet 20000

Hydraulics

Pressure ratings are not applicable to swept elbows or push-in fittings




HYDRAULIC ADAPTORS U RNETTAHILLMAN

90° Compact Elbows

BSPP Female x BSPP BSPT Male x BSPT \ -

(2]
[<5]
(=]
{=
)
(.
L]
(2]
=
[=]
=
o
©
o
<
=
<]
o
©
(<)
=
S
—
(£}
=
©
=
=
>
p
[
=
-

BSPP Male 60°Cone ”
NPT Male 90° C ¢ Elb Female 90° Compact Elbow Male 90° Compact Elbow
x NPT Male 90° Compact Elbow w014 Thread
0014 Thred Thred 15026 1/4" 83000 /4"
XMB04N04 1/411 1/4” 15027 3/8" 83001 3/8"
XMBOSN0G i 3 15028 172" 83002 12
XMBO8N03 1/2 1/2 15030 3" 83003 3/4"
Tech Sheet 20000 15031 1 83004 1
15032 11/4" 83005 1.1/4"
Tech Sheet 20000 Tech Sheet 20000
BSPP Swivel Female x
BSPP Male for BSPP Swivel Female
Bonded Seal x BSPP Swivel Female 90° Compact Elbow
90° Compact EIlbow 60° Cone 60° Cone N
0014 LEE Eemale 0014 Thread Thread BSPT Male x BSPP Swivel Female
Thread Thread XBF0202 18" 18"
" " o -]
om0t e -
XBF0404 14" 14" 0014 o ot
XBMBF0606 3/8" 3/8" / B / p LLIGED] LLIGED
XBF0406 1/4 3/8 09410 /8" 1/8"
XBMBF0604 3/8" 1/4" . .
s . XBF0408 1/4 12 09405 14 14
XBMBF0806 12 3/8 . .
XBF0606 3/8 3/8 09406 38" 38"
XBMBF0808 12" 12" g .
XBF0608 3/8 12 09407 12" 12"
XBMBF0812 12" 3/4" . .
. . XBF0808 12 12 09411 3/4" 12"
XBMBF1010 5/8 5/8 . .
. . XBF1010 5/8 5/8 09408 34" 34
XBMBF1212 3/4 3/4 . .
XBF1212 3/4 3/4 09409 " -
XBMBF1616 1 1" . .
. . XBF1216 3/4 1 09412 1172 11/2"
XBMBF2020 1.1/4 1.1/4 XBF1616 - i - :
XBMBF2424 1.1/2" 11/2" Tech Sheet 20000
BMBF3232 b b XBF2020 11/4" 1.1/4"
323 —— XBF2424 1172" 11/2"
ectheet XBF3232 2" 2"
Tech Sheet 20000
BSPP Swivel Female NPT Male x BSPP
x BSPP Swivel Female Swivel Female \
90° Forged Compact % ’ 90° Compact Elbow 60° Cone
BSPP Male 'Or . Elhow 600 cone - d 0014 Male Female
Cone Seal x BSPP Swivel Female 7 — UL UL
90° Compact Elbow 60° Cone 05026FD 14" ggizz 1;2 zj
Male Female 05027FD 3/8" " "
Bk Thread Thread 05028FD B 09401 38 38
XBMF0402 174" 1/8" . 09402 12" 2"
05030FD 3/ . .
XBMF0404 e 1/4" 05031FD o 09403 3/4 3/4
XBMF0406 [ 38 Tech Sheet 20000 09108 r r
XBMF0604 3/8" 1/4" 09398 1.1/4" 1.1/4"
" 3 . Tech Sheet 20000
XBMFO608 SLN 1z Swivel Female 90°
XBMF0612 3/8 3/4
XBMF0306 12" 38" Forged Compact Elbow
XBMF0808 1/2" 12" 60° Cone
XBMFo812 e e
XBMF0816 12" 1" 05000FD 1/4"
XBMF1212 3/4" 3/4" 05001FD 3/8"
2 XBMF1216 3/4" 1" 05002FD 12"
= XBMF1612 1 3/4" 05004FD 3/4"
o XBMF1616 1 1" 05005FD 1
s=B  XBMF2424 1.1/2" 11/2" 05018FD 1.1/4"
T XBMF3232 2" 2" 05007FD 11/2"

Tech Sheet 20000 Tech Sheet 20000




HYDRAULIC ADAPTORS D RNETTAHILLMAN

90° Compact Elbows 45° Elbows

»
<)
o
=

o,

e

=]
[Z)
=
o

=
[=%
©

o

<

=]
@

o
©
@
=

=

'_

=

=
©
=

°
>

p

[2r]

=]

-

NPTMmexNPTMah" BSPP Male x BSPP BSPP Male x BSPP
90° Compact Elbow Male 45° Swept Male 45° Positional
0014 Thread Thread Elbow 60° Cone Forged Elbow
XMN04 4 74 o4 Theead  [MMo014 Thread
XMNO06 3/8" 38 SEBMO04 14 03051FDPOS-45 14
XMNog /2 72 SEBMO06 3/8" 03053FDPOS-45 3/8"
XMN12 3/4 34 SEBMO08 12" 03054FDPOS-45 12"
XMN16 1 1" SEBM10 5/8" 03056FDP0S-45 3/4"
XMN20 14 (VLS SEBM24 11/2" 03057FDP0S-45 1"
XMN24 1172 [ Tech Sheet 20000 Tech Sheet 20000
XMN32 2 7
Tech Sheet 20000
BSPP Male x BSPP
NPT Male x NPT Swivel Female .
Fixed Female 45° Swept Elbow 60° Cone Female Iilbow 45
90° Compact Elbow P 60° Cone o rr——
s Thiead Threns SEBMF06 38" 19280 14" 14"
XNMF0202 1/8" 1/8" SEBMF08 12" 19281 3/8" 38"
XNMF0404 14" 14" SEBMF10 5/8" 19282 12" 12"
XNMF0604 3/8" 174" SEBMF12 34 19283 5/8" 5/8"
XNMF0606 3/8" 3/8" SEBMF16 1 19284 3" 3/4"
XNMF0806 12" 3/8" SEBMF20 11/4" 19285 1 1
XNMF0808 12" 12" SEBMF24 12" Tech Sheet 20000
XNMF1212 34" 3/4" SEBMF32 2
XNMF1615 r " Tech Sheet 20000 45° Compact Elbows
XNMF2020 11/4" 11/4"
XNMF2424 11/2" 112"
Tech Sheet 20000
BSPP Swivel S~
Female x Hose Tail
NPT Fixed Female x 45° Swept 60° Cone
NPT Fixed Female o0t Thread ) BSPP Male x BSPP Swivel Female
90° Compact Elbow 94505 B 1" 45° Forged Compact Elbow 60° Cone
o4 Throad Thead Tec Shes 2000
XFN0202 1/8" 18" 05000/45FD 14"
XFN0404 14" 14" 05001/45FD 3/8
XFN0606 38" 38" 05002/45FD 12"
XFN0G08 38 12" . 05004/45FD 34"
XFN0S08 2 12" BSPP Swivel Female x 05005/45FD q
XFN1212 34 34" BSPP Swivel Female ™% Tech Sheet 20000
XFN1616 5 1 45° Swept Elbow 60° Cone
Xenaozo e 11
XFN2424 1.1/2" 1.1/2" SEBF04 1/4"
XFN3232 2 2 SEBF06 38"
Tech Sheet 20000 SEBF08 1/2"
SEBF10 5/8"
SEBF12 3/4"
SEBF16 1
SEBF20 1174
SEBF24 11/2"
SEBF32 7
Tech Sheet 20000

Hydraulics

Pressure ratings are not applicable to swept elbows or push-in fittings




HYDRAULIC ADAPTORS U RNETTAHILLMAN

Tees

(2]
[<5]
(=]
{=
)
(.
L]
(2]
=
[=]
=
o
©
o
<
=
<]
o
©
(<)
=
S
—
(£}
=
©
=
=
>
p
[
=
-

BSPP Male x ¢ .

BSPP Male x BSPP Male x BSPP BSPP Swivel Female x BSPP Male NPT Male x NPT Female x
Swivel Female Branch Tee 60° Cone Branch Tee Reducing on Branch 60° Cone = NPT Male Branch Tee
wia Thread A ThreadB — Thoad
ZMMFB02 1/8" 02035 3/8" 3/8" 14" 08010 14"
ZMMFB04 1/4" 02032 12" 12" /4" 08011 3/8"
ZMMFB06 3/8" 02031 12" 12" 3/8" 08012 12"
ZMMFB08 12" 02022 3/ 3/4" 14" 08013 3/a"
ZMMFB12 3/4” 02039 3/4" 3/4" 3/8" 08014 1
ZMMFB16 1 02037 3/ 3/8" 12" 08015 1.1/4"
ZMMFB20 1.1/4" 02023 1" 1 14" 08016 11/2"

Tech Sheet 20000 02018 1" 1 3/4" Tech Sheet 20000

Tech Sheet 20000

4

ﬁ NPT Male x NPT Female x

]

BSPP Male x BSPP Swivel Female BSPP Male x BSPP Swivel Female NPT Female Branch Tee
x BSPP Male Branch Tee 60° Cone x BSPP Male Branch Tee Reducing
on Run 60° Cone oroeo I
ZMFMBO02 1/8" 0014 Thread A Thread B Thread C 07060 1/4"
ZMFMBO4 14 02036 3/8 12" 12" 07061 3/8"
ZMFMBO06 38" Tech Sheet 20000 07062 12"
ZMFMBO03 12" A 07063 3/4"
ZMFMB10 5/8" 07064 1"
ZMFMB12 3/4" ' 07065 11/4"
ZMFMB16 1 07066 11/2"
ZMFMB20 11/4" Tech Sheet 20000

Tech Sheet 20000 ¢ B

BSPP Male x BSPP Swivel Female

x BSPP Male Branch Tee Enlarging
on Branch 60° Cone 3
0014 Thread A Thread B Thread C £

02017 3/8 38 12 NPT Female x NPT Female x
. Tech Sheet 20000 NPT Male Branch Tee

BSPP Male x BSPP Swivel
Female x BSPP Swivel Female 07080 14"
Branch Tee 60° Cone 07081 3/8"
0014 Thread 07082 12"
ZMFFB02 178" BSPP Swivel Female 07083 3
ZMFFBO4 1/ ) 07084 1
ZMFFB0G 38" x BSPP Swivel Female 07085 114"
ZMFFB0S 12" x BSPP Male Branch Tee 60° Cone 07086 11/2"
ZMFFB10 5/8" Tech Sheet 20000
ZMFFB12 3/4" ZFFMBO04 14"
ZMFFB16 1 ZFFMBO06 3/8"
ZMFFB20 114" ZFFMBO08 12"

% Tech Sheet 20000 ZFFMB10 5/8"

= ZFFMB12 3/4"

© ZFFMB16 1

=4 ZFFMB20 11/4"

= Tech Sheet 20000




wv
[«})
(=2]
©
BURNETT ILLMAN =
HYDRAULIC ADAPTOR UK MANUFACTURER °|-;
4
Tees g
©
=}
<
=]
D
=]
©
e
i
—
o
E
[
=3
BSPP Male x BSPP Male x BSPP Swivel BSPP Female Tee BSPP Male Tee for Bonded Seal 60° Cone T
Female Branch Unequal Tee 60° Cone 0014 Thread 0014 Thread 8
0014 Thread A  ThreadB  Thread C 1975 /8 ZMB02BS 1/8" -
01998 38" 1/2" 12" 11976 14" ZMB04BS 1/4"
02014 /4" 12" 1/2" 19 3/8” ZMBOGBS 3/8"
01999 1/2" 34" 34" 11978 12" ZMBO08BS 12"
02013 12" 34" 1" 1979 5/8" ZMB10BS 5/8"
Tech Sheet 20000 11980 3/4 ZMB12BS 3/4"
11981 1 ZMB16BS 1"
11982 1.1/4" ZMB24BS 1.1/4"
11985 11/2 Tech Sheet 20000
11984 2"
Tech Sheet 20000

BSPP Male Tee 60° Cone Seating
Enlarging on Branch

0014 Thread A Thread B
01913 3/8° 12" -
Tech Shéet 20000 : NPTF Female Tee BSPP Male Tee 60° Cone Seating
T I
07000 18 ZMBo4 &
07001 [l ZMB06 38
07002 38" ZmB08 12
07003 vz ZMB12 34
07004 3/4" ZMB16 1
NPT Male Tee 07005 . ZmMB24 1z
07006 1.1/4 ZMB32 2
oy e :
ZMNO2 18" . ech Sheet 20000
; 07008 2
ZMNoa 1/4 Tech Sheet 20000
ZMNO06 3/8"
ZMNo8 12"
Tech Sheet 20000
BSPP Swivel Female
Tee 60° Cone BSPP Male Tee Reducing
on Branch 60° Cone
ZFB02 1/8" 0014 Thread A Thread B Thread C
ZFB04 14" RZMB0402BS  1/4" /4" 18"
ZFB06 3/8" RZMB0604BS  3/8" 3/8" 14"
ZFB08 12" RZMB0804BS  1/2" 12" 174"
ZFB10 5/8" RZMB1008BS  5/8" 5/8" 12"
ZFB12 34" RZMB1204BS  3/4" 3/ /4
2FB16 1 RZMB1208BS  3/4" 3/ 12"
ZFB20 14" RZMB1612BS 1 1" 3/4"
ZFB24 1172 RZMB2012BS  1.1/4" 11/4" 38
2FB32 2" RZMB2016BS  1.1/4" 1174 1"
Tech Sheet 20000 Tech Sheet 20000

7]
o
=]
©
=
=}
>
p




HYDRAULIC ADAPTORS BURNETT(\HILLMAN
Bulkheads Plugs

(2]
[<5]
(=]
{=
)
(.
(=]
(2]
=
[=]
=
o
©
o
<
=
<]
o
©
(<)
=
S
—
(£}
=
©
=
=
>
p
[
=
-

BSPP Solid Plug
BSPP Male x BSPP Male Bulkhead BSPP Male x BSPP Male Bulkhead
complete with Locknut 60° Cone 60° Cone No Locknut 6BS02 L8
0014 Thread A Thread B 0014 Thread A Thread B ﬁg:g: :13;;
09500 18" 18" 8BP0202 18" 18" BBSOB e
09501 174" 14" 8BP0404 14" 174" 8BS0 o
09512 14" 3/8" 8BP0606 3/8" 3/8" 6BS12 e
09513 3/8" 14" 8BP080S 12" 12" BBS16 -
09502 3/8" 3/8" 8BP1010 5/8" 5/8" BBS20 L
09505 3/8" 12" 8BP1212 3/4" 34" oBS20 e
09511 12" 3/8" 8BP1616 1" 1 6BST2 b
09503 12" 12" 8BP2020 1.1/4" 1.1/4" Toch Shoat 20000
09514 12" 34" 8BP2424 1172 1.1/2"
09504 5/8" 5/8" 8BP3232 2" 2"
09515 3/4" 12" 8BP0406 14" 3/8"
09506 3/4" 34" 8BP0604 3/8" 174"
09507 1 1 8BP060S 3/8" 12"
09508 11/4" 1.1/4" 8BP0806 12" 3/8"
09521 1172 1 8BP0812 12" 34
09509 1172 11/2" 8BP1208 3/ 12"
09510 2 2 Tech Sheet 20000 BSPP 60° Coned Plug
09516 212" 21/2"
09517 3" 3" ’ ' 6BC02 1/8"
Tech Sheet 20000 6BC04 14
6BC06 3/8"
6BC08 12"
6BC10 5/8"
6BC12 34
Metric Male x Metric Male Bulkhead 6BC16 1
No Locknut 6BC20 1.1/4"
0014 Thread Thread 6BC24 1.1/2"
8MP1212 M12x1.5 M12x1.5 6BC32 2
BSPP Male x BSPP Male Extended 8MP1414 Mi4x15 Mi4x15 6BCAD 21z
o . 8MP1616 M16x 1.5 M16x 15 Tech Sheet 20000
Bulkhead 60° Cone complete with aMP1818 MIBx15 MI8x15
Locknut 8MP2020 M20 %15 M20 % 1.5
0014 Thread A Thread B 8MP2222 M22x1.5 M22x1.5
8BPX0404 174" 14" 8MP2424 M24x1.5 M24x 1.5
8BPX0606 3/8" 3/8" Tech Sheet 20000
8BPX0608 3/8" 12"
3BPX0806 12" 3/8"
8BPX0808 vz vz BSPP 60° Coned Plug to DIN 3852 Form A
sapxI0n0 i i
8BPX1208 3/4" 12" .
8BPX1212 3/ 34 \ gggg; ;;g
8BPX1616 1 1 ] ) 69003 e
Tech Sheet 20000 Metric Male x Metric Male Bulkhead 69005 3
complete with Locknut 69006 1"
69009 2
09550 M12x1.5 Tech Sheet 20000
09551 M14x15
%/ 09552 M16x1.5
- — - 09553 M18x1.5
S . 09554 M20x 1.5
E For Hydraulic Seals 09555 M22x15
= see pages 109-112 09556 M24x15
T Tech Sheet 20000




w
[<4)
(=]
©
BURNETTA /HILLMAN B
HYDRAULIC ADAPTOR UK MANUFACTURER [
]
2
Plugs 2
©
=)
<
=)
(<)
=)
©
o
=
'_
)
BSPP Socket Headed Metric Solid Plug 3
o - =l
Plug for Bonded Seal 1.5mm Pitch NPT Socket Headed Plug >
0014 Thred 0014 Thread 0014 Thread o
09025-02-SPG 118" 6M10 M10X 15 09100/HD 8" =
09026-04-SPG 1 6M12 Mi12x15 09101/HD 1/4"
09027-06-SPG 38" 6M14 M14x15 09102/HD 3/8"
09028-08-SPG 12 6M16 M16x1.5 09103/HD 12"
09030-12-SPG 3/4 6M18 M18x1.5 09105/HD 3/4"
Tech Sheet 20000 6M20 M20x 1.5 09106/HD 1
6M22 M22x1.5 Tech Sheet 20000
6M24 M24x 15
6M26 M26x 15
Tech Sheet 20000
BSPP Socket Headed
Plug with 3869 Seal
0014 Thread NPT Solid Plug
SB.12 PG w
aas ., Metric Socket Headed Plug 6N02 18"
3869-06-SPG 3/8 {or Bonded Seal N4 e
3869-08-SPG 12 or bonded sea 6N0G 38"
3869-12-SPG 3/4 0014 Thread 6N08 12"
Tech Sheet 20000 09179-M10-SPG M10x 1 6N12 3/4"
09173-M14-SPG M14x15 6N16 1
09170-M16-SPG M16x 1.5 6N20 114
09176-M22-SPG M22x15 6N24 112"
Tech Sheet 20000 6N32 2"
6N40 21/2"
. 6N48 3
BSPT Solid PI ~
SPT Solid Plug Tech Sheet 20000
0014 Thread -
6BT02 1/8" - '
6BT04 14" % *\
6BT06 38" < )
6BT08 12" Metric Socket Headed Plug
6BT10 5/8" with 3869 Seal
6BT12 3/4"
6BT16 1 0014 Thread SAE Boss Socket
6BT24 112" 3869-M10-SPG M10x1 Head Male Plug with 0-Ring
e 2 3869-M14-SPG M14x15
o —— 3869-M16-SPG M16x 15 0014 Thread
3869-M22-SPG M22x 1.5 7238-04 e’
3869-M26-SPG M26 x 1.5 7238-05 2z
Tech Sheet 20000 7238-06 916"
7238-08 3/4"
7238-10 7/8"
7238-12 11/16"
7238-14 13/16"
. . . ' 1238-16 15/16"
Metric Solid Plug Tmm Pitch Tech Sheet 20000
0014 Thread
09169 M8 x 1
09179 M10x 1
09168 M12x 1

Tech Sheet 20000

(%]
=
>
@©
=
=}
>
o5




HYDRAULIC ADAPTORS U RNETTAHILLMAN

Plugs Crosses Ferrules

(2]
[<5]
(=]
{=
)
(.
L]
(2]
=
[=]
=
o
©
o
<
=
<]
o
©
(<)
=
S
—
=
=
©
=
=
>
p
[
=
-

SAE 0-Ring Boss BSPP Male Cross v - .
Male Solid Plug with O-Ring 60° Cone for Bonded Seal R2AT Non-skive Ferrule
L1 I}
19162 5/16" 03007 1/8" 19953 e
19150 716" 03000 14" 19955 -
19151 v 03001 38 Tech Sheet 20000
19152 9/16" 03002 12"
19153 3/4" 03003 5/8"
19154 7/8" 03004 3/4" Locknuts
19155 1.1/16" 03005 1
19156 1.3/16" 03006 11/4"
19157 1.5/16" Tech Sheet 20000
19158 15/8"
19159 17/8"
19160 21/2"
Tech Sheet 20000
.‘ ’ BSPP Locknut
BSPP Female Cross
- ot
. 13023 1/8" BLN04 174
SAE 0-Ring Face 13020 i BLN0G 38
Plug with 0-Ring 13021 3/8" BLN0S 1/2:
i Th 13022 12" BLN10 5/8
,, B2 -
96000 9/16" 13024 3/ BLN16 1"
96001 11/16" 13025 1 . BLN20 1.1/4"
96002 13/16” 13026 L BLN24 1172
96003 1" Tech Sheet 20000 BLN32 2
96004 1.3/16” Tech Sheet 20000
96005 1.7/16"
Tech Sheet 20000
BSPP Swivel
Female Cross 60° Cone
JIS Solid Plug 30° Cone _ Z4MB02 8 Metric Locknut
(BSPP Threads) & o0 e
24MBos " M2 M2 15
7681-04 1/4" Z4MB10 5/8" MLN14 M14x15
7681-06 3/8" Z4MB12 3" MLN16 M16x 1.5
7681-08 12" ZAMB16 ¥ MLN18 Mi8x15
7681-12 3/4" 24MB20 114" MLN20 M20x 1.5
Tech Sheet 20000 Z4MB24 1.1/2" MLN22 M22 x 1.5
Tech Sheet 20000 MLN24 M24x15
Tech Sheet 20000
JIS Solid Plug 30° Cone
(Metric Threads) NPT Female Cross
9711-14 M14x1.5 37000 1/4"
8 9711-18 M18x15 37001 3/8"
= 9711-22 M22x15 37002 12"
_‘g 9711-24 M24x 1.5 37004 1
= X M30x 15 37006 11727

Tech Sheet 20000 Tech Sheet 20000




HYDRAULIC ADAPTORS D RNETTAHILLMAN

Blanking Caps Crimp Nuts Test Point Adaptors

wv
[<4)
(=2]
c
L
[,
=]
w
@
(=)
g
[=8
©
=)
<
=)
(<)
=)
©
(5]
=
=
[=
=
=
©
e
=l
>
T
)
S
-

BSPP Swivel
60° Coned Blanking Cap BSPP Crimp Nut -
BSPP Male x Swivel
TBSBCO2 v L e Female, 1/8” BSP Test Point

/8 708021 1/4" '
7BSBC04 1/4" 708023 1/2" 0014 Thread
7BSBC06 3/8" 708024 5/8" 01425-TP-B02 1/8"
7BSBC08 12" 708025 34" 01427-TP-B02 4
7BSBC10 5/8" 708026 1 01434-TP-B02 38"
7BSBC12 3/4" 708027 1.1/4" 01440-TP-B02 1/2"
7BSBC16 E 708028 11/2" 01451-TP-B02 3/4"
7BSBC20 1174 708029 2" 01458-TP-B02 1
7BSBC24 172" Tech Sheet 20000 Tech Sheet 20000
7BSBC32 7'

Tech Sheet 20000

Metric Swivel Metric Crimp Nut

Blanking Cap . head 1/8" BSPP Male, M16x2

0014 Thread 70804 10x1.5 Test Point Fitting

2 M12x15 708050 Mi2x15

M1 Miax15 708051 M14x15 0014 Thread
M6 MiBx15 708053 M18x 15 MTP/B02-M16/2S 1/8"
s M18x15 Tech Sheet 20000 Tech Sheet 20000

M20 M20x 15

™22 M22x15

Tech Sheet 20000

JIS Female Cap NPSM Crimp Nut T, .
(BSPP Threads) 0014 Thread F // PRO
0014 Thread :x: 1; i /
7691-04 14 .
. 18001 3/8
7691-06 38 800 e
7691-08 12" .
. 18003 3/4
7691-12 3/4 .
Tech Sheet 20000 16005 !
18007 118"
18008 112"
18009 2
Tech Sheet 20000
JIS Female Cap
(Metric Threads)
0014 Thread
p M5 For Threaded
9721-18 M18x15 A
9721-22 M22 x1.5 Hydraulic Valves 3
972124 M24x1.5 =
9721-30 M30x15 see pages 244-246 E
Tech Sheet 20000 :I>:~




BURNETTA;HILLMAN

HYDRAULIC ADAPTOR UK MANUFACTURER

JIC HYDRAULIC ADAPTORS

Male/Male Adaptors

1.03 Hydraulic Threaded Adaptors & Flanges

NPTF Male x JIC Male BSPT Male x JIC Male x JIC Male
37° Cone JIC Male 37° Cone 37° Cone
0014 Thread Thread 0014 Thread Thread 0014 Thread Thread
1NJ0207 18" 7/16" 1BTJ0207 18" 7/16" 1JP0505 5/16” 5/16"
1NJ0208 1/8" 12" 1BTJ0208 1/8" 12" 1JP0507 5/16" 7/16"
1NJ0209 1/8" 9/16" 1BTJ0209 1/8" 9/16" 1JP0707 7/16" 716"
1NJ0407 14" 7/16" 1BTJ0407 14 7/16" 1JP0709 7/16" 9/16"
1NJ0408 14" 12" 1BTJ0408 14" 12" 1JP0807 12" 7/16"
1NJ0409 14" 9/16" 1BTJ0409 14" 9/16" 1JP0808 12" 12"
1NJ0412 14" 3/ 1BTJ0412 14" 3/ 1JP0809 12" 9/16"
1NJ0414 174" 7/8" 1BTJ0607 3/8" 7/16" 1JP0812 12" 34"
1NJ0607 3/8" 7/16" 1BTJ0608 3/8" 12" 1JP0814 12" 7/8"
1NJ0608 3/8" 12" 1BTJ0609 3/8" 9/16" 1JP0909 9/16" 9/16"
1NJ0609 3/8" 9/16” 1BTJ0612 3/8" 34 1JP0914 9/16” 7/8"
1NJ0612 3/8" 34" 1BTJ0809 12" 9/16" 1JP0917 9/16" 1.1/16"
1NJ0614 3/8" 7/8" 1BTJ0812 12" 34 1JP0919 9/16” 13/16"
1NJ0807 12" 7/16" 1BTJ0814 12" 7/8" 1JP1207 3/4" 7/16"
1NJ0809 12" 9/16" 1BTJ0817 12" 1.1/16" 1JP1209 3/4" 9/16"
1NJ0812 12" 34" 1BTJ1212 3/4" 34" 1JP1212 3/4" 34"
1NJ0814 12" 7/8" 1BTJ1214 3/4" 7/8" 1JP1214 3/4" 7/8"
1NJ0817 12" 1.1/16" 1BTJ1217 3/4" 1.1/16" 1JP1414 78" 7/8"
1NJ0821 12" 15/16" 1BTJ1219 3/4" 13/16" 1JP1417 7/8" 1.1/16"
1NJ1207 34 7/16" 1BTJ1221 34 15/16” 1JP1421 7/8" 15/16”
1NJ1209 3/4" 9/16" 1BTJ1612 1 3/4" 1JP1717 1.1/16" 1.1/16"
1NJ1214 3/4" 7/8" 1BTJ1617 1 1.1/16" 1JP1721 1.1/16" 15/16"
NJ1217 34 1.1/16” 1BTJ1621 1 15/16” 1JP1919 13/16” 13/16”
1NJ1226 3/4" 15/8" 1BTJ1626 1 15/8" 1Jp2121 15/16" 15/16"
1NJ1612 1 3/ 1BTJ2021 11/4" 15/16" 1JP2126 15/16" 15/8"
1NJ1614 1 7/8" 1BTJ2026 1174 15/8" 1JP2130 15/16" 17/8
1NJ1621 1 15/16" 1BTJ2426 1.1/2" 15/8" 1JP2626 15/8" 15/8"
1NJ1626 1 15/8" 1BTJ2430 11/2" 17/8" 1JP3030 17/8" 17/8"
1NJ1630 1 17/8" 1BTJ3230 2" 17/8" 1JP4040 21/2" 21/2°
1NJ2017 1.1/4" 1.1/16" 1BTJ3240 2 21/2" Tech Sheet 20000
1NJ2021 1.1/4" 15/16" Tech Sheet 20000
1NJ2030 11/4" 17/8
1NJ2040 1174 21/2"
1NJ2417 1172 1.1/16"
1NJ2421 1.1/2" 15/16"
1NJ2426 1,1j2" 1.5//8" JIC Male 37° Cone '
1NJ2430 112" 178" x JIS Male 30° Cone (BSPP Threads)
1NJ2440 1.1/2" 21/2" 0014 Thread Thread
1NJ3226 2 15/8" 6811-04-04 716" 14"
1NJ3230 2 17/8" 6811-06-06 9/16" 3/8"
1NJ3240 2" 2.1/2" 6811-08-08 3/4" 1/2"
Tech Sheet 20000 Tech Sheet 20000
JIC Male 37° Cone m
BSPP Male x J_IC Male x JIS Male 30° Cone (Metric Threads)
37° Cone Restrictor Blank Only
0014 Thread Thread
0014 Thread Thread 8751-04-14 716" M14x15
13230 14 9/16" 8751-06-18 9/16” Mi8x15
2 13231 LN ne’ 8751-08-22 3/4" M22x1.5
= 13232 3/8 9/16 8751-10-24 7/8" M24x15
o [REEE /2’ 916" 8751-12-30 11/16" M30x 1.5
=4 Tech Sheet 20000 8751-16-33 15/16" M33x1.5
T Tech Sheet 20000



JIC HYDRAULIC ADAPTORS BURNETTAHILLMAN
Male/Male Adaptors

1.03 Hydraulic Threaded Adaptors & Flanges

‘ BSPP Male 60° i . :
Metric Male x JIC Cone x JIC 37° Cone Male Metric Male 24 \z5
etric Male x .
Male 37° Cone - Thrent ot Cone x JIC Male 37° Cone
rea rea
g " To Fit Tube
0014 Thread Thread ::j:g:g; 1785 71//126,, 0014 Size mm Thread Thread
iz woae g 1m v M6 w5 winds e
i ’ 1BJPO407 14" 716" : Lk Ay
01284 12x15 916 1BJPOI0E e 2 01-08L04J 8 M14x15 7"
01286 M12x15 3 1BJP040S e 916" 01-08S04J 8 M16x15 /16"
01268 M14x15 I 1BJP0A12 e 3 01-10L06J 8 M16x15 9/16"
01291 Mi14x15 7/16 1BJPOATS g 78" 01-08S08J 10 M16x15 9/16
01287 M14x15 9/16" 1BJPOT 14 11/16" 41275-10 10 M16x15 3/4"
01288 M14x15 3/4" 1BJP0421 Yz 15/16" 01-10806J 10 M18x15 9/16"
01272 Mi14x15 7/8" 1BJPOGOT 38" 716" 01-12L06J 12 M18x15 9/16"
01295 M16x15 718" 1BJPOGO8 3/8" 12" 01-10S08J 10 M18x15 34"
01280 M16x 1.5 9/16" 1BJP0609 3/8" 9/16" 01-12L08J 12 M18x 1.5 3/4"
01275 M16 x 1.5 3/4" 1BJP0612 3/8" 3/4" 01-12808J 12 M20x 15 3/4"
01289 M16x15 78" 1BJPOG14 3/8" 7/8" 01-14508J 1 M20x 15 3/4"
01299 M18x15 718" 1BJPO617 3/8" 1.1/16" 01-15L08J 15 M22x 15 3/4”
01276 M18x15 9/16" 1BJP0621 3/8" 15/16" 01-15L12J 15 M22x15 1.1/16"
01281 M18x15 3/4" 1BJP0807 12" 716" 41270-20 2 M30x 15 1.1/16"
01283 M18x15 8" 1BJP0808 12" 12" 41270-22 2 M30x 1.5 1.1/16"
01298 M18x15 1.1/16" 1BJP0809 1/2" 9/16" 41262-28 2 M36x 15 11/16"
01282 M20x 15 9/16" 1BJP0812 172" 3/4" 01-35LX216J 35 M45x 1.5 1.5/16"
01277 M20x 1.5 3/4" 1BJP0814 12" 7/8" Tech Sheet 20000
01290 M20x15 7/8" 1BJP0817 1/2" 1.1/16"
01270 M20 x 15 1.1/16" 1BJP0821 12" 15/16"
01285 M22x 1.5 9/16” 1BJP1009 58 9/16
01278 M22 1.5 34" 18JP1012 58 AN
01279 M22x15 78" 1BJP1014 5/ s
0129% M22x15 11/16" 1BJP1017 58" 116"
01267 M24x15 11/16" 1BJP1019 5/8" 1.3/16"
01297 M26 x 1.5 78" ::j::gz; 5 i 1%51 18
01292 M26x 15 11/16" 1Bngs gj . 1//;,
Tech Sheet 20000
callll: 1BJP1209 34" 9/16"
1BJP1212 3/4" 3/4"
1BJP1214 34" /8"
1BJP1217 34" 1.1/16"
1BJP1219 3/4" 13/16"
1BJP1221 3/4" 15/16"
1BJP1226 3/4" 15/8"
1BJP1230 34" 17/8"
1BJP1612 1" 3/4"
1BJP1614 1 /8"
1BJP1617 1" 1.1/16"
1BJP1619 1" 1.3/16”
1BJP1621 1" 15/16”
1BJP1626 1 15/8"
1BJP1630 1" 17/8"
1BJP2017 1.1/4" 1.1/16"
1BJP2021 1.1/4" 15/16"
1BJP2026 1174 15/8"
1BJP2030 1.1/4" 17/8"
1BJP2040 1.1/4" 21/2"
1BJP2421 1.1/2" 15/16"
1BJP2426 1.1/2" 15/8"
1BJP2430 1.1/2" 1.7/8" =
1BJP2440 1.1/2" 21/2" =
1BJP3230 2" 17/8" ©
1BJP3240 2 21/2" 2
Tech Sheet 20000 T




JIC HYDRAULIC ADAPTORS BURNETTAHILLMAN
Male/Male Adaptors Male/Female Fixed Adaptors Male/Female Swivel Adaptors

JIC Male 37° Cone % / \

(2]
[<5]
(=]
{=
)
(.
(=]
(2]
=
[=]
=
o
©
o
<
=
<]
o
©
(<)
=
S
—
=
=
©
=
=
>
p
[
=
-

SAE Boss Male x JIC : BSPP Female Extended
o : X emale Extende .
Male 37° Coneless 0-Ring ey NPT Male x JIC Swivel Female 37° Cone
0014 ale Threa ‘emale Threal
0014 Thread Thread . P 0014 Male Thread Female Thread
. . 17004 7/16 1/8
01350 716 716 . . 11201 14 9/16"
P , 17001 /16 1/4
01353 7/16 112 - 11202 28" 4
01351 716" 9/16" ech ohee 11203 12" 78"
01392 vz LS 11204 Y4 11/16"
01352 7z v 11205 1 15/16"
01388 1/ 9/16" Tech Sheet 20000
01354 9/16" /16"
01355 9/16" 12 . \
01356 916" 916" JIC Male x 37° Cone :
01357 9/16" 34" NPT Female Extended
" " o
01358 9/16 8 0014 Male Thread Female Thread BSPP Ma_le 60° Cone
01389 3" 716" 16261 716" 18" x JIC Swivel Female
01361 34 9/16” 16250 7/16" 14" 37° Cone
01362 3/4" 34" . .
01363 3/4" 78" 16249 n B" 3/8" 0014 Male Thread Female Thread
16251 9/16 1/4 v .
. . . g 2BJ0207 1/8 7/16
01364 3/4 1.1/16 16257 9/16 3/8
01386 8 916" ; g 2BJ0407 14" 716"
16258 9/16 12 . g
01365 e e g g 2BJ0408 1/4 12
16256 3/4 38 . .
01366 3 8 . : 280409 1/4 9/16
16252 3/4 12 . .
. . : 2BJ0412 1/4 3/4
01367 78 11/16 16253 778" 12
’ . . : 2BJ0607 38" 7/16"
01395 11/16 9/16 16254 1116 34
. . : 2B.J0608 38" 12"
01368 1 o 16255 15/16" " 2BJ0609 308" 916"
01370 11/16" LS Tech Sheet 20000 . g
01371 11/16" 1.1/16" 2BJ0612 3/ LA
01373 11/16" 15/16" 2BJ0614 3/ 78
01391 1.3/16" 13/16" 280807 vz mne
01394 15/16" 3 28.J0808 vz VZ"
013% 15/16" 78 ' : 28.J0609 v Al
01377 15/16" 1.1/16" JIC Male 37° Cone »” 280812 V2 34
01378 15/16" 15/16" L 28.J0814 vz L
01379 15/16" 158" x JIS Female Extended 280817 12 11/16"
01380 158" 15/16" 60° Internal Seat (Metric Threads) 2BJ1012 58° s
01381 1.5/8" 1.5/8" 0014 Male Thread Female Thread ::j:g:: g/g 1 71/? &
01387 15/8" 17/8" 8701-04-14 /16" M14x15 B212 / v v %
01397 17/8° 15/16" 8701-06-18 916" M18x 15 s g/ . 3/ .
01383 17/8" 15/8" 8701-08-22 34 M22x1.5 2BJ1217 3/4" 1 1/15"
01384 17/8" 17/8" 8701-12-30 11/16" M30 X 1.5 i / s - / he
01369 17/8" 21/2" 8701-16-33 15/16" M33x 1.5 23.!1223 g/ . 1 -g/ 1 g
01385 2.1/2" 2.1/2" Tech Sheet 20000 /,, & .
Tech Sheet 20000 2BJ1617 ! 11/16
2BJ1619 1" 13/16"
2BJ1621 1" 15/16"
2BJ1626 1 15/8"
2BJ2021 11/48" 15/16"
. 2BJ2026 1.1/4" 15/8"
Metric Male 24° Cone 2BJ3230 2 17/8"
x JIC Male 37° Cone Tech Sheet 20000
0014 Tgiii; I':':le Thread Thread
01-221X212J 2 M30x 2 11/16"
P 01-258X212 2% M36 x 2 11/18"
0 01-308X2200 30 Ma2 x 2 15/8"
=0 01-35LX216J 35 M5 x 2 15/16"
_‘g 01-385X220J 38 M52 x 2 15/8"
:I>:~ Tech Sheet 20000




JIC HYDRAULIC ADAPTORS BURNETTGHILLMAN

Male/Female Swivel Adaptors

(7]
[<5]
[=2]
c
)
(.
L]
(2]
=
[=]
=
o
©
o
<
=
[<}]
o
©
(<)
=
L=
—
2
=
©
=
=]
>
EI=
[2r]
=
-

JIC Male 37° Cone BSPP Swivel Female
x BSPP Swivel Female W* 60° Cone x JIC Swivel
60° Cone JIC Male 37° Cone x Female 37° Cone
0014 Male Thread Female Thread JIC Swivel Female 37° Cone 0014 Thread Thread
2JB0702 716" 1/8" . g
! " / " 0014 Male Thread Female Thread 38J0407 1/4" A 6
2JB0704 7/16 1/4 ” . 3BJ0408 1/4 112
. . 2J0707 7/16 7/16
2JB0706 7/16 3/8 - . 3BJ0409 14" 9/16"
. . 2J0709 7/16 9/16
2JB0708 7/16 1/2 - B 3BJ0607 3/8" 716"
. . 2J0712 7/16 3/4
2JB0804 1/2 1/4 . . 3B.J0608 3/8" 12"
. . 2J0714 7/16 7/8
2JB0806 12 3/8 > p 3BJ0609 3/8" 9/16"
. . 2J0808 1/2 1/2
2JB0808 12 1/2 . - 3BJ0612 3/8" 3/4"
. . 2J0809 1/2 9/16
2JB0904 9/16 1/4 . . 3BJ0614 3/8" 7/8"
. . 2J0907 9/16 716
2JB0906 9/16 3/8 - ~ 3B.J0809 12" 9/16"
B . 2J0908 9/16 1/2 . B
2JB1206 3/4 3/8 . . 3BJ0812 1/2 3/4
B . 2J0909 9/16 9/16
2JB1208 3/4 1/2 . B 3BJ0814 12" 7/8"
. . 2J0912 9/16 3/4 .
2JB1210 3/4 5/8 P P 3BJ0817 1/2 1.1/16"
B . 2J0914 9/16 7/8 ; 5
2JB1212 3/4 3/4 B . 3BJ1014 5/8 7/8
P . 241209 3/4 9/16 p .
2JB1406 7/8 3/8 . - 3BJ1212 3/4 3/4
. . 201212 3/4 3/4 p .
2JB1408 7/8 112 - P 3BJ1217 3/4 1.1/16
. . 201214 3/4 7/8
2JB1410 7/8 5/8 - . 3BJ1221 3/4" 15/16"
; . 21217 3/4 1.1/16 B .
2JB1412 7/8 3/4 - b 3BJ1617 1 1.1/16
g P 21412 7/8 3/4 . .
2JB1712 1.1/16 3/4 . . 3BJ1621 1 15/16
. . 21414 7/8 7/8
2JB2116 15/16 1 - - 3BJ2026 1.1/4" 15/8"
. . 201417 7/8 1.1/16
2JB2620 1.5/8 1.1/4 w112 L5 e Tech Sheet 20000
Tech Sheet 20000 :
201714 1.1/16" 7/8"
201717 1.1/16" 1.1/16" Female Swivel A tor
201721 1.1/16" 1.5/16" emale S ° dap ors
2J1919 13/16” 13/16"
( " 2J2126 15/16" 15/8"
\ ‘ 2J2626 15/8" 15/8"
JIC Male 37° Cone x 2J2630 15/8" 17/8"
Metric Swivel Female Tech Sheet 20000 JIC Swivel Female
0014 Male Thread  Female Thread 37° Cone x JIC Swivel
01664 716" M12x15 Female 37° Cone
01651 9/16" M14x15 201 Threat e
01652 916" Mi6x 15 ; LI e
01653 9/16" M18x 15 : } 340707 7716 s
X1 Metric Male x JIC 3J0709 716" 9/16"
01654 9/16" M20x 15 . . . B
01655 916" MZZx 15 Swivel Female 37° Cone 3J0712 7/16 3/4
01656 3/4" M16x 1.5 0014 Male Thread Female Thread 33:3: x; ;/126”
01657 3/4" M18x15 01625 M12x15 12" 200909 e e
01659 3/a” M22x 1.5 01626 M14x15 9/16" 200912 g/ o 3/ %
01661 7/8" M18x15 01627 M16x 1.5 9/16" e 3//4,, 3; v
01662 7/8" M20x 15 01628 M16x 15 3/4" 21409 o 91"
01663 7/8" M22x15 01631 M18x15 3/4" 112 7/ o 3/ %
Tech Sheet 20000 Tech Sheet 20000 / . / .
31414 7/8 7/8
301717 1.1/16" 1.1/16"
301721 1.1/16" 1.5/16"
3J1919 13/16" 1.3/16"
342121 15/16” 1.5/16"
3J2626 15/8" 15/8"
Tech Sheet 20000

For ABF Anti Bloc Grease
see page 164

Hydraulics




(2]
[<5]
(=]
{=
)
(.
(=]
(2]
=
[=]
=
o
©
o
<
=
<]
o
©
(<)
=
S
—
=
=
©
=
=
>
p
[
=
-

Hydraulics

JIC HYDRAULIC ADAPTORS

0
90° Elbows
3
JIC Male x JIC Male
90° Forged Compact Elbow
0014 Thread
03085FD 18"
03086FD 1/2"
03087FD 9/16"
03088FD 3/4"
03089FD 7/8"
03090FD 1.1/16"
03091FD 1.3/16"
Tech Sheet 20000
NPTF Male x JIC Male ™
90° Forged Compact Elbow
0014 Thread Thread
04050FD 1/8" 716"
04053FD 1/4" 716"
04059FD 3/8" 9/16"
04060FD 3/8" 3/4"
04065FD 1/2" 3/4"
04073FD 3/4" 1.1/16"
04076FD 1" 15/16"
Tech Sheet 20000
JIC Male x Male
Bulkhead 90° Forged
0014 Thread
10525-03 3/8"
10525-04 716"
10525-05 1/2"
10525-06 9/16"
10525-08 3/4"
10525-10 7/8"
10525-12 1.1/16"
10525-16 15/16"
Tech Sheet 20000

JIC Male 37° Cone x BSPP Male 90°
Positional Forged Elbow

0014 LLIGED LLIGED
27070FDPOS 7/16" 1/4"
27072FDPOS 9/16" 1/4"
27073FDPOS 9/16" 3/8"
27077FDPOS 3/4" 3/8"
27074FDPOS 3/4" 1/2"
27079FDPOS 7/8" 1/2"
27075FDPOS 1.1/16" 3/4"
27076FDPOS 1.5/16" 1"
Tech Sheet 20000

JIC Male x JIC Swivel

Female 90° Forged

Compact Elbow 37° Cone

0014 Thread

05050FD 7/16"

05051FD 12"

05052FD 9/16”

05053FD 3

05054FD 7/8"

05055FD 1.1/16"

05056FD 15/16"
Tech Sheet 20000

NPT Male x JIC Male

90° Compact Elbow 37° Cone

0014 Thread Thread
04086 18" 5/16"
04050 1/8" 716"
04051 1/8" 12"
04052 18" 9/16"
04053 14" 716"
04054 174" 12"
04055 14 9/16"
04056 174" 3/
04087 3/8" 38"
04057 3/ 716"
04058 38" 12"
04059 3/8" 9/16"
04060 3/8" 3"
04061 3/ 78
04048 3/8" 1.1/16"
04062 12" 716"
04063 12" 12"
04064 12" 9/16"
04065 12" 34
04066 12" 8
04082 12" 11/16"
04070 34" 9/16”
04071 34" 3/4"
04072 3/ 78
04073 3/ 1.1/16"
04075 34" 15/16"
04085 E 34"
04089 5 8"
04074 5 1.1/16"
04076 5 15/16"
04077 5 15/8"
04078 11/4" 15/16"
04079 11/4" 15/8"
04083 114" 17/8"
04084 11/2" 15/8"
04080 11/2" 178"
04088 11/2" 21/2"
04081 2 2112

Tech Sheet 20000

BURNETTA;HILLMAN

UK MANUFACTURER

HYDRAULIC ADAPTOR

JIC Swivel Female x

JIC Swivel Female 90° ™%
Compact Elbow 37° Cone
0014 Thread Thread
XJF0707 716" 716"
XJF0909 9/16" 9/16"
XJF1212 3/4" 3/4"
XJF1414 /8" 7/8"
XJFI717 1.1/16" 1.1/16"
XJF1919 13/16" 13/16"
XJF2121 15/16" 15/16"
Tech Sheet 20000

SN

)

NPT Male x JIC Swivel Female
90° Compact Elbow 37° Cone

0014 Male Thread Female Thread
99001 3/8" 9/16"
Tech Sheet 20000

NPT Male x SAE Male

90° Compact Elbow 45° Cone

07020 1/8" 716"
07021 1/8" 12"
07022 1/4" 716"
07023 1/4" 12"
07024 14" 5/8"
07025 1/4" 34"
07026 3/8" 7/16"
07027 3/8" 12"
07028 3/8" 5/8"
07029 3/8" 34"
07030 3/8" 78"
07031 12" 5/8"

Tech Sheet 20000

For Flaretite Seals
see page 111



JIC HYDRAULIC ADAPTORS D RNETTAHILLMAN

90° Elbows

JIC Male 37° C & Y
ale one %@

1.03 Hydraulic Threaded Adaptors & Flanges

BSPP Male 60° Cone JIC Male 37° Cone x
x Metric Male 90° x JIC Male 90° Compact BSPP Swivel Female 90°
Positional Forged Elbow Elbow 37° Cone Compact Elbow 60° Cone
0014 Thread Thread 0014 Thread Thread Male Female
29500FDPOS 716" M12x15 XMB04J07 e e 0014 Thvead Thred
29501FDPOS /16" M14x15 XMBO02J08 4" 12" 03612 ne’ i
29502FDPOS 9/16" M16x 1.5 XMB04J09 1/4" 9/16" 09605 9n 6 3 8"
29503FDPOS 9/16" M18x 1.5 XMB06J09 3/8" 9/16" 03608 3 4" 3 8”
29505FDPOS 3/4" M18x 1.5 XMBO06J12 3/8" 3/4" 09606 3/4 - 1/ 2”
29506FDPOS 3/4" M20x 1.5 XMB08J12 12" 3/4" 03607 111 6" 3 4
29507FDPOS 3/4" M22x 15 XMB08J14 12" 7/8" 09609 1.5/ 16:, ! .
29508FDPOS 7/8" M22x1.5 XMB12J14 3/4" 7/8" 03610 1.7/8 1172
29509FDPOS 1.116" M22x1.5 XMB12J17 3/4" 1.1/16" Tech Sheet 20000
Tech Sheet 20000 XMB16J17 1" 1.1/16"
XMB16J21 1" 1.5/16"
- w XMB20J26 1.1/4" 1.5/8"
) XMB24J30 1.1/2" 1.7/8"
JIC Male 37° Cone Tech Sheet 20000 JIC Male 37° Cone x
- A o
X .ilc Swivel Female ‘ BSPT Male x JIC Male JIC Male 90° Compact Elbow
90° Swept Elbow - 90° Compact Elbow 0014 Thread Thread
o pomp XMJ0909 916" 9/16"
10900 7/16" 37° Cone . £ w2 34" 3/4"
10902 9/16" 0014 Thread Thread XMJ1414 /8" /8"
10903 3/4" 08550 1/8" 7/16" XMJ1717 1.1/16" 1.1/16"
10904 7/8" 08551 1/8" 1/2" XMJ1919 1.3/16" 1.3/16"
10905 1.1/16" 08552 1/8" 9/16" XMJ2121 1.5/16" 1.5/16"
10907 1.5/16" 08553 1/4" 7/16" XMJ2626 1.5/8" 1.5/8"
10908 1.5/8" 08554 1/4" 1/2" XMJ3030 1.7/8" 1.7/8"
Tech Sheet 20000 08555 1/4" 9/16" Tech Sheet 20000
08556 1/4" 3/4"
08557 3/8" 716"
JIC Male 37° Cone 08558 3/8" 12"
x UNF Male 90° 08559 38" 9/16"
Positional Forged Elbow 08560 LN ol
08561 38 /8 JIC Male 37° Cone x
0014 Thread Thread 08562 112" 718" .
03085FDPOS 716" 716" 08564 12 916" JIC Swivel Female 90° Compact Elbow
03087FDPOS 9/16" 9/16" 08565 12" 3/4" 0014 Thread Thread
03088FDPOS 34 34 08566 12" 78 XJMF0707 7/16" 7/16"
03089FDPOS LS 8 08567 12" 1.1/16” XJMF0808 12" 12"
03090FDPOS 1.1/16" 1.1/16" 08584 172" 1.5/16" XJMF0909 9/16" 9/16"
03092FDPOS 1.5/16" 1.5/16" 08568 3/4" 9/16" XJMF1212 3/4" 3/4"
Tech Sheet 20000 08569 3/4" 3/4" XJMF1414 78" 7/8"
08570 3/4" /8" XJMF1717 1.116" 1.1/16"
BSPP Male 60° Cone 08571 3/4: 1-1/15: XJMF2121 1.5/16" 1.5/16"
. o 08572 3/4 1.5/16 XJMF2626 1.5/8" 1.5/8"
x JIC Swivel Female 37 08573 1 34 [ ——r
Cone 90° Compact Elbow 08585 1 7/8"
0014 Male Female 08574 1 111 B
LLIGED Thread 08575 1 1.5/16
XBMJF0409 1/4" 9/16" 08576 1" 1.5/8"
XBMJF0609 3/8" 9/16" 08577 1.1/4" 1.5/16"
XBMJF0612 3/8" 3/4" 08578 1.1/4" 1.5/8"
XBMJF0812 1/2" 3/4" 08579 1.1/4" 1.7/8"
XBMJF0814 1/2" 7/8" 08580 1.1/2" 1.5/8" »n
XBMJF1014 5/8" /8" 08581 1.1/2" 1.7/8" g
XBMJF1217 3/4" 1.1/16" 08582 2" 2.1/2" g
Tech Sheet 20000 Tech Sheet 20000 S
=
T




(2]
[<5]
(=]
{=
)
(.
(=]
(2]
=
[=]
=
o
©
o
<
=
<]
o
©
(<)
=
S
—
=
=
©
=
=
>
p
[
=
-

Hydraulics

JIC HYDRAULIC ADAPTORS

0
45° Elbows
o
_
JIC Male x JIC
Swivel Female
45° Swept Elbow
11905 1.1/16"
11907 15/16"
Tech Sheet 20000
JIC Male x JIC
Male Bulkhead
45° Forged
10375-04 716"
10375-05 12"
10375-06 9/16"
10375-08 3/4"
10375-10 7/8"
10375-12 1.1/16"
10375-16 15/16"
Tech Sheet 20000
)
JIC Male 37° Cone x &
UNF Male 45°
Positional Forged Elbow
0014 Thread Thread
03085FDPOS-45 716" 716"
03087FDP0S-45 9/16" 9/16"
03088FDP0S-45 3/4" 34"
03089FDP0S-45 7/8" 7/8"
03090FDP0S-45 1.1/16" 1.1/16"
03092FDP0S-45 15/16" 15/16"
Tech Sheet 20000
Bulkheads
JIC Male x JIC Male
Bulkhead 37° Cone .
complete with Locknut
0014 Thread
00236 3/8"
00225 716"
00226 1/2"
00227 9/16"
00228 3/4"
00229 7/8"
00230 1.1/16"
00234 13/16"
00231 15/16"
00232 15/8"
00233 17/8"
Tech Sheet 20000

JIC Male x JIC Swivel

Female 45° Forged !

Compact Elbow 37° Cone

05050/45FD 716"

05052/45FD 9/16"

05053/45FD 34"

05054/45FD 7/8"

05055/45FD 1.1/16"

05056/45FD 15/16"
Tech Sheet 20000

JIC Male x JIC Swivel

Female 45° Compact ;

Elbow 37° Cone -

05050/45 716"

05052/45 9/16"

05053/45 34"

05055/45 1.1/16"

05056/45 15/16"

05059/45 17/8"
Tech Sheet 20000

NPT Male x JIC Male

45° Forged Compact

Elbow 37° Cone

0014 Thread LLIGED

04053/45FD 1/4" 716"

04059/45FD 3/8" 9/16"

04060/45FD 38" 34"

04065/45FD 1/2" 34"

04066/45FD 12" 7/8"

04073/45FD 3/4" 1.1/16"

04076/45FD 1 15/16"
Tech Sheet 20000

JIC Male x JIC Male

Bulkhead 37° Cone

No Locknut

8JP0707 716"

8JP0308 1/2"

8JP0909 9/16"

8JP1212 3/4"

8JP1414 7/8"

8JP1717 1.1/16"

8JP2121 15/16"
Tech Sheet 20000

BURNETTA;HILLMAN

HYDRAULIC ADAPTOR UK MANUFACTURER

Tees

JIC Male x JIC Male x i“".

UNF Male Forced

Positional On Run with 0-Ring
10716-04-04-04 716"
10716-05-05-05 1/2"
10716-06-06-06 9/16"
10716-08-08-08 3/4"
10716-10-10-10 78"
10716-12-12-12 11/16"

Tech Sheet 20000

JIC Male x JIC Swivel

Female x JIC Male

Branch Tee 37° Cone

0014 LLIGET

ZMFMJ07 716"

ZMFMJ08 1/2"

ZMFMJ09 9/16"

ZMFMJ12 3/4"

ZMFMJ14 7/8"

ZMFMJ17 1.1/16"

ZMFMJ21 15/16"

ZMFMJ26 15/8"

ZMFMJ30 17/8"
Tech Sheet 20000

JIC Male x JIC Swivel

Female x JIC Swivel
Female Branch Tee 37° Cone

ZMFFJO07 7/16"
ZMFFJ08 1/2"
ZMFFJ09 9/16”
ZMFFJ12 3/4"
ZMFFJ14 /8"
ZMFFJ17 1.1/16"
ZMFFJ21 1.5/16"
Tech Sheet 20000

JIC Swivel Female x
JIC Swivel Female x
JIC Male Branch Tee 37° Cone

ZFFMJ07 7/16"
ZFFMJ08 1/2"
ZFFMJ09 9/16”
ZFFMJ12 3/4"
ZFFMJ14 /8"
ZFFMJ17 1.1/16"
ZFFMJ21 1.5/16"

Tech Sheet 20000



wv
(3]
(=2]
BURNETT ILLMAN 5
HYDRAULIC ADAPTOR UK MANUFACTURER [
I
4
H (=]
i)
Tees Crosses Crimp Nuts g
=}
<C
o =]
Male Cross 37° Cone JIC Crimp Nut §
0014 Thread @
JIC Male x JIC Male x 03030 708075 716" s
UNF Male Forged - 03031 708076 12" L
Positional On Branch with 0-Ring 03033 708077 9/16” 2
0014 Thread 03034 ;g:g;: gﬁ >
10715-04-04-04 716" 03036 708080 o
10715-05-05-05 12" 03035 708084 T b}
10715-06-06-06 9/16" 03037 708081 Lo -
10715-08-08-08 3/4" Tech Sheet 20000 v
. 708083 15/8
10715-10-10-10 7/8 708082 B
10715-12-12-12 11/16" P|ugs pe
Tech Sheet 20000 708085 2172
Tech Sheet 20000
JIC Solid Plug 37° Cone
0014 Thread Hose Inserts
6J05 5/16”
° 6J07 716"
JIC Male Tee 37° Cone o 1//2" JIC Male 37° Cone
6409 916" x Push-in Straight
ZMJo7 /16 6J12 34" 0014 Thread To Suit Hose ID
ZMJ09 9/16" 6J14 7/8" 09711 716" 174"
ZMJ12 w 617 11/16" 09712 9/16" 3/8"
ZMJ14 7/8 : 6J19 13/16" Tech Sheet 20000
ZMI17 11/16° 6421 15/16"
ZMJ19 13/16" 6426 15/8"
ZMJ21 15/16 6430 178" ) )
Tech Sheet 20000 6J40 21/2" JIC Swivel Female 37
Tech Sheet 20000 Cone x Push-in Straight
0014 Thread To Suit Hose ID
JiC Ma!e x JIC Male x Blanking caps 09700 76" 14
JIC Swivel Female 09701 9/16 3/8
Branch Tee 37° Cone g:;gz gj 2 ?; g
. o .
0014 r—" JIC Swivel 37° Coned Blanking Cap 09703 78 58"
ZMMFJ07 /16" 0014 Thread 09704 11/16" 3/4"
ZMMFJ09 9/16" 17307 7/16" 09707 15/16" 1"
ZMMFJ12 3/4" 1408 2z Tech Sheet 20000
ZMMFJ14 7/8" 7J09 9/16"
ZMMFJ17 1.1/16" 112 3/4"
ZMMFJ21 1.5/16" 114 /8 .
ZMMEJ26 15/8" 7017 1.1/16" JIC Swivel Femal_e
Tech Sheet 20000 7J19 13/16" 37° Cone x Push-in
12 1.5/16” 90° Swept Elbow
2% 1.5/8" 0014 Thread To Suit Hose ID
;ﬁg % 2 09301 716" 4"
JIC Swivel Female ' 03302 916" 38
Tech Sheet 20000 09303 3" 12"
-]
Tee 37° Cone 09300 78 58"
0014 Thread Locknuts 09304 1.1/16" 3/4"
ZFJ07 718" 09305 15/16" 1
ZFJ08 12" Tech Sheet 20000
7FJ09 916" JIC Locknut
ZR12 £l Lk UL JIC Swivel Female
Zra e NG e x Push-in 45° Swept
ZFJ17 1.1/16" JLNO8 1/2" " p
ZF 021 15/16" JLN09 9/16" Elbow 37° Cone
Tech Sheet 20000 JLN12 3/4" 0014 Thread To Suit Hose ID w3
JLN14 78" 09320 716" 1/4" 2
JLN17 1.1/16" 09321 9/16" 3/8" =
JIN21 15/16" 09322 3/4" 12" iS5
JLN26 15/8" 09323 8 58" =
JLN30 17/8" 09324 1.1/16” 3/4"

Tech Sheet 20000 Tech Sheet 20000




JIC HYDRAULIC ADAPTORS U RNETTAHILLMAN

Tube Nuts Tube Sleeves

(2]
[<5]
(=]
{=
)
(.
L]
(2]
=
[=]
=
o
©
o
<
=
<]
o
©
(<)
=
S
—
(£}
=
©
=
=
>
p
[
=
-

Universal Metric & Imperial Imperial Metric
To Suit To Suit 0014 To Suit Tube 0D 0014 To Suit Tube 0D mm
0014 Thread 0 oD mim Tube 0D JITS 1/4" 6JMTS 6
4TN 7/ 5 6 1/4"" 5JITS 5/16" 8JMTS 8
5JTN 12 : 8 5/16" 6JITS 3/8" 10JMTS 10
6JTN  9/1 B 10 3/8" 8JITS 12" 12JMTS 12
8JTN  3/4 12 12 10JITS 5/8" 14JMTS 14
10JTN 78" 14,15 &16 58" 12JITS 34 15JMTS 15
12JTN 1.1/16" 18820 34" 16JITS 1 16JMTS 16
16JTN 1.5/16" % 1" 200ITS 11/4" 18JMTS 18
20JTN 15/8" 28,30 &32 1.1/4" 20JITS 11/2" 20JMTS 20
24JTN 17/8" 35838 1.1/2° Tech Sheet 20000 25JMTS 2
Tech Sheet 20000 30JMTS 30
38JMTS 38
Tech Sheet 20000

ORFS HYDRAULIC ADAPTORS B RNETTAHILLMAN

Straight Adaptors
=
Male x Male Adaptor
9305-04 9/16" Male x Swivel Female
9305-06 11/16" Bulkhead Locknut 0014 Male Thread Female Thread
9305-08 13/16" 9015-04-06AS 916" 11/16"
9305-10 1 9925-04 9/16" 9015-06-08AS 11/16" 13/16”
9305-12 13/16" 9925-06 11/16" 9015-10-12AS 1 13/16"
9305-16 17/16" 9925-08 13/16" 9015-12-16AS 1.3/16" 17/16"
9305-20 1.11/16" 9925-10 1 9015-16-20AS 1.7/16" 1.11/16"
Tech Sheet 20000 9925-12 1.3/16" 9015-08-10AS 13/16" 1"
9925-16 1.7/16" 9015-04-12AS 9/16" 13/16”
9925-20 1.11/16” 9015-06-12AS 11/16" 13/16"
Tech Sheet 20000 Tech Sheet 20000
Male x Male
Bulkhead Only
9325-04 9/16"
9325-06 11/16"
9325-08 13/16"
9325-10 1"
9325-12 13/16"
9325-16 1.7/16"
9325-20 1.11/16"

Tech Sheet 20000

Hydraulics




wv
(3]
(=2]
RFS HYDRAULIC ADAPTOR BURNETT(MILLMAN I
HYDRAULIC ADAPTOR UK MANUFACTURER ey
I
4
0 g
90° Elbows &
=}
<
=]
. D
Male x Swivel ®
o o
. Female 90° Forged Male x BSPP Male =
Male x Male 90 Compact Elbow 90° Positional Forged £
Forged Compact Elbow 0014 Thread Elbow with 0-Ring 3
0014 Thread 9506-04-04 9/16 ]
" 0014 Thread Thread =
9505-04-04 9/16" 9506-06-06 11/16 ” . T
. 9515-04-04B 9/16 1/4
9505-06-06 11/16" 9506-08-08 13/16 . .
. 9515-08-06B 13/16 3/8 o)
9505-08-08 13/16" 9506-10-10 1 . . S
. 9515-10-08B 1 12 =
9505-10-10 1" 9506-12-12 1.3/16 . B
. 9515-12-12B 13/16 3/4
9505-12-12 1.3/16" 9506-16-16 1.716 . p
. 9515-16-168 17/16 1
9505-16-16 1.7/16" 9506-20-20 11718 Tech Shest 20000
Tech Sheet 20000 9506-24-24 2
Tech Sheet 20000
0
45° Elbows
\\\‘\\‘ f‘ %
Male x Male 90° W / Male x UNFMale S8 .
Foraed Bulkhead 90° Positional Forged § Male x Swivel
Elbow with 0-Ring remale 43° Forged
9525-00-04 9/16" 0014 Thread Thread Compact Elbow
9525-06-06 116" 9515-04-04 9/16" 7/16" 0014 E—
9525-08-08 136" 9515-04-06 9/16" 9/16" 9356-04-04 9/16"
9525-10-10 1 9515-06-06 11/16" 9/16” 9356-06-06 116"
9525.12-12 13/16" 9515-08-08 13/16" 3/4" 9356-08-08 13/16"
Tech Sheet 20000 9515-10-10 & 78" 9356-10-10 1"
9515-10-12 1" 1.116" 9356-12-12 1.3/16"
9515-12-08 13/16" 3/4" 9356-16-16 1.7/16"
9515-12-12 13/16" 1.1/16" 9356-20-20 1.11/16"
9515-16-16 17/16" 15/16" 9356-24-24 v
Tech Sheet 20000 Tech Sheet 20000
Tees
Seal: Nitrile
Male x Female x Male Male Tee UNF
Forged Male Tee Swivel Forged Run Tee Posmc!nal on
0014 Thread 0014 Thread Run with 0-Ring
9705-04-04-04 916" 9706-04-04-04 9/16" 0014 Thread A  Thread B Thread C
9705-06-06-05 6" 9706-06-06-06 11/16" 9716-04-04-04  9/16" 9/16" 7/16"
9705-08-08-08 13/16" 9706-08-08-08 13/16” 9716-06-06-06  11/16" 11/16" 9/16"
9705-10-10-10 1" 9706-10-10-10 1 9716-08-08-08  13/16” 13/16" 34"
S512-12-12 136" 9706-12-12-12 13/16" 9716-10-10-10 1 1 7/8"
9705-16-16-16 171" 9706-16-16-16 1.7/16" 9716121212 1.3/16" 1.3/16" 1.1/16"
Toch Sheet 20000 9706-20-20-20 1.11/16" Tech Sheet 20000
Tech Sheet 20000
A Caps
Male x Male x
Swivel Female Forged Female Thread
Branch Tee [ Thread
0014 Thread Mal_e_Tee UNF c . B g129.04 9/16"
9707-04-04-04 916" Positionalon . 9129-06 11/16"
9707-06-06-06 11/16" Branch Forged with 0-Ring 9129-08 13/16"
9707-08-08-08 13/16" 0014 Thread A Thread B Thread C 9129-10 1 "
9707-10-10-10 1 9715-06-06-06  11/16" 11/16" 9/16” 9129-12 13/16" Kt
9707-12-12-12 1.3/16” 9715-08-08-08  13/16” 13/16" 3/4" 9129-16 1.7/16" =
9707-16-16-16 1.7/16" 9715-10-10-10 1 1 7/8" 9129-20 1.11/16" _‘g
9707-20-20-20 1.11/16" 9715-1212-12  13/16" 1.3/16” 1.1/16" 9129-24 2" =

Tech Sheet 20000 Tech Sheet 20000 Tech Sheet 20000




(2]
<4
(=]
{=
)
(.
]
(2]
=
(=)
=
o
©
o
<
=
)
o
©
(<)
=
=
—
2
=
©
=
=]
>
p
[
=
-

Hydraulics

High Pressure
Hydraulic Adaptors

HYDRAULIC ADAPTORS

1/8"-3/4" 680 BAR 1”-2" 500 BAR

Standard hydraulic adaptors do not adhere to the working pressure of multi spiral hose.

Please use KR500 Hydraulic Adaptors for high pressure and multi spiral applications.
Also available in stainless steel and Hiduron upon request.

Equal Male Unions

BSPP :
KREU2 1/8"
KREU4 1/4"
KREU6 3/8"
KREU8 1/2"
KREU10 5/8"
KREU12 3/4"
KREU16 1"
KREU20 1.1/4"
KREU24 1.1/2"
KREU32 2"
Tech Sheet 10728
BSPP x BSPT
KREUPT2 1/8"
KREUPT4 /4"
KREUPT6 3/8"
KREUPT8 1/2"
KREUPT12 3/4"
KREUPT16 1"
KREUPT20 1.1/4"
KREUPT24 1.1/2"
KREUPT32 2"
Tech Sheet 10729
BSPP x NPT
KREUPAT2 1/8"
KREUPAT4 /4"
KREUPAT6 3/8"
KREUPAT8 1/2"
KREUPAT12 3/4"
KREUPAT16 1"
KREUPAT20 1.1/4"
Tech Sheet 10730

BSPP i
KRUU4-2 1/4" 1/8"
KRUUG-4 3/8" 1/4"
KRUUS-4 1/2" 1/4"
KRUUS-6 1/2" 3/8"
KRUU10-4 5/8" 1/4"
KRUU10-6 5/8" 3/8"
KRUU10-8 5/8" 1/2"
KRUU12-6 3/4" 3/8"
KRUU12-8 3/4" 1/2"
KRUU12-10 3/4" 5/8"
KRUU16-8 1" 1/2"
KRUU16-10 1" 5/8"
KRUU16-12 1" 3/4"
KRUU16-14 1" 7/8"
KRUU20-12 1.1/4" 3/4"
KRUU20-16 1.1/4" 1"
KRUU24-16 1.1/2" 1"
KRUU24-20 1.1/2" 1.1/4"
KRUU32-16 2" 1"
KRUU32-20 2" 1.1/4"
KRUU32-24 2" 1.1/2"
Tech Sheet 10731

Equal Male Bulkhead Unions

BSPP /
KREUBH4 /4"
KREUBH6 3/8"
KREUBH8 12"
KREUBH10 5/8"
KREUBH12 3/4"
KREUBH16 1"
KREUBH20 1.1/4"
KREUBH24 1.1/2"

- B Unequal Male Unions

Tech Sheet 10732

Reducing Bushes

BSPP
0450 Thread Thread
KRRB4-2 1/4" 1/8"
KRRB6-2 3/8" 1/8"
KRRB6-4 3/8" 174"
KRRB8-2 1/2" 1/8"
KRRB8-4 1/2" 1/4"
KRRB8-6 1/2" 3/8"
KRRB10-8 5/8" 1/2"
KRRB12-4 3/4" 1/4"
KRRB12-6 3/4" 3/8"
KRRB12-8 3/4" 12"
KRRB16-4 1" 1/4"
KRRB16-6 1" 3/8"
KRRB16-8 1" 1/2"
KRRB16-12 1" 3/4"
KRRB20-4 1.1/4" 1/4"
KRRB20-6 1.1/4" 3/8"
KRRB20-8 1.1/4" 1/2"
KRRB20-12 1.1/4" 3/4"
KRRB20-16 1.1/4" 1"
KRRB24-8 1.1/2" 1/2"
KRRB24-12 1.1/2" 3/4"
KRRB24-16 1.1/2" 1"
KRRB24-20 1.1/2" 1.1/4"
KRRB32-16 2" 1"
KRRB32-20 2" 1.1/4"
KRRB32-24 2" 1.1/2"
Tech Sheet 10733
Bleed Valve
BSPP
KRBV2 "

Tech Sheet 10799

@

Maximum Working Pressure:

1/8" to 3/4” 680 bar
1" to 2" 500 bar

Minimum order quantity on

selected items may apply




Over 2. years of proven
high performance with a

comprehensive history of
product approvals and 3rd
party accreditations.

HYDRAULIC ADAPTORS
1/8”-3/4" 680 BAR 1”-2" 500 BAR 500

(7]
[<5]
[=2]
c
)
(.
L]
(2]
=
[=]
=
o
©
o
<
=
[<}]
o
©
(<)
=
L=
—
2
=
©
=
=]
>
EI=
[2r]
=
-

Standard hydraulic adaptors do not adhere to the working pressure of multi spiral hose. (?) Maximum Working Pressure:
Please use KR500 Hydraulic Adaptors for high pressure and multi spiral applications. SR

Also available in stainless steel and Hiduron upon request.

Male Elbows Fixed Bushes Female Tees

I
BSPP BSPT Male x BSPP Female BSPP
0450 Thread 0450 Male Thread Female Thread 0450 Thread
KREME4 1/4" KRAB4T-4 1/4" 1/8" KREFT2 1/8"
KREMEG 3/8" KRAB6T-4 3/8" 1/4" KREFT4 1/4"
KREMES 1/2" KRABG6T-6 3/8" 3/8" KREFT6 3/8"
KREME12 3/4" KRABST-8 1/2" 1/2" KREFT8 1/2"
KREME16 1" KRAB12T-12 3/4" 3/4" KREFT12 3/4"
KREME20 1.1/4" KRAB16T-16 1" 1" KREFT16 1"
KREME24 1.1/2" KRAB24T-24 1.1/2" 1.1/2" KREFT20 1.1/4"
Tech Sheet 10734 Tech Sheet 10736 KREFT24 1.1/2"
KREFT32 2"
Tech Sheet 10738
Female Elbows Female Hexagon Sockets

Female Branch Tees

\

BSPP BSPP
0450 Thread 0450 Thread Thread
KREFE2 18" KRFA4-2 14" 18" BSPP
KREFEd 5 KRFA4 " "
KREFEG 3/8" KRFA6-2 3/8" 1/8" KRFOMT4 174"
KREFE8 1/2" KRFA6-4 3/8" 174" KRFOMT6 3/8"
KREFE12 34" KRFA6-6 3/8" 3/8 KRFOMT8 1/2"
KREFE16 1" KRFA8-2 1/2" 1/8" KRFOMT12 3/4"
KREFE20 1.1/4" KRFA8-4 1/2" 1/4" KRFOMT16 1"
KREFE24 1.1/2" KRFA8-6 1/2" 3/8" KRFOMT20 1.1/4"
KREFE32 2" KRFAS-8 1/2" 172" KRFOMT24 1.1/2"
Tech Sheet 10735 KRFA12-12 3/4" 3/4" Tech Sheet 10739
KRFA16-16 1 1
KRFA20-20 1.1/4" 1.1/4"

Tech Sheet 10737

Hydraulics

Minimum order quantity on selected items may apply




HYDRAULIC ADAPTORS TS
1/8"-3/4” 680 BAR 1-2" 500 BAR 500

Standard hydraulic adaptors do not adhere to the working pressure of multi spiral hose. Maximum Working Pressure:
Please use KR500 Hydraulic Adaptors for high pressure and multi spiral applications. S oo bar

Also available in stainless steel and Hiduron upon request.

Plugs Stud Standpipes

(2]
[<5]
(=]
{=
)
(.
(=]
(2]
=
[=]
=
o
©
o
<
=
<]
o
©
(<)
=
S
—
=
=
©
=
=
>
p
[
=
-

BSPP 0D Imperial to BSPP 0D Metric to BSPP
0450 0D Thread 0450 0D mm Thread
KRP2 1/8" KR4-2SSAR 4 18" KRM6-2SSAR 6 178"
KRP4 1/4" KR4-4SSAR 14 1/4" KRM6-4SSAR 6 14"
KRP6 3/8" KR5-2SSAR 5/16" /8" KRMS-2SSAR 8 1/8"
KRP8 12" KR5-4SSAR 5/16” 14 KRMS-4SSAR 8 4
KRP10 5/8" KR5-6SSAR 5/16" 3/8" KRMS-6SSAR 8 3/8"
KRP12 3/4" KR6-4SSAR 3/8" 4 KRM10-4SSAR 10 4
KRP16 1 KR6-6SSAR 38" 38" KRM10-6SSAR 10 38"
KRP20 11/4" KR8-4SSAR 12" 14 KRM12-4SSAR 12 14
KRP24 112" KR8-6SSAR 12" 38" KRM12-6SSAR 12 3/8"
KRP32 3 KR8-8SSAR 12" 12" KRM12-8SSAR 12 12"
Tech Sheet 10740 KR10-6SSAR 5/8" 3/8" KRM16-6SSAR 16 3/8"
KR10-8SSAR 5/8" 12" KRM16-8SSAR 16 12"
KR10-12SSAR 5/8" 3/4" KRM16-12SSAR 16 3/4"
KR12-8SSAR 3/4" 12" KRM20-8SSAR 20 12"
KR12-12SSAR 34" 3/4" KRM20-12SSAR 20 3/4"
KR14-8SSAR 78" 12" KRM22-8SSAR 2 12"
KR14-12SSAR 78" 3/4" KRM22-12SSAR 2 34"
KR14-16SSAR 78" 1 KRM22-16SSAR 2 1
BSPT KR16-12SSAR 1" 3/4" KRM25-12SSAR 25 34"
KR16-16SSAR 1" 1 KRM25-16SSAR 25 1"
KR20-12SSAR 14" 34 KRM30-12SSAR 30 3/4"
KRPT2 1/8" KR20-16SSAR 14" 1 KRM30-16SSAR 30 1"
KRPT4 1/4" KR20-20SSAR 14 114 KRM30-20SSAR 30 1174
KRPT6 38" KR32-24SSAR 3 11/2" KRM38-16SSAR 38 1"
KRPT8 12" KR32-32SSAR 5 v KRM38-20SSAR 38 1174
KRPT12 3/4" Tech Sheet 10743 KRM38-24SSAR 38 11/2"
KRPT16 1" KRMS50-24SSAR 50 11/2"
KRPT20 1174 KRMS50-32SSAR 50 2
Tech Sheet 10741 Tech Sheet 10744
Gauge Adaptors Banjos Bleed Plugs (Air)

Seals sold separately

c BSPP

BSPP 0450 Thread
0450 Thread Thread KRA4-4BJ 1/4" BSPP
KRGA4-4 1/4" 1/4" KRAG-6BJ 3/8"
KRGAG-4 38" 3 KRAS-8B. 12
KRGAB8-4 1/2" 1/4" KRA12-12BJ 3/4" KRP2AB 1/8"
Tech Sheet 10742 Tech Sheet 10745 Tech Sheet 10746

Hydraulics

Minimum order quantity on selected items may apply




Stai
taxwless St
daptorseel

llllllll
\
|



RKDAI;I-?(I)JII;EISC STAINLESS STEEL :::Lr:less El PANAM

wv
(5]
=2
©
(i
B
<4
=9 Male x Male Straight Adaptors Male x Female
© -
=2 Straight Adaptors 23 @
=) L g
£ Y O N W\D
2 \ ‘1. | \1 ?\ Male x Female Swivel,
= , ) L | pspp ;
é BSPP x BSPP ) - BSPP x NPT "'w: 0044 Male Thread Female Thread
5 [ou Thread Thread 0044 BSPP Thread NPT Thread 2025-1330 LS L8
- 2025-1401 1/8" 18" 2025-1633 18" 1/8" 2025-1948 174 /4
S 20251419 4 18 2025-1636 18 14" 20251955 [l 38
= 2025-1427 I3 Iz 2025-1639 14" 8" 20251361 174 172
2025-1435 3/8" 18" 2025-1641 174" 174" 2025-1963 38" /4
2025-1443 3/8" 174" 2025-1643 14" 3/8" 2025-1971 3/8 3/8"
2025-1450 3/8" 3/8" 2025-1656 38" 174" 2025-1989 38 /2
2025-1468 12" 174" 2025-1658 3/8" 3/8" 2025-1997 72 38
2025-1476 12" 3/8" 2025-1661 3/8" 12" 2025-2003 72 /2
2025-1484 12" 12" 2025-1671 12" 38" 2025-2020 7z 34
2025-1495 5/8" 12" 2025-1674 12" 12" 2025-2029 34 /2
2025-1505 5/8" 5/8" 2025-1677 5/8" 12" 2025-2031 34 34
2025-1520 3/4" 174" 2025-1679 5/8” 3/4" 2025-2043 34 r
2025-1526 3/4" 3/8" 2025-1681 3/4" 12" 2025-2060 & 1"
2025-1534 3/4" 12" 2025-1682 3/4" 3/4" Tech Sheet 20884
2025-1538 3/4" 5/8" 2025-1684 3/4" 1 .
2025-1567 1 12" 2025-1690 1 1 0044 Er—"
2025-1572 1" 5/8" 2025-1700 1.1/4" 1.1/4" 2033-9862 1/8"
2025-1583 1 34" 20251710 112" 112" 2033-9867 14"
2025-1591 1" 1" 2025-1720 2" 2" 2033-9875 3/8"
2025-1595 1.1/4" 3/4" Tech Sheet 20884 2033-9883 12"
2025-1600 1.1/4" 1 2033-9891 3/4"
2025-1609 1.1/4" 1.1/4" 2033-9396 1"
2025-1611 1172 1 Tech Sheet 20884
2025-1615 11/2" 1174
2025-1617 172" 11/2"
2025-1620 2 11/2" BSPT x BSPT ‘ "F‘
2025-1625 2 2 i
Tech Sheet 20884 -1708 Td Td Male x Female Fixed, J
f . BSPP Sl
. 2025-1715 1/4 1/8
" ‘@ 2025-1724 1/4" 1/4" 0044 Male Thread Female Thread
y “ 2025-1727 3/8" 1/8" 2025-8121 1/8" 1/8"
- 2025-1732 3/8" 174" 2025-8131 174" 1/8"
BSPP x BSPT 4 M ) 2025-1740 38" 3/8" 2025-8142 1/4" 14"
o0 e 2025-1845 7 I3 2025-8151 e’ 178"
2033-9693 e 2025-1852 172 7 2025-8161 L 1
2033.9761 e 2025-1856 72 e 2025-8171 e e
2033.9719 e 2025-1865 172 72 2025-8181 72 17
033.9727 YT 2025-1881 g 18" 2025-8201 172 W
2033.9735 v 2025-1885 Iy 5 2025-8211 72 7z
Toch Sheet 20884 2025-1889 g e 2025-8191 g 5
2025-1894 3/4 12 2025-8221 3/4 3/8
2025-1898 3/4" 3/4" 2025-8231 3/4" 12"
2025-1905 1 1/8" 2025-8201 3/4" 3"
2025-1910 1 174" 2025-8251 1 12"
2025-1915 1 3/8" 2025-8261 1 1
2025-1920 1 12" 2025-8271 1" 3/4”
2025-1925 1 3/4" 2025-8281 1.1/4" 12"
2025-1931 1 1 2025-8291 1.1/4" 3/4"
2025-1935 1.1/4" 1 2025-8301 1.1/4" 1
2025-1940 114" 11/4" 2025-8311 18" 1.1/4"
o 2025-1945 112" 1 2025-8321 112" 3/4
.S 2025-1950 112" 11/2" 2025-8331 112" 1
E 2025-1956 2 1 2025-8301 112" 11/2"
5 2025-1960 2 112" 2025-8351 112" 1.1/4"
= 2025-1965 2 2" 2025-8361 2 2

Tech Sheet 20884 Tech Sheet 20884




Rggg#gkls(: STAINI.ESS STEEL ::gg}less El PANAM

wv
[<4)
(=2]
f o
©
@
3
2
Female x Female « . Tees Bulkhead complete =
. e . o
Straight Adaptors = ;','\ with Locknut z b
% e &
Swivel, BSPP 3
0044 Thread Thread =
“ =
2025-2078 1/4" 1/4" BSPP =
2025-2082 3/8" 14" 0044 =
2025-2086 38" 38 Male, BSPP 2025-2391 £
2025-2089 12" 174" 0044 Er— 2025-209 =
2025-2093 12 38" 2025-2321 18" 20252017
- - " X -
2025-2122 34 12" ;gi: x: ?/ 2 2025-2433 ”
2025-2132 3/4" 3/4" - s 2025-2441 1
2025-2110 1" 1" 2025-2449 3/4 2025-2445 1.1/4"
Tech Sheet 20884 2025-2354 1” 2025-2450 1.1/2"
. Tech Sheet 20884 Tech Sheet 20884
Fixed Female
Hexagon Socket, BSPP Plugs % 2 q&
( ] e N \ !
0044 Thread = P e f 1,_'1*‘
2025-2466 1/8" \ -
2025-2474 14" _/ % “ ‘ %
:gi:i::ﬁ ?;g Female Swivel, BSPP b BSPP .
2025-2508 3/4" 0044 Thread Llsx) VLI
2025-2516 1" 2025-2250 1/4" 2033-4002 1/8”
Tech Sheet 20884 2025-2258 3/8" 2033-4012 1/4
i 2025-2263 12" 2033-4022 3/8 ’
Elbows b 2025-2273 5/8" 2033-4032 17
@ 2025-2283 34 2033-4042 5/
L 2025-2293 1" 2033-4052 3 /z}
Equal Elbow, BSPP : Tach Sheet 20884 2033-4062 1
~ —— 2033-4072 1.1/4"
real "
. 2033-4082 1172
2 18 2 o 2033-4092 7
2033-9933 " el o s
2033-9941 3/8" m ) ech Sheet 20884
2033-9958 12" 4
2033-9962 /8" ’ i
2033-9963 3/4" ) — ‘ : ﬂ
2033-9974 1 Female Swivel Branch, BSPP |
2033-9982 1.1/4" \
2033-9992 11/2" - Td BSPT \
Tech Sheet 20884 -
2025-4011 14" 0044 s
B 2025-4021 3/8" 2025-2524 18
. = " 2025-4031 12" 2025-2532 14
Male x Female Swivel, Q 2025-4081 3 2025-2540 38"
BSPP -y 2025-4051 1" 2025-2557 12"
2025-2565 3/0"
0044 Eo—" Tech Sheet 20884 o 1 4
2025-2185 1/8" .
2025-2193 " o T 25X L
. . N 2025-2592 1172
2025-2201 3/8 T .
2025-2219 12" 2025-2602 2
2025-2223 5/8" Y Tech Sheet 20884
2025-2221 3/4"
2025-2232 1 :
2025-2240 (AVES Female Swivel Run, BSPP Ca ps
2025-2245 112" I ,ﬂ
Tech Sheet 20884 0044 Thread 'y
2025-4501 18"
£ 2025-4511 74 BSPP < l_,/
{ 2025-4521 3/8"
_ n 2 uos 4551 .
Female Swivel, BSPP = 2055m 3 ;ﬁg‘ﬂ 1;3 9
0048 Thread 2025-4551 1 20338301 i L
2025-2128 18" Tech Sheet 20884 =
2033-8331 12" =
2025-2136 14" . =
2025-2151 12" ;g—gﬂ 4 =
2025-2169 34" 8351 "

Tech Sheet 20884 Tech Sheet 20884




(2]
[<5]
(=]
{=
)
(.
(=]
(2]
=
[=]
=
o
©
o
<
=
<]
o
©
(<)
=
S
—
=
=
©
=
=
>
p
[
=
-

Hydraulics

316 PRECISION INSTRUMENTATION ~ fawivess =]
PIPE FITTINGS i L PANAM

Hexagon Nipples Reducing Hexagon Nipples Equal Male x Female Adaptors

"

¢ P

)"

Male x Male, NPT Male x Male, NPT Male x Female, NPT

0342 Thread Thread 0342 Thread
PHN-01 116" PRHN-02-01 18" 116" PPA-02 18"
PHN-02 18" PRHN-04-02 14" 18" PPA-04 14"
PHN-04 14" PRHN-06-02 38’ 18" PPA-06 38"
PHN-06 308" PRHN-06-04 3/8" 14" PPA-08 12"
PHN-08 12" PRHN-08-02 12" 18" PPA-12 34"
PHN-12 34" PRHN-08-04 12" 14" PPA-16 1"
PHN-16 1 PRHN-08-06 12" 38" Tech Sheet 20885

Tech Sheet 20885 PRHN-12-06 34" 14"

PRHN-12-08 34" 2 .

. PRHN-16-08 E 12" Reducing Male x Female

Hexagon Nipples, Long PRHN-16-12 T 3 Adaptors
Tech Sheet 20885 p
? Hexagon Coupling -

o =

A

e Male x Female, NPT

Male x Male, NPT ' 0342 Male Thread Female Thread

0342 Thread Length / PRA-02-01 1/16” 1/8"

PHNL-02-L15 /8" 15" Female x Female, NPT PRA-04-02 1/8" 14"

PHNL-02-12 18" 2 PRA-06-02 18" 3/8"

PHNL-02-L3 1/8" 3" PHC-02 1/8" PRA-06-04 1/4" 3/8"

PHNL-02-L4 18" 4 PHC-04 14" PRA-08-02 18" 12"

PHNL-02-L6 1/8" 6" PHC-06 3/8" PRA-08-04 1/4" 1/2"

PHNL-04-L1.5 1/4" 15" PHC-08 12 PRA-08-06 3/8" 12"

PHNL-04-12 14" 2" PHC-12 34" PRA-12-04 1/4" 34

PHNL-04-L3 174" 3" PHC-16 1 PRA-12-06 3/8" 3/4"

PHNL-04-1L4 1/4" 4" Tech Sheet 20885 PRA-12-08 1/2" 3/4"

PHNL-04-16 174" 6" PRA-16-04 14" 1

PHNL-06-L1.5 3/8" 15" . . PRA-16-08 12" 1

PHNL-06-L2 308" % Reducing Hexagon Couplings PRA-16-12 34" E

PHNL-06-L3 3/8" 3" Tech Sheet 20885

PHNL-06-L4 3/8" 4

PHNL-06-L6 3/8" 6"

PHNL-08-L15 12" 15" Gauge Adaptor

PHNL-08-L2 12" 2" iFi

PHNL-08-L3 12" 3" /

PHNL-08-L4 1/2" 4 "

PHNL.08-L6 2 e Female x Female, NPT &

PHNL-12-12 3/4" 2" 0342 Thread Thread i »;fg

PHNL-12-13 3/4" 3" PRC-04-02 14" 1/8"

PHNL-12-14 34 4 PRC-06-04 3/8" 1/4"

PHNL-12-16 3/4" 6" PRC-08-02 12" 1/8"

PHNL-16-L1.5 1 15" PRC-08-04 12 4 Male NPT x Female, BSPP

PHNL-16-12 1" 2" PRC-08-06 12" 3/8" 0342 Male Thread  Female Thread

PHNL-16-L3 1" 3" PRC-12-04 3/ 174" PGA-04-04 14" 174"

PHNL-16-L4 1" 4 PRC-12-08 3/ 12" PGA-06-06 3/8" 3/8”

PHNL-16-L6 1" 6" PRC-16-08 1 12" PGA-08-08 12" 12"
Tech Sheet 20885 Tech Sheet 20885 Tech Sheet 20885



316 PRECISION INSTRUMENTATION  Juiniess =)'
PIPE FITTINGS |2~ E PANAM

wv
(3]
(=2]
f o
©
e
oS
4
Reducing Bushes Equal Elbows Equal Tees =
_g
<
il =]
. x P S
- il - @
./l M g
NVol@® Ve
A ) 2
E
Male x Female, NPT Female, NPT Female, NPT '§
0342 Male Thread Female Thread 0342 Thread 0342 Thread EE
PRB-02-01 1/8" 1/16" PPFE-02 1/8" PFT-02 1/8" 2
PRB-04-02 1/4" 1/8" PPFE-04 1/4" PFT-04 1/4" =
PRB-06-02 3/8" 1/8" PPFE-06 3/8" PFT-06 3/8"
PRB-06-04 3/8" 1/4" PPFE-08 1/2" PFT-08 1/2"
PRB-08-02 12" 1/8" PPFE-12 3/4" PFT-12 3/
PRB-08-04 12" 1/4" PPFE-16 1" PFT-16 1"
PRB-08-06 1/2" 3/8" Tech Sheet 20885 Tech Sheet 20885
PRB-12-04 3/4" 1/4"
PRB-12-06 34" 3/8" B
PRB-12-08 3/4" 12" ey b *\
PRB-16-04 1" 1/4"
PRB-16-06 1" 38" \ o J
PRB-16-08 1" 1/2" M <
ale, NPT
PRB-16-12 1" 34" Male, NPT
Tech Sheet 20835 e
PPME-02 18" 2 T"'
PPME-04 /4" . /
. PPME-06 38 PMT-04 /4"
Pipe Caps PPME.8 vz P46 £
Tech Sheet 20885 : !
Tech Sheet 20885

Branch Tees

-
NPT Male x Female, NPT ) _a e
-
e Tivead SN
PCP-02 1/8" PSE-01 116" ‘w, "
PCP-04 1/4" PSE-02 1/8" '
PCP-06 3/8" PSE-04 14" Female x Male, NPT -
rop.s i Pt o
PCP-12 34 PSE-08 12 PET-02 18"
PCP-16 1 PSE-12 34" PET-04 e
Tech Sheet 20885 PSE-16 1" PBT-06 3/8"
Tech Sheet 20885 PBT-08 12"
Pipe Plugs Tech Sheet 20885

Equal Crosses

-
| \ " . .
b s
NPT ,*;_3 J >
0342 Thread s ‘
PP-01 1/16” Female, NPT '
PP-02 /8" 0342 Thread
PP-04 14 PPC-02 18"
PP-06 LS PPC-04 1/4" o
PP-08 172 PPC-06 38" 2
PP-12 4 PPC-08 12" =
PP-16 1 PPC-12 3/4" 3
Tech Sheet 20885 PPC-16 1 =

Tech Sheet 20885




10,000 PSI RATED, 316 I—
STAINLESS STEEL ADAPTORS e [ PANAM

Male x Male Straight Adaptors

These fittings within the industry are known as 10K fittings
which have a 10,000 psi working pressure rating.

\ ‘H* All BSPP fittings are 60° coned for connection to hoses.
)

(2]
[<5]
(=]
{=
)
(.
(=]
(2]
=
[=]
=
o
©
o
<
=
<]
o
©
(<)
=
S
—
=
=
©
=
=
>
p
[
=
-

T
) Maximum Workin
‘-M' @ Pressure: ’ QRS
BSPP x BSPP BSPP x JIC 10,000 psi (690 bar) p é ——
0339 Thread Thread 0339 LLIGED LLIGED "r‘ \ 1 \.
2G-2G-MM-10K 1/8" 1/8" 2G-4J-MM-10K 1/8" 716" “ ’
2G-4G-MM-10K 1/8” 1/4" 2G-6J-MM-10K 1/8" 9/16" U‘v
2G-6G-MM-10K 1/8" 3/8" 4G-4J-MM-10K 1/4" 716" NPT x JIC
2G-8G-MM-10K 1/8" 1/2" 4G-6J-MM-10K 1/4" 9/16" 0339 Thread Thread
26-12G-MM-10K 1/8” 34" 4G-8J-MM-10K 1/4” 34" 2N-2J-MM-10K 1/8” 5/16"
2G-16G-MM-10K 1/8" 1" 6G-4J-MM-10K 3/8" 7/16" 2N-4J-MM-10K 1/8" 7/16"
4G-4G-MM-10K 1/4" 14" 6G-6J-MM-10K 3/8" 9/16" 4N-4J-MM-10K 1/4" 7/16"
4G-6G-MM-10K 1/4” 3/8" 6G-8J-MM-10K 38" 34" 4N-6J-MM-10K 1/4" 9/16”
4G-8G-MM-10K 1/4" 1/2" 6G-10J-MM-10K 3/8" /8" 4N-8J-MM-10K 1/4" 3/4"
4G-126-MM-10K 1/4" 3/4" 6G-12J-MM-10K 3/8" 1.1/16" 6N-4J-MM-10K 3/8" 7/16"
4G-16G-MM-10K 1/4" 1" 8G-4J-MM-10K 12" 7/16" 6N-6J-MM-10K 3/8" 9/16”
6G-6G-MM-10K 3/8" 3/8" 8G-8J-MM-10K 12" 34" 6N-8J-MM-10K 3/8" 3/4"
6G-8G-MM-10K 3/8" 12" 8G-10J-MM-10K 1/2" /8" 6N-12J-MM-10K 3/8" 1.1/16"
6G-12G-MM-10K 3/8" 34" 8G-12J-MM-10K 1/2" 1.1/16" 8N-4J-MM-10K 1/2" 7/16"
6G-16G-MM-10K 3/8" 1" 8G-16J-MM-10K 12" 15/16" 8N-6J-MM-10K 1/2" 9/16"
8G-8G-MM-10K 1/2" 12" 12G-8J-MM-10K 3/4" 34" 8N-8J-MM-10K 1/2" 34"
8G-12G-MM-10K 1/2" 3/4" 12G-10J-MM-10K 3/4" /8" 8N-12J-MM-10K 1/2" 1.1/16"
8G-16G-MM-10K 12" 1" 126-12J-MM-10K 34" 1.1/16" 12N-8J-MM-10K 34" 34"
126-12G-MM-10K 3/4" 34" 126-16J-MM-10K 3/4" 15/16" 12N-12J-MM-10K 3/4" 1.1/16"
12G-16G-MM-10K 3/4" 1" 16G-10J-MM-10K 1 /8" 12N-16J-MM-10K 3/4" 15/16"
16G-16G-MM-10K 1" 1" 16G-12J-MM-10K 1" 1.1/16" 16N-12J-MM-10K 1" 1.1/16"
Tech Sheet 20887 16G-16J-MM-10K 1 15/16" 16N-16J-MM-10K 1 15/16"
Tech Sheet 20887 Tech Sheet 20887
S\ gm
]
BSPP x NPT : .
0339 Thread Thread NPT x NPT JIC x JIC
26-2N-MM-10K 1/ 8,, Il 8,, 0339 Thread Thread 0339 Thread Thread
:gzxmmgi 1;3 ;ﬁg 2N-2N-MM-10K 1/8" 18" 4J-8J-MM-10K 7/16" 7/16"
26.8N-MM.10K e s 2N-4N-MM-10K 1/8" 1/4" 4J-6J-MM-10K 7/16" 9/16”
26.12N-MM-A0K g o 4N-4N-MM-10K 1/4" 14" 4J-8J-MM-10K 7/16" 34"
26-16NMM-A0K e " 4N-6N-MM-10K 1/4" 3/8" 6J-6J-MM-10K 9/16" 9/16"
46.2N-MM-10K o e 4N-8N-MM-10K 1/4" 12" 6J-8J-MM-10K 9/16" 34"
46.4N-MM.10K ot o 6N-2N-MM-10K 3/8" 1/8" 6J-10J-MM-10K 9/16" 7/8"
46.6N-MM.10K e o 6N-6N-MM-10K 3/8" 3/8" 8J-8J-MM-10K 3/4" 34"
46-8N-MM-10K e e 6N-8N-MM-10K 3/8" 12" 8J-10J-MM-10K 3/4" /8"
p p 8N-2N-MM-10K 1/2" 1/8" 8J-12J-MM-10K 3/4" 1.1/16"
46-12N-MM-10K I 4,, el 4 8N-8N-MM-10K 1/2" 12" 10J-10J-MM-10K 7/8" 7/8"
:gl:lNM“:nM1;aK 137; 1} o 12N-2N-MM-10K 3/4" 1/8" 10J-12J-MM-10K 7/8" 1.1/16"
66.6N-MM.10K e v 12N-4N-MM-10K 3/4" 1/4" 10J-16J-MM-10K /8" 15/16"
p p 12N-6N-MM-10K 3/4" 3/8" 12J-16J-MM-10K 1.1/16" 15/16"
23:'2“NMMMM1?§K gjg ;Z 12N-8N-MM-10K " 12" 16J-16J-MM-10K 15/16" 15/16"
p ’ 12N-12N-MM-10K 3/4" 34" Tech Sheet 20887
6G-16N-MM-10K 3/8 1 16N-2N-MM-10K ! e
8G-4N-MM-10K 1/2" 1/4" 16N-AN-MM-10K . i
8G-6N-MM-10K vz 3/ 16N-6N-MM-10K 1 3/8"
8G-8N-MM-10K 12" 12" 16N-BN-MM-10K : vz
8 8G-12N-MM-10K I8 s 16N-12N-MM-10K 1 3/4"
= | BG1GN-MM-10K 7z " 16N-16N-MM-10K 1" 1"
] 12G-12N-MM-10K 3/4" 34" e —
=4 12G-16N-MM-10K 3/4" 1"
T 16G-16N-MM-10K 1 1"

Tech Sheet 20887




10,000 PSI RATED, 316 I—
STAINLESS STEEL ADAPTORS > [ PANAM

These fittings within the industry are known as 10K fittings which have a 10,000 psi working pressure rating. @ Maximum Working Pressure:
All BSPP fittings are 60° coned for connection to hoses. 10,000 psi (690 bar)

Male x Female Straight Adaptors

1.03 Hydraulic Threaded Adaptors & Flanges

.—-}’ ' ¥
BSPP x BSPP JIC x NPT NPT x JIC, Swivel
LEEY Thread Thrend LEER Thread Thrend UEER] Thread
26-26-MF-A-10K 1/8" 18" 4J-2N-MF-A-10K 7/16"-20 1/8" 4N-4J-MF-10K 14" /16"
2G-4G-MF-A-10K 1/8" 14 4J-4N-MF-A-10K 7/16"-20 14" 6N-6J-MF-10K 38" 9/16"
2G-66-MF-A-10K 1/8" 3/8" 6J-4N-MF-A-10K 9/16"18 174" 6N-8J-MF-10K 3/8" 3/4"
26-86-MF-A-10K 18" 12" 4J-6N-MF-A-10K 7/16"-20 38" 8N-10J-MF-10K 12" 78"
26-126-MF-A-10K 1/8" 34" 6J-6N-MF-A-10K 9/16"-18 38" 8N-12J-MF-10K 12" 11/16"
4G-4G-MF-A-10K 174" 14" 8J-6N-MF-A-10K 3/4"-16 38" 12N-12J-MF-10K 3/4" 11/16"
4G-66-MF-A-10K 14" 3/8" 8J-8N-MF-A-10K 9/16"-18 12" 12N-14J-MF-10K 3/4" 13/16"
4G-86-MF-A-10K 174" 12" 10J-8N-MF-A-10K 3/4"16 12" 12N-16J-MF-10K 3/4” 15/16"
4G-12G-MF-A-10K 174" 3/4" 12J-8N-MF-A-10K 7/8"-14 12" 16N-16J-MF-10K 1 15/16"
4G-16G-MF-A-10K 14 1 12J-12N-MF-A-10K 3/4-16 12" Tech Sheet 20887
6G-6G-MF-A-10K 3/8" 38" 16J-16N-MF-A-10K  7/8™-14 12"
6G-8G-MF-A-10K 3/8" 12" Tech Sheet 20887 -
6G-12G-MF-A-10K 38" 34 § -
6G-16G-MF-A-10K 3/8" 1 - 1 Al
8G-8G-MF-A-10K 1z’ 12 - w }
8G-12G-MF-A-10K 12" 34 a1 ‘v.'.'i | }
8G-16G-MF-A-10K 12" 1 & 1 " JIC x JIC, Swivel
12G-12G-MF-A-10K 3/4,, 3/‘} 0339 Male Thread Female Thread
126-166-MF-A-10K 34 1 4 AU MEAOK o o
16G-16G-MF-A-10K 1 1" BSPP x JIC, Swivel . .
Tech Sheet 20887 4J-60-MF-10K 7ne 9716
0339 Tlxlale Female 4J-8J-MF-10K 7/16" 3/4"
read hread 6-4J-MF-10K 916" 716"
4G-4J-MF-10K 1/4 7/16 60-60-MF-10K o6 o/16"
4G-5J-MF-10K 17 vz 60-80-MF-10K Py i
4G-6J-MF-10K 1/4 9/16 80-00-MF-10K o 16
Goww o wuww o aa
- -8J-MF- 10J-8J-MF-10K 7/8" 3/4"
NFT x NFT 6G-8.-MF-10K 3/ A 12J-8J-MF-10K 1.1/16" "
8 2 14J-12J-MF-10K 13/16" 11/16"
2N-2N-MF-A-10K I3 118" 8G-10J-MF-10K 12" 78" 160-12.-ME-10K 1515 i
2N-4N-MF-A-10K I3 7 126-10J-MF-10K a " 16J-16.-ME-10K 55 Lo
2N-6N-MF-A-10K 1/8 38 8G-12J-MF-10K 12 11/16 -
2N-8N-MF-A-10K 18" 12" 126-12J-MF-10K 3/4" 11/16"
2N-12N-MF-A-10K 1/8" 34" 166-12J-MF-10K 1 11/16"
AN-4N-MF-A-10K 14 14" 126-16J-MF-10K 3/4" 15/16"
AN-6N-MF-A-10K V& 38" 16G-16J-MF-10K 1 15/16" i . - m - A
4N-8N-MF-A-10K 14" 12" Tech Sheet 20887
AN-12N-MF-A-10K 174" 3/4"
4N-16N-MF-A-10K 14 1
6N-6N-MF-A-10K 38" 38"
6N-8N-MF-A-10K 38" 12"
6N-12N-MF-A-10K 38" 3/4"
6N-16N-MF-A-10K 38" 1
8N-8N-MF-A-10K 12" 12"
8N-12N-MF-A-10K 12" 3/4”
8N-16N-MF-A-10K 12" 1
12N-12N-MF-A-10K 34" 3 For Hydraulic Adaptors »
12N-16N-MF-A-10K 3/4" 1 38
16N-16N-MF-A-10K 1 1" See pages 82-84 =
Tech Sheet 20887 _‘g
>
p




10,000 PSI RATED, 316 I—
STAINLESS STEEL ADAPTORS e [ PANAM

These fittings within the industry are known as 10K fittings which have a 10,000 psi working pressure rating. @ Maximum Working Pressure:
All BSPP fittings are 60° coned for connection to hoses. 10,000 psi (690 bar)

(2]
[<5]
(=]
{=
)
(.
(=]
(2]
=
[=]
=
o
©
o
<
=
<]
o
©
(<)
=
S
—
=
=
©
=
=
>
p
[
=
-

Male x Female Straight Female x Female Male x Male Elbows
Reducers Straight Adaptors
e
".H b ~
P o W
Q e .- a ;": 4N
3 Swivel, BSPP BSPP
BSPP 0339 LLIGED LLIGED 0339 LLIGET
0339 Male Thread  Female Thread 4G-4G-FF-10K /4" 1/4" 2G-E-MM-10K 1/8"
4G-2G-MF-B-10K 14" 1/8" 4G-6G-FF-10K 14" 3/8" 4G-E-MM-10K 14"
6G-2G-MF-B-10K 3/8" 18" 4G-8G-FF-10K 1/4" 12" 6G-E-MM-10K 3/8"
6G-4G-MF-B-10K 3/8” 1/4" 6G-6G-FF-10K 3/8" 3/8” 8G-E-MM-10K 12"
8G-2G-MF-B-10K 12" 1/8" 66-8G-FF-10K 3/8" 12" 12G-E-MM-10K 3/a”
8G-4G-MF-B-10K 12" /4 8G-8G-FF-10K 12" 12" 16G-E-MM-10K 1
8G-6G-MF-B-10K 12" 3/8" 126-126G-FF-10K 3/4" 3/4” Tech Sheet 20887
126-2G-MF-B-10K 3/4" 1/8" 16G-16G-FF-10K 1 1"
12G-4G-MF-B-10K 3/4" 14" Tech Sheet 20887
12G-6G-MF-B-10K 34" 3/8" B
126-86-MF-B-10K 34 12 A PN "‘\
16G-2G-MF-B-10K 1 1/8" e "\7
16G-4G-MF-B-10K N 14" %L ‘% ]
16G-6G-MF-B-10K 1 3/8" - L
16G-8G-MF-B-10K 1 1/2" Fixed, NPT NPT
16G-126-MF-B-10K K 3 0339 Thread Thread
Tech Sheet 20887 2N-2N-FF-10K 18" 1/8" 2N-E-MM-10K 18"
2N-4N-FF-10K 18" 14" 4N-E-MM-10K /4"
L 2N-BN-FF-10K 18 3/8” 6N-E-MM-10K 3/8"
2N-8N-FF-10K 18" 12" 8N-E-MM-10K 12"
{'F' 2N-12N-FF-10K 1/8" 3/4" 12N-E-MM-10K 3/4"
2N-16N-FF-10K 18" 1" 16N-E-MM-10K 1
\ / 4N-4N-FF-10K 14" 14" Tech Sheet 20887
NPT AN-GN-FF-10K W& 38"
0339 Male Thread  Female Thread AN-8N-FF-10K /4 /2"
4N-2N-MF-B-10K 1/4" 1/8" AN-12N-FF-10K 1/4" 34
6N-2N-MF-B-10K 3/8" 1/8" AN-16N-FF-10K 74 ”
6N-4N-MF-B-10K 3/8" 174" 6N-6N-FF-10K 3/8 3/8"
8N-2N-MF-B-10K 12" 1/8" 6N-8N-FF-10K 3/8" 12"
8N-4N-MF-B-10K 12" 1/4" 6N-12N-FF-10K 3/8" 34
8N-6N-MF-B-10K 12" 38" 6N-16N-FF-10K 3/8" 1
12N-2N-MF-B-10K 34" 1/8" 8N-8N-FF-10K 1z 12"
12N-4N-MF-B-10K 3/4" 1/4" 8N-12N-FF-10K s 34
12N-6N-MF-B-10K 34" 38" 8N-16N-FF-10K 7 1
12N-8N-MF-B-10K 3/4" 12" 12N-12N-FF-10K 3/4" 3/4"
16N-2N-MF-B-10K 1" 1/8" 12N-16N-FF-10K 3/4 s
16N-4N-MF-B-10K 1 1/4" 16N-16N-FF-10K 1 1
16N-6N-MF-B-10K 1 38" Tech Sheet 20887
16N-8N-MF-B-10K 1 12" y
16N-12N-MF-B-10K 1

3/4" X

_::)
Swivel, JIC i >

Tech Sheet 20887

0339 Thread Thread
4J-4J-FF-10K 716" 716"
4J-6J-FF-10K 716" 9/16"
@ 4J-8J-FF-10K 9/16" 3/4"
= 6J-6J-FF-10K 9/16" 9/16"
= 6J-8J-FF-10K 9/16" 3/4"
-§ 8J-8J-FF-10K 3/4" 3/4"
= 12J-12J-FF-10K 11/16" 11/16"
16J-16J-FF-10K 15/16" 15/16"

Tech Sheet 20887




10,000 PSI RATED, 316

STAINLESS STEEL ADAPTORS

stainless
steel

These fittings within the industry are known as 10K fittings which have a 10,000 psi working pressure rating.

All BSPP fittings are 60° coned for connection to hoses.

Male x Female Elbows

-
Swivel, BSPP -
0339 LLICET]
2G-E-MF-10K 1/8"
4G-E-MF-10K 1/84"
6G-E-MF-10K 3/8"
8G-E-MF-10K 1/2"
12G-E-MF-10K 3/4"
16G-E-MF-10K 1"
Tech Sheet 20887

‘,-5}

Fixed, NPT
0339 Thread
2N-E-MF-10K 1/8"
4N-E-MF-10K 1/4"
6N-E-MF-10K 3/8"
8N-E-MF-10K 1/2"
12N-E-MF-10K 3/4"
16N-E-MF-10K 1"
Tech Sheet 20887
e
-
&y
Swivel, JIC
0339 Thread
4J-E-MF-10K 7/16"
6J-E-MF-10K 9/16"
8J-E-MF-10K 3/4"
10J-E-MF-10K 7/8"
12J-E-MF-10K 1.1/16"
16J-E-MF-10K 1.5/16"
Tech Sheet 20887
.
-
% H;& G
NPT x JIC -
0339 Male Thread Female Thread
4N-4J-E-MF-10K 1/4" 716"
6N-6J-E-MF-10K 3/8" 9/16"
8N-8J-E-MF-10K 172" 3/4"
12N-12J-E-MF-10K 3/4" 1.1/16"

Tech Sheet 20887

Female x Female Elhows

BSPP h
0339 Thread
2G-E-FF-10K 1/8"
4G-E-FF-10K 1/4"
6G-E-FF-10K 3/8"
8G-E-FF-10K 1/2"
12G-E-FF-10K 3/4"
16G-E-FF-10K 1"

Tech Sheet 20887

P b
- N
‘-"‘l | |y ‘

NPT L
0339 Thread
2N-E-10K 1/8"
4N-E-10K 1/4"
6N-E-10K 3/8"
8N-E-10K 1/2"
12N-E-10K 3/4"
16N-E-10K 1"

Tech Sheet 20887

i{\

Jic h
0339 Thread
2J-E-FF-10K 7/16"
4J-E-FF-10K 9/16"
6J-E-FF-10K 3/4"
8J-E-FF-10K /8"
12J-E-FF-10K 1.116"
16J-E-FF-10K 1.5/16"

Tech Sheet 20887

%PRd

stainless
steel

For Stainless Steel Gauges
see pages 414-416

El PANAM

@ Maximum Working Pressure:
10,000 psi (690 bar)

Male x Male Tees

BSPP
0339 Thread
2G-T-MM-10K 1/8"
4G-T-MM-10K 1/4"
6G-T-MM-10K 3/8"
8G-T-MM-10K 1/2"
12G-T-MM-10K 3/4"
16G-T-MM-10K 1"
Tech Sheet 20887
e
=Yg
NPT Nl
0339 Thread
2N-T-MM-10K 1/8"
4N-T-MM-10K 1/4"
6N-T-MM-10K 3/8”
8N-T-MM-10K 1/2"
12N-T-MM-10K 3/4"
16N-T-MM-10K 1"
Tech Sheet 20887
2 g
P " o
N gt
Jic : .
0339 Thread
4J-T-MM-10K 7/16"
5J-T-MM-10K 1/2"
6J-T-MM-10K 9/16"
8J-T-MM-10K 3/4"
10J-T-MM-10K /8"
12J-T-MM-10K 1.1/16"
14J-T-MM-10K 1.3/16"
16J-T-MM-10K 1.5/16"
Tech Sheet 20887

»
<)
o
=

o,

e

=]
[Z)
=
o

=
[=%
©

o

<

=]
@

o
©
@
=

=

'_

=

=
©
=

°
>

p

[2r]

=]

-

Hydraulics




(2]
[<5]
(=]
{=
)
(.
(=]
(2]
=
[=]
=
o
©
o
<
=
<]
o
©
(<)
=
S
—
=
=
©
=
=
>
p
[
=
-

Hydraulics

10,000 PSI RATED, 316

STAINLESS STEEL ADAPTORS

stainless
steel

These fittings within the industry are known as 10K fittings which have a 10,000 psi working pressure rating.

All BSPP fittings are 60° coned for connection to hoses.

Female x Female Tees

-

2 3
Vg

BSPP
2G-T-FF-10K 1/8"
4G-T-FF-10K 1/4"
6G-T-FF-10K 3/8"
8G-T-FF-10K 1/2"
12G-T-FF-10K 3/4"
16G-T-FF-10K 1"
Tech Sheet 20887
. e o
. >~
-
NPT
2N-T-10K 1/8"
4N-T-10K 1/4"
6N-T-10K 3/8"
8N-T-10K 1/2"
12N-T-10K 3/4"
Tech Sheet 20887
- \d
Jic 5
2J-T-FF-10K 7/16"
4J-T-FF-10K 9/16"
6J-T-FF-10K 3/4"
8J-T-FF-10K 7/8"
12J-T-FF-10K 1.1/16"
16J-T-FF-10K 1.5/16"
Tech Sheet 20887

Female Equal Cross «

o Thr
e

NPT

0339 Thread
2N-X-10K 1/8"
4N-X-10K 1/4"
6N-X-10K 3/8"
8N-X-10K 1/2"
12N-X-10K 3/4"
16N-X-10K 1"

Tech Sheet 20887

Plugs
"
i\
o
h -
BSPP
0339 Thread
2G-P-10K 1/8"
4G-P-10K 1/4"
6G-P-10K 3/8"
8G-P-10K 1/2"
12G-P-10K 3/4"
16G-P-10K 1"
Tech Sheet 20887
-
\/
NPT
0339 LLIGED
2N-P-10K 1/8"
4N-P-10K 1/4"
6N-P-10K 3/8"
8N-P-10K 12"
12N-P-10K 3/4"
16N-P-10K 1"
Tech Sheet 20887
N -
'.\1 -
-
%
Jic .
0339 Thread
4J-P-10K 716"
6J-P-10K 9/16"
8J-P-10K 3/4"
10J-P-10K /8"
12J-P-10K 1.1/16"
16J-P-10K 1.5/16"
Tech Sheet 20887

For Glycerine Gauges & Accessories

see pages 263-264

El PANAM

@ Maximum Working Pressure:
10,000 psi (690 bar)

Caps
BSPP : il
0339 Thread
2G-C-10K 1/8"
4G-C-10K 1/4"
6G-C-10K 3/8"
8G-C-10K 1/2"
12G-C-10K 3/4"
16G-C-10K 1"

Tech Sheet 20887

=

NPT —
0339 LLIGET
2N-C-10K 1/8"
4N-C-10K 1/4"
6N-C-10K 3/8"
8N-C-10K 1/2"
12N-C-10K 3/4"
16N-C-10K 1"

Tech Sheet 20887

g 1

Jic e
0339 Thread
4J-C-10K 716"
6J-C-10K 9/16"
8J-C-10K 3/4"
10J-C-10K 7/8"
12J-C-10K 1.1/16"
16J-C-10K 1.5/16"

Tech Sheet 20887




37° JIC STAINLESS STEEL N
FLARE FITTINGS = Ed PANAM

w
[<t]
(=]
[=
©
T
B
2
Male Stud Couplings =2
g
<
=
D
\ o
©
] 2
| £
'—
2
E
UNF UNF x BSPP UNF x NPT =1
0215 Thread 0215 Thread Thread 0215 Thread Thread =
205BM6 7/16"-20 210SM6618 7/16"-20 18" 214BMGN18 7/16"-20 18" @
205BM8 1/2"20 210SM6614 7/16"-20 73 214BM6N14 7/16"-20 73 =
205BM10 9/16"-18 210SM6638 7/16"20 38 214BMBN18 1/2'-20 8
205BM12 3/4"-16 210SM6612 71620 12" 214BMBN14 1/2'20 e
205BM16 7/814 210SM8G18 1/2'-20 e 214BM10N18 9/16"18 8
205BM20 1.1/16"12 210SM8614 1/2'-20 3 214BM10N14 9/16™18 73
205BM22 13/16"12 210SM8638 1/2'20 38" 214BM10N38 9/16™18 38"
205BM25 15/16™12 210SM10618 9/16"18 e 214BM10N12 9/16"18 12
205BM32 15/8™12 210SM10G14 9/16"-18 I3 214BM12N14 3416 23
Tech Sheet 20886 210SM10G38 9/16™18 38" 214BM12N38 3/4°-16 38"
210SM10612 9/16"18 12" 214BM12N12 3/4°-16 12
- | Sz 3/416 I3 214BM12N34 3/416 3
210SM12638 3/4"-16 38" 214BM16N12 7/8-14 12"
L smzen 3/4°-16 12" 214BM20N12 11/16"12 12"
=\ 210SM12634 3/416 3 214BM20N34 1.1/16™12 a
’ 210SM16G38 7/8-14 38" 214BM20N1 11/16"12 g
210SM16G12 7/8-14 12" 214BM25N34 15/16"12 3
UNF x BSPT 210SM16634 7/8"-14 13 214BM25N1 15/16™12 g
210SM20612 11/16"12 12" 214BM32N1 15/8"-12 "
215 hroad hroad 210SM20G34 1.1/16™12 34" 214BM32N114 15/8"12 11/4"
210BMGR18 7N16"-20 LS 210SM2061 1.1/16™12 " 214BM38N114 17/8"12 114"
210BMGR14 716"-20 LI 210SM22G34 13/16™12 3" 214BM38N112 17/8"12 172"
210BMGR12 71620 18 210SM25G34 15/16™12 34" Tech Sheet 20886
210BMB8R18 1220 7 210SM2561 G2 f
210BM8R14 1220 w 210SM256114 15/16™12 114"
210BM10R14 91618 " 210SM3261 15812 "
Z10BM10R18 916™18 18 210SM326114 15/8™12 114"
210BM10R38 916"-18 3/ 210SM386114 17/8"12 114"
210BM10R12 9/16™18 12 210SM38G112 17/8"12 112"
210BM12R14 3/4™16 3 T
210BM12R38 3416 38
210BM12R12 3416 2
210BM16R12 7/8™14 12"
210BM16R34 7/8"-14 34"
210BM20R12 1.1/16™12 12" stainless
210BM20R34 1.1/16"12 3
210BM20R1 1.1/16"12 & steel
210BM22R34 1.3/16™12 3
210BM25R34 15/16"12 3
210BM25R1 15/16"12 &
210BM32R1 15/8™12 " : :
P0BMZR114 e o For 316 Stainless Steel Tubing
210BM38R112 17/8"12 11/2" see page 183

Tech Sheet 20886

For Flaretite Seals see page 111

»
=
=)
©
i
b=
>
p




(2]
[<5]
(=]
{=
)
(.
(=]
(2]
=
[=]
=
o
©
o
<
=
<]
o
©
(<)
=
S
—
=
=
©
=
=
>
p
[
=
-

Hydraulics

37° JIC STAINLESS STEEL i ]
St ess PANAM
FLARE FITTINGS steel |
Female Stud Couplings
= U
e
Male UNF x Female BSPP Male UNF x Female NPT Male UNF x Female BSPT
0215 Theesd orens 0215 Theeed v 0215 Theeed orens
230BM6G18 7/16"-20 1/8" 232BM6N18 7/16"-20 1/8" 231M6R18 7/16"-20 1/8"
230BM6G14 7/16"-20 /4" 232BM6N14 7/16"-20 /4" 231M6R14 7/16"-20 1/4"
230BM6G12 7/16"-20 1/2" 232BM8N14 1/2"-20 1/4" 231M6R12 7/16"-20 12"
230BM8G14 1/2"-20 1/4" 232BM10N14 9/16"-18 14" 231M8R18 1/2"-20 18"
230BM10618 9/16"-18 1/8" 232BM10N38 9/16"-18 3/8" 231M8R14 1/2"-20 14"
230BM10G14 9/16"-18 14" 232BM12N12 3/4"-16 12" 231M10R18 9/16"-18 18"
230BM10G38 9/16"-18 3/8" 232BM20N12 1.1/16"-12 12" 231M10R14 9/16"-18 14"
230BM10G12 9/16"-18 12" 232BM20N34 1.1/16"-12 34" 231M10R38 9/16"-18 38"
230BM12G14 3/47-16 14" 232BM25N1 15/16-12 1" 231M10R12 9/16™-18 12"
230BM12G38 3/4"-16 3/8" 232BM32N114 15/8"-12 1.1/4" 231M12R14 3/4"-16 1/4"
230BM12G12 3/4"-16 12" 232BM38N112 1.7/8"12 1.1/2" 231M12R38 3/4"-16 38"
230BM12G34 3/4"-16 34" Tech Sheet 20886 231M12R12 3/4"-16 12"
230BM16G38 7/8"-14 3/8" 231M12R34 3/4"-16 34"
230BM16G12 7/8"-14 12" 231M16R38 7/8"-14 3/8"
230BM16G34 7/8"-14 34" 231M16R12 7/8"-14 12"
230BM18G1 1.1/16"-12 1" 231M16R34 7/8"-14 3/4"
230BM226G34 1.3/16"-12 34" 231M18R34 1.1/16"-12 34"
230BM25G34 15/16-12 34" 231M18R1 1.1/16-12 1"
230BM25G1 1.5/16"-12 1" 231M22R34 1.3/16"-12 3/4"
230BM32G1 15/8"-12 1" 231M25R34 15/16"-12 3/4"
230BM32G114 1.5/8"-12 1.1/4" 231M25R1 15/16"-12 1"
230BM38G114 1.7/8"-12 1.1/2" 231M32R1 15/8"-12 1"
230BM38G112 1.7/8"-12 1.1/2" 231M32R114 15/8"-12 1.1/4"
Tech Sheet 20886 231M38R114 17/8"-12 1.1/4"
231M38R112 17/8"-12 1.1/2"
Tech Sheet 20886
Female Swivel Connectors
=75 N < D
. :':‘l‘\i \ : \‘1.. | -~ _mx". . ‘*‘H‘
L e o L U b
o [l [
/] , § 4
Male NPT x Female UNF
0215 Male Female
Thread Thread Male BSPT x Female UNF
Male UNF x Female UNF Male BSPP x Female UNF 276M6N18 1/8" 7/16"-20 i =
276M8N18 1/8" 1/2"-20 0215 Thread Thread
0215 Male Female 0215 Male Female - - . 2
Thread Thread Thread Thread 276M6N14 1/4 7/16"-20 273M6R18 1/8 7/16"-20
213M6UT16  7/16"-20 7/16"-20 273M6G18 1/8" 7/16"-20 276M8N14 1/4" 1/2"-20 273M8R14 1/4" 1/2"-20
273M8U716 1/2°-20 7/16"-20 273M8G18 1/8" 1/2°-20 276M10N14 1/4" 9/16"-18 2713M10R14 1/4" 9/16"-18
273M8U12 1/2"-20 1/2"-20 273M8G14 1/4" 1/2"-20 276M10N38 38" 9/16"-18 213M12R14 1/4" 3/4"-16
2713M10U716  9/16™-18 7/16"-20 273M10G14 1/4" 9/16"-18 276M12N38 3/8" 3/4"-16 2713M12R38 3/8" 3/4"-16
273M10U916  9/16"-18 9/16™-18 273M10638 3/8" 9/16"-18 276M16N12 12" 7/8"-14 213M16R12 12" 7/8"-14
213M12U916  3/4"-16 9/16"-18 273M12638 3/8" 3/4"-16 276M20N12 12" 1.1/16"-12 2713M20R12 1/2" 1.1/16"-12
273M16U34 7/8"-14 3/4"-16 273M16612 1/2" 7/8"14 276M20N34 3/4" 1.1/16"-12 213M20R34 3/4" 1.1/16"-12
213M18U34  1.1/16"12  3/4"-16 273M20634 3/4" 1.1/16"-12 276M22N34 34" 13/16"-12 213M22R34 34" 1.3/16"-12
273M18UT116  1.1/16"-12  1.1/16™-12 273M22634 3/4" 1.3/16"-12 276M25N34 34" 1.5/16"-12 2713M25R34 3/4" 15/16"-12
213M2201116  13/16-12  1.1/16"-12 273M25G1 1 15/16"-12 276M25N1 1" 15/16"-12 273M25R1 1" 15/16"-12
273M25U1116  15/16"-12  1.1/16"-12 213M326114  1.1/4" 15/8"-12 276M32N114  1.1/4" 15/8"-12 213M32R114  1.1/4" 15/8"-12
2713M25U1516 15/16"12  15/16™-12 213M38G112  1.1/2" 17/8"12 216M38N112  1.1/2" 1.7/8"-12 213M38R112  1.1/2" 17/8"12
Tech Sheet 20886 Tech Sheet 20886 Tech Sheet 20886 Tech Sheet 20886



37° JIC STAINLESS STEEL N
FLARE FITTINGS = Ed PANAM

Bulkhead Unions Fixed Elbows

»
<)
o
=

o,

e

=]
[Z)
=
o

=
[=%
©

o

<

=]
@

o
©
@
=

=

'_

=

=
©
=

°
>

p

[2r]

=]

-

£ -
Bulkhead complete with Locknut, UNF UNF UNF Male x 45° NPT Male
0215 Thread 0215 Thread Thread
204M6UT16 7/16"-20 206BM6 7/16"-20 285MGN18 7/16"-20 18"
204M8U12 1220 206BMS8 1220 285M8N14 1220 18"
204M10U916 9/16"-18 206BM12 3/4-16 285M10N12 9/16"-18 12"
204M12U34 3/4"-16 206BM20 11/16™12 285M12N18 3/4™16 38"
204M16U78 7/8"14 206BM22 13/16™12 285M16N14 7/8"-14 12"
204M18U1116 1.1/16™12 206BM25 15/16™12 285M18N18 11/16™12 34"
204M22U1316 13/16™12 206BM32 15/8"12 285M22N14 13/16™12 3/4"
204M25U1516 15/16™12 206BM38 17/8"12 285M25N38 15/16™12 1"
204M32U158 15/8"-12 Tech Sheet 20886 285M32N12 15/8"12 114
204M38U178 17/8"12 285M38N14 17/8"12 11/2"
Tech Sheet 20886 Tech Sheet 20886

UNF Male x BSPT Male
Bulkhead Locknuts 0215 Thread Thread
e 7120 e
199M6UT16 7/16"20 206MER14 7/16"-20 14
199M8U12 1/2"-20 206M6R12 7/1 6"-20 1/2”
199M10U916 9/16"-18 206MER18 1/2"-20 1/8°
199M12U34 34716 206M8R14 1220 14"
199M16U78 7/8"-14 206M10R18 9/1 6"-18 1/8"
199M18U1116 1.1/16™12 205M10R14 9/16"-18 14
199M22U1316 13/16"-12 206M10R38 9/16°-18 38"
199M25U1516 15/16"-12 206M10R12 9/16™18 vz
199M32U158 15/8"12 206M12R14 3/4"-16 14
199M38U178 17/8"12 206M12R38 3/4"-16 38"

Tech Sheet 20886 206M12R12 3/4"-16 12"

206M12R34 3/4"-16 3/4"

206M16R38 7/8"-14 38"

206M16R12 7/8"-14 12"

206M16R34 7/8"14 3/4"

206M18R34 11/16™12 3/4"

206M18R1 11/16™12 1"

206M22R34 13/16™12 3/4"

206M25R34 15/16™12 34"

206M25R1 15/16"12 1

206M32R1 15/8"12 1

206M32R114 15/8"12 11/4" For Hydraulic 01l

206M38R114 17/8"12 11/4"

206M38R112 17/8"12 11/2° see page 283

Tech Sheet 20886

For Flaretite Seals see page 111

Hydraulics




o .

g 37° JIC STAINLESS STEEL stainless PANAM

<" FLARE FITTINGS steel |

(i

oS

<4

=2 Swivel Elbows Fixed Tees

S

3 -

i D '? P i

«b) ¥ k-

£ : y . e 5l

= L _ & ‘s9

= — o L

e

;; Male x Female, UNF Equal Female, UNF UNF

= 0215 LLIGET 0215 LLIGET 0215 LLIGED

= 275M6U716 7/16"-20 265M6U716 7/16"-20 207BM6 7/16"-20
275M8U12 1/2"-20 265M8U12 1/2"-20 207BM8 1/2"-20
275M10U916 9/16"-18 265M10U916 9/16"-18 207BM10 9/16"-18
275M12U34 3/4"-16 265M12U34 3/4"-16 207BM12 3/4"-16
275M16U78 7/8"-14 265M16U78 7/8"-14 207BM16 7/8"-14
275M18U1116 1.1/16"-12 265M18U1116 1.1/16"-12 207BM20 1.1/16"12
275M22U1316 1.3/16"-12 265M22U1316 1.3/16"-12 207BM22 1.3/16"-12
275M25U1516 1.5/16"-12 265M25U1516 1.5/16"-12 207BM25 15/16"-12
275M32U158 15/8"-12 265M32U158 15/8"-12 207BM32 15/8"-12
275M38U178 17/8"12 265M38U178 1.7/8"12 Tech Sheet 20886

Tech Sheet 20886 Tech Sheet 20886

e \
¥ 90° Position Elbows A >
b B

" i - “
8 2k .

NPT Male x UNF Female UNF Male x NPT Male Branch
0215 LLICET Thread 0215 Thread Thread
275M6N18 7/16"-20 1/8" 307M6N18 7/16"-20 1/8"
275M6N14 7/16"-20 1/4" 307M6N14 7/16"-20 1/4"
275M6N12 7/16"-20 1/2" UNF x BSPP 307M6N12 7/16"-20 1/2"
275M8N18 1/2"-20 1/8" 0215 LLIGED LLIGED 307M8N18 1/2"-20 1/8"
275M8N14 1/2"-20 1/8" 216SM6G18 7/16"-20 1/8" 307M8N14 1/2"-20 1/4"
275M10N18 9/16"-18 1/8" 216SM6G14 7/16"-20 1/4" 307M10N18 9/16"-18 1/8"
275M10N14 9/16"-18 1/4" 216SM8G18 1/2"-20 1/8" 307M10N14 9/16"-18 /4"
275M10N38 9/16"-18 3/8" 216SM10G38 9/16"-18 3/8" 307M10N38 9/16"-18 3/8"
275M10N12 9/16"-18 1/2" 216SM12G14 3/4"-16 1/4" 307M10N12 9/16"-18 1/2"
275M12N14 3/4"-16 1/4" 216SM12G38 3/4"-16 3/8" 307M12N14 3/4"-16 1/8"
275M12N38 3/4"-16 3/8" 216SM12G12 3/4"-16 1/2" 307M12N38 3/4"-16 3/8"
275M12N12 3/4"-16 1/2" 216SM12G34 3/4"-16 3/4" 307M12N12 3/4"-16 1/2"
275M12N34 3/4"-16 3/4" 216SM16G14 7/8"-14 1/4" 307M12N34 3/4"-16 3/4"
275M16N38 7/8"-14 3/8" 216SM16G38 7/8"-14 3/8" 307M16N38 7/8"-14 3/8"
275M16N12 7/8"-14 1/2" 216SM16G12 7/8"-14 1/2" 307M16N12 7/8"-14 1/2"
275M16N34 7/8"-14 3/4" 216SM16G34 7/8"-14 3/4" 307M16N34 7/8"-14 3/4"
275M18N34 1.1/16"-12 3/4" 216SM20G12 1.1/16"-12 1/2" 307M18N34 1.1/16"-12 3/4"
275M18N1 1.1/16"-12 1" 216SM20G34 1.1/16"-12 3/4" 307M18N1 1.1/16"-12 1"
275M22N34 1.3/16"-12 3/4" 216SM22G12 1.3/16"-12 1/2" 307M22N34 1.3/16"-12 3/4"
275M25N34 1.5/16"-12 3/4" 216SM22G34 1.3/16"-12 3/4" 307M25N34 1.5/16"-12 3/4"
275M25N1 1.5/16"-12 1" 216SM22G1 1.3/16"-12 1/2" 307M25N1 1.5/16"-12 1"
275M32N1 1.5/8"-12 1 216SM25G12 1.5/16"-12 1/2" 307M32N1 1.5/8"-12 1"
275M32N114 1.5/8"-12 1.1/4" 216SM25G1 1.5/16"-12 1" 307M32N114 1.5/8"-12 1.1/4"
275M38N114 1.7/8"-12 1.1/4" 216SM32G1 1.5/8"-12 1" 307M38N114 1.7/8"-12 1.1/4"
275M38N112 1.7/8"-12 1.1/2" 216SM38G112 1.7/8"-12 1.1/2" 307M38N112 1.7/8"-12 1.1/2"
Tech Sheet 20886 Tech Sheet 20886 Tech Sheet 20886

(%]
=
>
@©
—
=]
>
=

For Flaretite Seals see page 111




37° JIC STAINLESS STEEL N
FLARE FITTINGS = Ed PANAM

Fixed Tees Swivel Tees Position Tees

. ﬂ',

UNF Male x NPT Male Run Female Swivel, UNF ) UNF Male x BSPP Male

»
<)
o
=

o,

e

=]
[Z)
=
o

=
[=%
©

o

<

=]
@

o
©
@
=

=

'_

=

=
©
=

°
>

p

[2r]

=]

-

0215 Thread Thread 0215 LLICET] 0215 Thread Thread
309M6N18 7/16"-20 1/8" 310M6U716 7/16"-20 308M6G18 7/16"-20 1/8"
309M6N14 7/16"-20 1/4" 310M8U12 1/2"-20 308M6G14 7/16"-20 1/4"
309M6N12 7/16"-20 1/2" 310M10U916 9/16"-18 308M8G18 1/2"-20 1/8"
309M8N18 1/2"-20 1/8" 310M12U34 3/4"-16 308M8G14 1/2"-20 1/4"
309M8N14 1/2"-20 1/4" 310M16U78 7/8"-14 308M10G14 9/16"-18 1/4"
309M10N18 9/16"-18 1/8" 310M18U1116 1.1/16"-12 308M10G38 9/16"-18 3/8"
309M10N14 9/16"-18 1/4" 310M22U1316 1.3/16"-12 308M12G14 3/4"-16 1/4"
309M10N38 9/16"-18 3/8" 310M25U1516 1.5/16"-12 308M12G38 3/4"-16 3/8"
309M10N12 9/16"-18 1/2" 310M32U158 1.5/8"-12 308M12G12 3/4"-16 1/2"
309M12N14 3/4"-16 1/4" 310M38U178 1.7/8"-12 308M12G34 3/4"-16 3/4"
309M12N38 3/4"-16 3/8" Tech Sheet 20886 308M16G14 7/8"-14 1/4"
309M12N12 3/4"-16 1/2" - 308M16G38 7/8"-14 3/8"
309M12N34 3/4"-16 3/4" . e ’ 3 308M16G12 7/8"-14 1/2"
309M16N38 7/8"-14 3/8" . r. L 308M16G34 7/8"-14 3/4"
309M16N12 7/8"-14 1/2" 4 Y 308M20G12 1.1/16"-12 1/2"
309M16N34 7/8"-14 3/4" M 308M20G34 1.1/16"-12 3/4"
309M18N34 1.1/16"-12 3/4" o ‘ 308M22G34 1.3/16"-12 1/2"
309M18N1 1.1/16"-12 1" - 308M22G1 1.3/16"-12 3/4"
300M22N34 13/16™12 34" Female Swivel Branch, UNF 308M22612 13/16™12 1
309M25N34 1.5/16"-12 3/4" 0215 Thread 308M25G34 1.5/16"-12 1/2"
309M25N1 1.5/16"-12 1" 314M6U716 7/16"-20 308M25G1 1.5/16"-12 3/4"
309M32N1 1.5/8"-12 1" 314M8U12 1/2"-20 308M32G1 1.5/8"-12 1"
309M32N114 1.5/8"-12 1.1/4" 314M10U916 9/16"-18 308M32G114 1.5/8"-12 1"
309M38N114 1.7/8"-12 1.1/4" 314M12U34 3/4"-16 308M38G114 1.7/8"12 1.1/4"
309M38N112 1.7/8"-12 1.1/2" 314M16U78 7/8"-14 308M38G112 1.7/8"-12 1.1/2"
Tech Sheet 20886 314M18U1116 1.1/16"-12 Tech Sheet 20886

314M22U1316 1.3/16"-12

314M25U1516 1.5/16"-12

314320158 15/8"12 Cross

314M38U178 1.7/8"-12

Tech Sheet 20886

_
y

p b i
- oy e
;"r’ iy t"‘g "1[“ I._;-
wild., B
dsP 1 Male, UNF )

Female Swivel Run, UNF 0215 Thread
320M6U716 7/16"-20

AL UL 320MBU12 1220
312MEUT16 Ne-20 320M10U916 9/16™18
312m8u12 1220 320M12034 3/4°-16
312M10U916 9/16™18 20V16UTE e
312M12U34 EANL 20M18U1116 11/16™12
312mM16U78 7814 320M2201316 1301612
312M18U1116 11/16™12 2OM25U1E1 B
312M2201316 13/16-12 203U 52
312M25U1516 15/16-12 e

) 320M38U178 17/8"12
312M320158 15/8"12 o Shast 20685
312M38U178 17/8"12 och onee

Tech Sheet 20886

Hydraulics

For Flaretite Seals see page 111




(2]
[<5]
(=]
{=
)
(.
L]
(2]
=
[=]
=
o
©
o
<
=
<]
o
©
(<)
=
S
—
(£}
=
©
=
=
>
p
[
=
-

Hydraulics

37° JIC STAINLESS STEEL —
FLARE FITTINGS mines ] PANAM

Swivel Caps Reducing Adaptors Flare Sleeves
1h. “ — H |
\ -\ g
ol
-
UNF UNF Tube x UNF Male Metric
0215 Thread 0215 0Dmm _ ODmm _ MaleThread ill0215  O0Dmm |
289M6U716 7/16"-20 303M6U716 10 6 7/16"-20 203M6 6
289M8U12 1/2"20 303M6U34 12 6 3/4"-16 203M8 8
289M10U916 9/16"-18 303M10U34 12 10 3/4"-16 203M10 10
289M12U34 3/4"-16 303M6U78 16 6 7/8"-14 203M12 12
289M16U78 7/8"14 303M10U78 16 10 7/8"-14 203M14 14
289M22U1316 13/16"12 303M6U1116 18 6 1.1/16"12 203M15 15
289M25U1516 15/16"-12 303M10U1116 18 10 1.1/16"-12 203M16258 16
289M32U158 1.5/8"-12 303M12U1116 18 12 1.1/16"12 203M18 18
289M38U178 17/8"-12 303M10U1316 ) 10 13/16"-12 203M20 2
Tech Sheet 20886 303M16U1316 2 16 13/16"12 203M25 %
303M6U1516 2 6 15/16"-12 203M30 30
i 303M10U1516 2 10 15/16"-12 203M32 32
Blanklng Plugs 303M12U1516 2% 12 15/16"-12 203M382112 38
303M16U1516 % 16 15/16"-12 Tech Sheet 20886
) : 303M18U1516 2 18 15/16"-12
~ - N 303MIBU158 32 18 15/8"-12 )
|1, W 303M25U158 32 % 15/8"12 Imperial
T - o
303M18U178 38 18 17/8"12 20321 Y
UNEF % 4 303M25U178 38 % 17/8"12 2037516 516"
Tech Sheet 20886 203238 3/8"
e a2 uz
-~ 203M15258 5/8"
299M8 1220 Tube Nuts 203734 G
299M10 91618 20371 i
299M12 3418 Tech Sheet 20886
299M16 7/8"14
299M20 1.1/16"-12 \

299M22 1.3/16"-12 | "3‘{1'
299M25 1.5/16"-12 % \

299M32 1.5/8"-12 W l—/
299M38 1.7/8"-12 UNF

Tech Sheet 20886
201M6U716 7/16"-20
201M8U12 1/2"-20
201M10U916 9/16"-18
201M12U34 3/4"-16
201M16U78 7/8"-14
201M20U1116 1.1/16"-12
201M22U1316 1.3/16"-12
201M25U1516 1.5/16"-12
201M32U158 1.5/8"-12
201M38U178 1.7/8"-12
Tech Sheet 20886

For Flaretite Seals see page 111



SAE FLANGES
havit

* Closed Flanges

* Split Flange Half

* 90° Threaded Flanges
* Threaded Flanges

* Threaded Flanges-Companion
(Counter)

» Socket Weld Flanges
* Socket Weld Flanges 90°

e Butt Weld Flanges
e Butt Weld Flanges 90°

* Butt Weld Flanges-Companion
(Counter)

* Socket Weld Coupling Set
* Bolts & Spring Washers

* 0-Rings

101



SAE FLANGES

havit

Closed Flanges 90° Threaded Flanges

Bolts, washers and 0-Rings are not included
and must be purchased separately
Please see page 108

Bolts, washers and 0-Rings are notincluded
and must be purchased separately
Please see page 108

(2]
[<5]
(=]
{=
)
(.
L]
(2]
=
[=]
=
o
©
o
<
=
<]
o
©
(<)
=
S
—
=
=
©
=
=
>
p
[
=
-

3000 psi 3000 psi, BSPP
0300 Flange Size Bolt Type Metric Flange Bolt T Bolt Type
AFCO80 e M 20 0300 Size Thread Metrie un
AFC100 3/4,, M10 %35 AFS080/90G-038 12" 3/8" M8 x 30 5/16" x 1.1/4"
AFCI02 " M10 %35 AFS100/90G 3/4" 34 M10x 35 3/8"x1.1/2"
AFC104 11 M10 x40 AFS$102/90G 1 1 M10x 35 3/8"x1.1/2"
AFC106 1 M12 %45 AFS104/90G 1.1/4" 1.1/4" M10x 35 3/8"x1.1/2"
AFC108 > M12 %45 AFS106/90G 11/2" 1.1/2" M12 x 45 1/2" x1.3/4"
AFC110 212" V12 x 15 AFS/90G 2 v M12 x 45 1/2" x1.3/4"
AFC112 g M16 x 50 Tech Sheet 1628
AFC114 3.1/2" M16 x 50
AFC116 4 M16 x 50 6000 psi, BSPP
AFC118 5 M16 x 50
Tech Sheet 1625 0300 Flsairznge Thread Bm;;'zge B'JII}JEPQ

. AFS401/90G-038 12" 3/8" M8 x 30 5/16" x 1.1/4"
6000 psi AFS401/90G-012 /2 12 M8 x 30 5/16"x 1.1/4"
0300 R Bolt Type Metric AFS402/90G 38 34" M10x 35 3/8"x1.1/2"
AFCA01 12 I8 x 30 AFS403/90G 1" 1" M12 x 45 7/16" x 1.3/4"
AFC402 3 V10X 35 AFS405/90G 11 /z 11 /z M16 x 50 5/8"x2"
AFC403 B 12 x 45 AFS406/90G 2 2 M20 x 110 -
AFC404 1.1/4" M14 x 45 Tech Sheet 1628
AFCA405 11/2" M16 x 50
AFC406 2" M20 x 65
AFCA07 z\z — M24 x 80 Code Information: AFS = Flange with 0-Ring Groove

11625 .
UL GFS = Flange with Flat Face

Split Flange Half

Bolts, washers and 0-Rings are notincluded
and must be purchased separately
Please see page 108

3000 psi

0300 Flange Size Bolt Type Metric Bolt Type UNC

FH3001 1/2" M8 x 25 5/16" x 1.1/4"

FH3002 3/4" M10 x 30 3/8" x 1.1/4"

FH3003 1" M10 x 30 3/8"x1.1/4"

FH3004 1.1/8" M10x 35 7/16" x1.1/2"

FH3005 1.1/2" M12 x 35 1/2" x1.1/2"

FH3006 2" M12 x 35 1/2"x1.1/2"

FH3007 2.1/2" M12 x 40 1/2"x1.1/2"

FH3011 5" M16 x 50 5/8" x 2"

Tech Sheet 1626

6000 psi

0300 Flange Size Bolt Type Metric Bolt Type UNC

FH6001 1/2" M8 x 30 5/16" x 1.1/4"

FH6002 3/4" M10x 35 3/8"x1.1/2"

FH6003 1" M12 x 45 -

FH6013 1" - 7/16" x 1.1/4"
o FH6004 1.1/4" M14 x 50 -
é FH6044 1.1/4" - 1/2" x1.3/4" =
= s o V1655 5o For Hydraulic Hose Connectors
-§ FH6006 2 M20 x 65 3/4" x2.1/2" see pages 17-24
T Tech Sheet 1626




SAE FLANGES haviT

Threaded Flanges

Bolts, washers and 0-Rings are not included and must be purchased separately
Please see page 108

»
<)
o
=

o,

e

=]
[Z)
=
o

=
[=%
©

o

<

=]
@

o
©
@
=

=

'_

=

=
©
=

°
>

p

[2r]

=]

-

3000 psi, BSPP 3000 psi, NPT

0300 Fonee  Twear  Spiiwe Boiire  MEosw L A

AFS080G-038 12" 38 M8 x 30 5/16'x 1.1/4"  AFSOBON-038 2 38 M8 x 30 516" x 1.1/4"

AFS0806 12 12 M8 x 30 5/16°x 11/4"  AFSO8ON 2 3 M8 x 30 516" x 1.1/4"

AFS1006-012 34" 12" M10x35 3/8"°x1.1/2" AFST00N-012 34" 3 M10x35 38" x1.1/2"

AFS1006 y” 3" M10x35 38" x1.1/2" AFS102N-034 " 3 M10x 35 38" x1.1/2"

AFS1026-012 g 12 M10x35 38" x1.1/2" AFS102N E E M10x35 38" x1.1/2"

AFS1026-034 1" " M10x35 38" x1.1/2" AFST04N-100 1.1/4" " MIOX40  7/16"x1.1/2"

AFS1026 g 1 M10x35 38" x1.1/2" AFS104N 1.1/4" 1.1/4" MIOX40  7/16"x1./2"

AFS1046-034 A% a MI0x40  7/16"x1.1/2°  AFS106N-114 12 1 M12x45 121308

AFS104G-100 114" 1 MIOX40  7/6°x134"  AFSTO6N 11/2" 11/2" M12x 45 12 X138

AFS1046 11/4" 14" MIOX40  7A6"x11/2°  AFS108N-112 2 11/2" M12 x 45 12 %1304

AFS1066-034 11/2" Y% M12x 45 12" x13/4" AFS108N 2 2 M12x 45 12" x 134"

AFS1066-100 172" 1 M12x 45 12" x1.3/8" AFST1ON 272" 212" M12x 45 12 %1308

AFS1066-114 172" 14" M12 x 45 1/2" x 134" AFST12N 3 3 M6 x50 5/8" x 2"

AFS1066 172" 11/2" M12x 45 12" x 134" AFST14N 372" 3/2" M6 x50 5/8"x2"

AFS1086-100 z 1 M12 45 12" x13/8" AFST16N & e M6 x50 5/8"x2"

AFS1086-114 2 14" M12 x 45 1/2" x 134" Tech Sheet 1629

AFS1086-112 7 112" M12x 45 12" X138

AFS1086 7 7 M12x 45 12" x13/8" .

AFS1106-200 21/2" 2 M12 x 45 2 xize 5000 psi. NPT

AFS1106 21/2" 2112 M12 x 45 12 x13/8" Flange Bolt Type Bolt Type

AFS1126-212 3 21/2" M16 x50 5/8"x 2" S Size Thred Metric NE .

AFST126 e e o0 R AFSA01N-038 I 0 M8 x 30 /16" X 1.1/4"

AFS1146-300 312" 3 M16x 50 5/8"x 2" AFSA40IN-012 18 I8 M x 30 516" x1.1/4

AFSTIAG T s o s AFSA02N-012 I 177 M10x35 I8 X112

AFS1166-312 g 312" M16 x50 5/8"x2" AFS402N s/ s M10x35 8/8"x1.1/2

AFSTIOG . e T R AFS403N-034 & s MiZxds  716"x134°

o Shet 1626 AFSA03N 1 1 Mi2x45  7/16"x1.3/4

AFSA04N-100 1.1/8" " M4 x45 12 %1308
AFSAO5N-114 12 14" M6 x50 5/8" x 2"

6000 psi, BSPP AFS405N 11/2" 11/2" M16 x 50 5/8" x 2"
AFSA06N-112 2 11/2" M20 x 65 A" x21/2"

0300 Flange Thread Betine BooNEre AFS406N 2 2 M20 x 65 34 x2.1/2"

AFS4016-038 12" 38 M8 x 30 5/16" x 1.1/4" Tech Sheet 1629

AFS4016-012 12" 12" M8 x 30 516 x 1.1/4"

AFS4026-012 314" 12" M10x35 38" x1.1/2"

AFS4026 3 3" M10x35 38" X 1.1/2"

AFS4036-034 1" 34" Mi2x45  7/16"x 1.3/4"

AFS4036 [ 1 Mi2x45  7/16"x 1.3/4"

AFS404G-100 114 1 M14 x 45 12 x13/8"

AFS4046 RI% RI% M14 x 45 12" X138

AFSA056-114 172" 14" M16 x50 5/8"x2"

AFS4056 11/2" 112" M16 x50 5/8" x 2"

AFS4066-112 z 112 M20 65 34" x2.1/2"

AFS4066 7 7 M20 x 65 34" x2.1/2"

Tech Sheet 1629

Hydraulics

Code Information: AFS = Flange with 0-Ring Groove GFS = Flange with Flat Face

(=]
w




SAE FLANGES haviT

Threaded Flanges-Companion (Counter)

Bolts, washers and 0-Rings are notincluded and must be purchased separately
Please see page 108

(2]
[<5]
(=]
{=
)
(.
(=]
(2]
=
[=]
=
o
©
o
<
=
<]
o
©
(<)
=
S
—
=
=
©
=
=
>
p
[
=
-

3000 psi, BSPP, Metric Mount 3000 psi, BSPP, UNC Mount
0300 Flange Size LLIGED Bolt Type Metric 0300 Flange Size Thread Bolt Type Metric
GFS080GM-038 1/2" 3/8" M8 GFS080GU-038 1/2" 3/8" 5/16"
GFS080GM 1/2" 1/2" M8 GFS100GU-012 3/4" 1/2" 3/8"
GFS100GM-012 3/4" 1/2" M10 GFS100GU 3/4" 3/4" 3/8"
GFS100GM 3/4" 3/4" M10 GFS102GU-034 1" 3/4" 3/8"
GFS102GM-034 1" 3/4" M10 GFS102GU 1" 1" 3/8"
GFS102GM 1" 1" M10 GFS104GU-100 1.1/4" 1" 716"
GFS104GM-100 1.1/4" 1" M10 GFS104GU 1.1/4" 1.1/4" 718"
GFS104GM 1.1/4" 1.1/4" M10 GFS106GU-114 1.1/2" 1.1/4" 1/2"
GFS106GM-114 1.1/2" 1.1/4" M12 GFS106GU 1.1/2" 1.1/2" 1/2"
GFS106GM 1.1/2" 1.1/2" M12 GFS108GU-112 2" 1.1/2" 1/2"
GFS108GM-112 2" 1.1/2" M12 GFS108GU 2" 2" 1/2"
GFS108GM 2" 2" M12 GFS110GU-200 2.1/2" 2" 1/2"
GFS110GM-200 21/2" 2" M12 GFS110GU 2.1/2" 21/2" 1/2"
GFS110GM 21/2" 2.1/2" M12 GFS112GU-212 3" 2.1/2" 5/8"
GFS112GM-212 3" 21/2" M16 GFS112GU 3" 3" 5/8"
GFS112GM 3" 3" M16 GFS114GU-300 3.1/2" 3" 5/8"
GFS114GM-300 3.1/2" 3" M16 GFS114GU 3.1/2" 3.1/2" 5/8"
GFS114GM 3.1/2" 3.1/2" M16 GFS116GU-312 4 3.1/2" 5/8"
GFS116GM-312 4" 3.1/2" M16 GFS116GU 4" 4" 5/8"
GFS116GM 4" 4" M16 Tech Sheet 1631

Tech Sheet 1631
6000 psi, BSPP, Metric Mount 6000 psi, BSPP, UNC Mount
0300 Flange Size Thread Bolt Type Metric 0300 Flange Size Thread Bolt Type Metric
GFS401GM-038 1/2" 3/8" M8 GFS401GU-038 1/2" 3/8" 1/2"
GFS401GM-012 1/2" 1/2" M8 GFS401GU-012 1/2" 1/2" 5/16"
GFS402GM-012 3/4" 1/2" M10 GFS402GU-012 3/4" 1/2" 3/8"
GFS402GM 3/4" 3/4" M10 GFS402GU 3/4" 3/4" 3/8"
GFS403GM 1" 1" M12 GFS403GU 1" 1" 716"
GFS404GM-100 1.1/4" 1" M14 GFS404GU-100 1.1/4" 1" 1/2"
GFS404GM 1.1/4" 1.1/4" M14 GFS404GU 1.1/4" 1.1/4" 1/2"
GFS405GM-114 1.1/2" 1.1/4" M16 GFS405GU-114 1.1/2" 1.1/4" 5/8"
GFS405GM 1.1/2" 1.1/2" M16 GFS405GU 1.1/2" 1.1/2" 5/8"
GFS406GM-112 2" 1.1/2" M20 GFS406GU-112 2" 1.1/2" 3/4"
GFS406GM 2" 2" M20 GFS406GU 2" 2" 3/4"

Tech Sheet 1631 Tech Sheet 1631

Hydraulics

Code Information: AFS = Flange with 0-Ring Groove GFS = Flange with Flat Face




SAE FLANGES

Socket Weld Flanges

Bolts, washers and 0-Rings are not included and must be purchased separately
Please see page 108

»
<)
o
=

o,

e

=]
[Z)
=
o

=
[=%
©

o

<

=]
@

o
©
@
=

=

'_

=

=
©
=

°
>

p

[2r]

=]

-

3000 psi, Metric Mount 3000 psi, UNC Mount
0300 T D et 000 e’ T e
GFS080SM-038 1/2" 17.5 M8 GFS080SU-038 1/2" 17.5 5/16"
GFS080SM-A20 1/2" 20.3 M8 GFS080SU-A20 1/2" 20.3 5/16"
GFS080SM 1/2" 21.6 M8 GFS080SU 1/2" 216 5/16"
GFS100SM-A25 3/4" 253 M10 GFS100SU-A25 3/4" 25.3 3/8"
GFS100SM 3/4" 212 M10 GFS100SU 3/4" 21.2 3/8"
GFS102SM-A30 1" 30.3 M10 GFS102SU-A30 1 30.3 3/8"
GFS102SM 1" 34 M10 GFS102SU 1 34 3/8"
GFS104SM-A38 1.1/4" 38.3 M10 GFS104SU-A38 1.1/4" 38.3 7/168"
GFS104SM 1.1/4" 42.8 M10 GFS104SU 1.1/4" 42.8 716"
GFS106SM 1.1/2" 48.6 M12 GFS106SU 1.1/2" 486 12"
GFS106SM-A50 1.1/2" 50.5 M12 GFS106SU-A50 1.1/2" 50.5 1/2"
GFS108S 2" 61 M12 GFS108SU 2" 61 1/2"
GFS110SM 21/2" 76.6 M12 GFS110SU 21/2" 76.6 12"
GFS112SM 3" 90.5 M16 GFS1128U 3" 90.5 5/8"
GFS114SM 3.1/2" 103 M16 GFS114SU 3.1/2" 103 5/8"
GFS116SM 4" 1155 M16 GFS116SU 4 1155 5/8"

Tech Sheet 1632 Tech Sheet 1632
6000 psi, Metric Mount 6000 psi, UNC Mount
0300 o Db riet Phetie 0300 i D P Mot
GFS401SM-038 1/2" 175 M8 GFS401SU-038 1/2" 175 5/16"
GFS401SM-A20 1/2" 20.3 M8 GFS401SU-A20 1/2" 20.3 5/16"
GFS401SM-012 1/2" 216 M8 GFS401SU-012 1/2" 21.6 516"
GFS402SM-A25 3/4" 253 M10 GFS402SU-A25 3/4" 25.3 3/8"
GFS402SM 3/4" 21.2 M10 GFS402SU 3/4" 21.2 3/8"
GFS403SM-A30 1" 30.3 M12 GFS403SU-A30 1 30.3 716"
GFS403SM 1" 34 M12 GFS403SU 1 34 7/16"
GFS404SM-A38 1.1/4" 38.3 M14 GFS404SU-A38 1.1/4" 383 1/2"
GFS404SM 1.1/4" 428 M14 GFS404SU 1.1/4" 428 12"
GFS405SM 1.1/2" 48.6 M16 GFS405SU 1.1/2" 48.6 5/8"
GFS405SM-A50 1.1/2" 50.5 M16 GFS405SU-A50 1.1/2" 50.5 5/8"
GFS406SM 1.1/2" 61 M20 GFS406SU 1.1/2" 61 3/4"
GFS407SM 2.1/2" 76.6 M24 Tech Sheet 1632

Tech Sheet 1632
Socket Weld Flanges
Bolts, washers and 0-Rings are not included and must be purchased separately
Please see page 108
3000 psi
000 A oo 1 A 0 gl 6000 psi
AFS080S-038 1/2" 175 M8 x 30 516" x 1.1/4" 030 Flange Boss Weld Bolt Type Bolt Type
AFS080S-A20 1/2" 20.3 M8 x 30 5/16" x 1.1/4" Size Diameter mm Metric UNE
AFS080S 1/2" 216 M8 x 30 5/16" x 1.1/4" AFS401S-038 1/2" 17.5 M8 x 30 5/16" x 1.1/4"
AFS100S-A25 3/4" 253 M10x 35 3/8"x1.1/2" AFS401S-A20 12" 20.3 M8 x 30 5/16" x 1.1/4"
AFS1008 3/4" 21.2 M10x 35 3/8"x1.1/2" AFS401S-012 1/2" 216 M8 x 30 5/16" x 1.1/4"
AFS102S-A30 1" 30.3 M10x 35 3/8"x1.1/2" AFS402S-A25 3/4" 253 M10 x 35 3/8"x1.1/2"
AFS102S 1" 34 M10x 35 3/8"x1.1/2" AFS402S 3/4" 21.2 M10x 35 3/8"x1.1/2"
AFS104S-A38 1.1/4" 383 M10 x 40 7/16" x1.1/2" AFS403S-A30 1" 30.3 M12 x 45 7/16" x 1.3/4"
AFS106S 1.1/2" 48.6 M12 x 45 1/2" x1.3/4" AFS403S 1" 34 M12 x 45 7/16" x 1.3/4"
AFS106S-A50 1.1/2" 50.5 M12 x 45 1/2" x1.3/4" AFS404S-A38 1.1/4" 38.3 M14 x 45 1/2" x1.3/4" %
AFS108S 2" 61 M12 x 45 1/2" x1.3/4" AFS404S 1.1/4" 42.8 M14 x 45 1/2" x1.3/4" %
AFS1108 2.1/2" 76.6 M12 x 45 1/2" x1.3/4" AFS4058 1.1/2" 48.6 M16 x 50 5/8"x 2" =
AFS114S 3.1/2" 103 M16 x 50 5/8"x 2" AFS405S-A50 1.1/2" 50.5 M16 x 50 5/8"x2" =
AFS116S 4" 115.5 M16 x 50 5/8" x 2" AFS406S 2" 61 M20 x 65 3/4" x2.1/2" -

Tech Sheet 1633 Tech Sheet 1633

(=)
o1




SAE FLANGES

havit

Socket Weld Flanges 90°

Bolts, washers and 0-Rings are notincluded
and must be purchased separately
Please see page 108

Butt Weld Flanges 90°

Bolts, washers and 0-Rings are notincluded
and must be purchased separately
Please see page 108

(2]
[<5]
(=]
{=
)
(.
(=]
(2]
=
[=]
=
o
©
o
<
=
<]
o
©
(<)
=
S
—
=
=
©
=
=
>
p
[
=
-

3000 psi, Metric 3000 psi

Flange Boss Weld Bolt Type Bolt Type Flange Boss Weld Bolt Type Bore Size
e Sizg Diameter mm Metrvlg UNEIl 0300 Sizg Diameter mm Metrvlg mm
AFS080/90S-038 1/2" 17.5 M8 x 30 5/16" x 1.1/4" AFS200/90ST 3/4" 27 M10 x 40 21
AFS080/90S 1/2" 21.6 M8 x 30 5/16" x 1.1/4" AFS202/90ST 1" 345 M10 x 45 345
AFS100/90S 3/4" 212 M10 x 35 3/8"x1.1/2" AFS204/90ST 1.1/4" 43 M10 x 45 43
AFS106/90S 1.1/2" 486 M12 x 45 7/16" x 1.3/4" AFS206/90ST 1.1/2" 50 M12 x 50 50

Tech Sheet 1634 AFS208/90ST 2" 65 M12x 70 65
. . Tech Sheet 1636

6000 psi, Metric

Flange Boss Weld Bolt Type Bolt Type .
BELD Sizg Diameter mm Metr¥|cp UNEIl 6000 psi
AFS401/90S-038 1/2" 17.5 M8 x 30 5/16" x 1.1/4" o0 Flange Boss Weld Bolt Type Bore Size
AFS401/908-012 1/2" 216 M8 x 30 5/16" x 1.1/4" Size Diameter mm Metric mm
AFS402/90S 3/4" 212 M10x 35 3/8"x1.1/2" AFS700/90ST 3/4" 28 M10x 35 28
AFS403/90S 1" 34 M12 x 45 7/16" x 1.3/4" AFS702/90ST 1" 34 M12 x 45 34
AFS404/90S 1.1/4" 428 M14 x 50 1/2" x1.3/4" AFS704/90ST 1.1/4" 42 M14 x 50 42
AFS405/90S 1.1/2" 48.6 M16 x 50 5/8"x2" AFS706/90ST 1.1/2" 48 M16 x 50 48
AFS406/90S 2" 61 M20 x 110 - AFS708/90ST 2" 65 M20 x 110 65

Tech Sheet 1634 Tech Sheet 1636

Butt Weld Flanges

Code Information: AFS = Flange with 0-Ring Groove
Bolts, washers and 0-Rings are notincluded GFS = Flange with Flat Face
and must be purchased separately

Please see page 108

3000 psi

0300 FSne”  Diametormm Mo, CUNE®

AFS080ST-038 12" 175 M8 x 30 5/16" x 1.1/4"

AFS080ST 12" 215 M8 x 30 5/16" x 1.1/4"

AFS100ST 34" 28 M10x 35 3/8" x1.1/2"

AFS102ST 1 34 M10x35 3/8" x1.1/2"

AFS104ST TA/4" 428 M10 x 40 7/16" x1.1/2"

AFS106ST 11/2" 486 M12 x 45 1/2" x1.3/4"

AFS108ST 2" 61 M12 x 45 1/2" x1.3/4"

AFS110ST 21/2" 77 M12 x 45 1/2" x1.3/4"

AFS112ST 3 92 M16 x 50 5/8" x 2"

AFS114ST 3.1/2" 103 M16 x 50 5/8" x 2"

AFS116ST 4 1155 M16 x 50 5/8" x 2"

Tech Sheet 1635

6000 psi

T o "

AFS401ST-038 12" 175 M8 x 30 5/16" x 1.1/4"

AFS401ST-012 12" 215 M8 x 30 5/16" x 1.1/4"
5 AFS402ST 34" 28 M10x 35 3/8"x1.1/2" )
£ AFS403ST 1" 34 M12 x 45 7/16" x 1.3/4" For Bolts, Sprlng
> AFS404ST 14/ 428 M14 x 45 1/2" x1.3/4" -
.g AFS405ST 11/2" 486 M16 x 50 5/8" x 2" Washers & O'ngs
= AFS406ST 2 61 M20 x 65 3/4"x2.1/2" see page 108

Tech Sheet 1635




SAE FLANGES havi

Butt Weld Flanges-Companion (Counter)

Bolts, washers and 0-Rings are not included
and must be purchased separately

Please see page 108

1.03 Hydraulic Threaded Adaptors & Flanges

3000 psi, Metric Mount 3000 psi, UNC Mount

Flange Boss Weld Bolt Type Flange Boss Weld Bolt Type
0300 Sizg Diameter mm Metrvlg 0300 Sizg Diameter mm UNE'l
GFS080STM-038 1/2" 175 M8 GFS080STU-038 1/2" 17.5 5/16"

GFS080STM 1/2" 215 M8 GFS080STU 1/2" 215 5/16"
GFS100STM 3/4" 28 M10 GFS100STU 3/4" 28 3/8"
GFS102STM 1" 34 M10 GFS102STU 1" 34 3/8"
GFS104STM 1.1/4" 42.8 M10 GFS104STU 1.1/4" 42.8 718"
GFS106STM 1.1/2" 48.6 M12 GFS106STU 1.1/2" 48.6 /2"
GFS108STM 2" 61 M12 GFS108STU 2" 61 12"
GFS110STM 2.1/2" 77 M12 GFS110STU 2.1/2" 71 1/2"
GFS112STM 3" 92 M16 GFS112STU 3" 92 5/8"
GFS114STM 3.1/2" 103 M16 GFS114STU 3.1/2" 103 5/8"
GFS116STM 4 115.5 M16 GFS116STU 4" 1155 5/8"
Tech Sheet 1637 Tech Sheet 1637

6000 psi, Metric Mount 6000 psi, UNC Mount

0300 r DR e 0300 e’ T PN
GFS401STM-038 12" 175 M8 GFS401STU-038 12" 175 5/16"
GFS401STM-012 12" 215 V8 GFS401STU-012 12" 25 5/16"
GFS402STM 34 28 M10 GFS402STU 3" 28 38"
GFS403STM i 34 M12 GFS403STU 1 34 716"
GFS404STM 1174 428 M14 GFS404STU 114" 28 12"
GFS405STM 11/2" 486 M16 GFS405STU 172" 486 5/8"
GFS406STM 2 61 M20 GFS406STU v 61 34"

Tech Sheet 1637 Tech Sheet 1637

Code Information: AFS = Flange with 0-Ring Groove GFS = Flange with Flat Face

For Hydraulic Tubing
see pages 179-183

Hydraulics

107



SAE FLANGES

=
Q
s
-

Socket Weld Coupling Set

Bolts, washers and 0-Rings included

(2]
[<5]
(=]
{=
)
(.
(=]
(2]
=
[=]
=
o
©
o
<
=
<]
o
©
(<)
=
S
—
=
=
©
=
=
>
p
[
=
-

3000 psi, Metric Mount 3000 psi, UNC Mount
0300 P i ety 0300 Fore” DA Poinee
DFS080SM-038 1/2" 175 M8 DFS080SU-038 12" 175 5/16"
DFS080SM-A20 1/2" 203 M8 DFS080SU-A20 12" 203 5/16"
DFS080SM 12" 216 M8 DFS080SU 12" 216 5/16"
DFS100SM-A25 3/4" 253 M10 DFS100SU-A25 34" 253 38"
DFS100SM 3/a" 272 M10 DFS100SU 3/4" 272 3/8"
DFS102SM-A30 1 303 M10 DFS102SU-A30 1" 303 3/8"
DFS102SM 1 34 M10 DFS102SU 1" 34 38"
DFS104SM-A38 1.1/4" 383 M10 DFS104SU-A38 1.1/4" 383 /16"
DFS104SM 1.1/4" 428 M10 DFS104SU 1.1/4" 428 7/16"
DFS106SM 11/2" 486 M12 DFS106SU 1.1/2" 4856 12"
DFS106SM-A50 11/2" 505 M12 DFS106SU-A50 11/2" 505 12"
DFS108SM 2" 61 M12 DFS108SU 2 61 12"
DFS110SM 21/2" 76.6 M12 DFS110SU 21/2" 76.6 12"
DFS112SM 3" 905 M16 DFS112SU 3 905 5/8"
DFS114SM 31/2" 103 M16 DFS114SU 3172 103 5/8”
DFS116SM 4 1155 M16 DFS116SU 4 1155 5/8"
Tech Sheet 1638 Tech Sheet 1638
6000 psi, Metric Mount 6000 psi, UNC Mount
0300 P Diameter P ot 0300 P Diameter BN
DFS401SM-038 1/2" 175 M8 DFS401SU-038 12" 175 5/16"
DFS401SM-A20 1/2" 203 M8 DFS401SU-A20 12" 203 5/16"
DFS401SM-012 12" 216 M8 DFS401SU-012 12" 216 5/16"
DFS402SM-A25 3/4" 253 M10 DFS402SU-A25 34" 253 3/8"
DFS402SM 3/a" 272 M10 DFS402SU 3/4" 272 3/8"
DFS403SM-A30 1 303 M10 DFS403SU-A30 1" 303 3/8"
DFS403SM 1 34 M10 DFS403SU 1" 34 38"
DFS404SM-A38 1.1/4" 383 M10 DFS404SU-A38 1.1/4" 383 /16"
DFS404SM 1.1/4" 428 M10 DFS404SU 1.1/4" 428 7/16"
DFS405SM 11/2" 486 M12 DFS405SU 1.1/2" 4856 12"
DFS405SM-A50 11/2" 505 M12 DFS405SU-A50 11/2" 505 12"
DFS406SM 2 61 M12 DFS406SU 2 61 12"
Tech Sheet 1638 Tech Sheet 1638

Bolts & Spring Washers 0-Rings
Metric, Set of 4
M8X25 M8 x 25
M8X30 M8 x 30
M10X30 M10x 30
M10X35 M10x 35 Buna
mioxao Mi0 x40
M10X45 M10 x 45 1/2-ORING 12"
M12x35 M12x 3 UNC, Set of 4 3/4-ORING 3
M12X45 M12x45 1-ORING K
M12X50 M12 x 50 UNC3/8X11/4 3/8"x1.1/4" 11/4-ORING 1.1/4"
M12X70 M12 x 70 UNC3/8X11/2 3/8"x1.1/2" 11/2-ORING 1.1/2"
M14X45 M14 x 45 UNC7/16X11/2 7/16" x1.1/2" 2-ORING 2

o M14X50 M14 x50 UNC7/16X13/4 7/16" x 1.3/4" 21/2-ORING 21/2"

o M16X55 M16 x 55 UNC1/2X13/4 1/2" x1.3/4" 3-ORING 3

‘_30 M20X60 M20 x 60 UNC1/2X11/2 1/2"x1.1/2" 31/2-ORING 3.1/2"

£ M20X65 M20 x 65 UNC5/8X2 5/8" x 2" 4-ORING 4

= mM20x70 M20 x 70 UNC5/16X11/4 5/16" x 1.1/4" 5-ORING 5"

M20X110 M20 x 110 UNC3/4X21/2 3/4" x2.1/2" Tech Sheet 1639






